

REVISED DETAILED ADVERTISEMENT FOR RETAIL OUTLET DEALERSHIP IN KARNATAKA - JAN 2026

MRPL proposes to appoint retail outlets dealers for its HiQ outlets in the state of Karnataka as per the following details:

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1	WITHIN 3KMS FROM DUBALGUNDI CROSS/CIRCLE TOWARDS BHALKI ON SH	BIDAR	REGULAR	83	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
2	FROM HALLUR PALACE NALATWAD TO KAVADIMATTI ON SH-41 (NALATWAD-MUDDEBIHAL ROAD)	VIJAYAPUR	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
3	ON SH 112 (KUSHALNAGAR- SOMWARAPETE) KUDIGE CIRCLE TO MALLENAHALLI	KODAGU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
4	ON NH 66, FROM SHIRUR TO ANKOLA RAILWAY STATION ROAD	UTTARA KANNADA	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
5	ON NAGARBHAVI MAIN ROAD FROM PRASHANTH NAGAR SIGNAL NEAR SHOBHA HOSPITAL TILL MODDLAPALYA SIGNAL	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4
6	ON SH, WITHIN THALAVARAHATTI VILLAGE LIMITS HIRIYUR TALUK	CHITRADURGA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
7	FROM HALLIKHED B TO KARANJA DAM BRIDGE ON NH50	BIDAR	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
8	FROM PROVIDENT SUNWORTH GATE TILL ASC COLLEGE OF ENGINEERING DODDABALE	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
9	ON SH 134, FROM SHRI LAXMI PETROLEUM BPCL TO SHETTEMMA DEVI TEMPLE KHANPET	BELAGAVI	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
10	WITHIN 10 KMS FROM GOVT HIGH SCHOOL, SHIVAPURA TOWARDS BUKKAPATNA	TUMKURU	REGULAR	90	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
11	ON LHS OF NH 75, WITHIN 4 KMS FROM MANI JUNCTION TOWARDS BANGALORE (NOT ABUTTING FLY OVER BRIDGE)	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
12	ON JALAHALLI ROAD, FROM JALAHALLI AYYAPPA TEMPLE TILL KAMMAGONDANAHALLI BRIDGE	BANGALORE URBAN	REGULAR	160	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
13	ON CHANNAPATNA SATHANUR ROAD, FROM KARNATAKA BANK SATHANUR BRANCH TILL KABBALU MILK PRODUCER SOCIETY OFFICE OF HOSA KABBALU VILLAGE	RAMNAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
14	FROM POTHNAL BUSTAND TO AMARESHWAR CAMP ON RHS OF SH-23 (SINDHANUR-MANVI ROAD)	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
15	ON ANY MAIN ROAD WITHIN 0.5 KM FROM SSRVM INSTITUTE ENTRY VIDYARANYAPURA	BANGALORE URBAN	REGULAR	120	SC CC-1	CFS	73.2	18	18	330	0	0	DOL	0	3
16	ON NH 48, WITHIN 3 KMS ON EITHER SIDE OF TULAJA FUELS (BPCL) HIRIYURU TALUK , NOT ABUTTING FLYOVER BRIDGE.	CHITRADURGA	REGULAR	120	OBC CC-1	DODO	NA	35	35	1225	24	120	DOL	15	4
17	ON SH 1 BETWEEN HALEKATTE JUNCTION AND ATTUR CROSS,DOOPADA KATTE	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
18	ON NH BETWEEN PUMPWEL CIRCLE TO NANTHOOR CROSS	DAKSHINA KANNADA	REGULAR	120	Open PH	DODO	NA	30	30	900	24	120	DOL	15	5
19	ON SH, KUMTA-SIDDAPUR ROAD, BETWEEN VANDANE VILLAGE TO BILGI VILLAGE	UTTARA KANNADA	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
20	ON NH 73 FROM KAKKINJE TO CHARMADI POLICE STATION	DAKSHINA KANNADA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
21	ON SH 74, FROM RAI TECHNOLOGICAL UNIVERSITY TO GOVT VETERINARY HOSPITAL GADIGARAPALYA ON NELMANGLA CHIKKABALLAPURA ROAD	BANGALORE RURAL	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
22	ON SH ,WITHIN 3 KMS FROM MORARJI DESAI RESIDENTIAL SCHOOL,ITTIGI TOWARDS HAGARIBOMMANAHALLI	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
23	ON ANY SIDE OF KACHOHALLI MAIN ROAD, FROM ANIL PALACE CONVENTION HALL TILL GANAPATHI ENTERPRISES GODOWN (CITY LIMITS)	BANGALORE URBAN	REGULAR	150	ST	CFS	73.2	18	18	330	0	0	DOL	0	3
24	WITHIN 2 KMS FROM MOODABIDRI BYPASS ROAD INTERSECTION AT NH 169 (PROPOSED) TOWARDS MANGALORE ON NH	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
25	WITHIN CHITGUPPA LIMITS ON SH	KALABURAGI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
26	ON SH, FROM JAWAHAR NAVODAYA VIDYALAYA, DEVARAHALLI TO KAKANURU	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
27	ON NH, FROM GURUDEVA RESIDENTIAL SCHOOL,KUDATINI TO APURVA IOCL PETROL PUMP NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
28	WITHIN 2 KM FROM AZIM PREMJI SCHOOL AND FOUNDATION YADGIR TOWARDS WADAGERA ON SH (YADGIR-WADAGERA)	YADGIR	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
29	ON LHS OF NH 48, WITHIN 2 KMS FROM HOTEL SPOORTHI DELICACY TOWARDS HIRIYUR	CHITRADURGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
30	FROM NH-66 HALEYANGADI BUSSTOP TOWARDS PAKSHIKERE JOINING MULKI MOODABIDRI ROAD UPTO S KODI BUS STOP	DAKSHINA KANNADA	REGULAR	100	Open CC-1	DODO	NA	30	30	900	24	120	DOL	15	5
31	ON SH-33, WITHIN 4 KMS FROM POLICE STATION KIRUGAVALU TOWARDS MALAVALLI.	MANDYA	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
32	WITHIN SASVIGERA VILLAGE LIMITS ON SH 61	RAICHUR	REGULAR	80	ST	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
33	ON SH, WITHIN KENCHANAGUDDA TO HERAKAL, SIRUGUPPA TALUK	BELLARY	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
34	ON NH 275 EXPRESSWAY WITHIN 2 KMS FROM NANJUDESHWARA GODOWN, INDUVALU TOWARDS SRIRANGAPATTANA.	MANDYA	REGULAR	150	OBC	DODO	NA	35	35	1225	32	120	DOL	15	4
35	WITHIN KOLHAR K LIMITS ON NH50 IN BIDAR CITY	BIDAR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
36	ON LHS OF SOUKYA ROAD TOWARDS DEVANGONTHI TERMINALS BETWEEN VRUSHABADRI TOWERS & BANGALORE INTETRNATIONAL ACADEMY WHITEFIELD	BANGALORE RURAL	REGULAR	100	Open	DODO	NA	18	18	330	24	90	DOL	15	5
37	WITHIN GODHOLI VILLAGE LIMITS ON NH	BELAGAVI	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
38	ON MALUR-MASTI-BERIGAI ROAD FROM VANAPRASTHA HOSPITAL KESARAGERE TILL KA-TN BORDER (WITHIN KA LIMIT)	KOLAR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
39	ON NH 548B, WITHIN 3KMS FROM AQSA MASJID, HONNAWAD TOWARDS ATHANI	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
40	ON SH-383, FROM SRI ANJANEYA SWAMY TEMPLE, MURARAYANAHALLI TOWARDS DOMMATHAMARRI TILL KARNATAKA - AP BORDER.	TUMKURU	REGULAR	95	Open	DODO	NA	25	30	750	24	105	DOL	15	5
41	ON NH WITHIN THARIKERE BYPASS ROAD	CHIKKAMAGALURU	REGULAR	200	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
42	ON SH 104 WITHIN 1 KMS OF ESHA FUEL JUNCTION BPCL RAMANAHALLI NEAR KIAL	BANGALORE RURAL	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
43	ON SH-07, FROM GRAMA PANCHAYAT OFFICE, CHAGACHAGERE TILL GOVT COLLEGE, SATHENAHALLI.	HASSAN	REGULAR	89	Open	DODO	NA	25	30	750	24	105	DOL	15	5
44	WITHIN TIKOTA TOWN LIMITS ON SH/NH	VIJAYAPUR	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
45	ON SH,WITHIN 3 KMS FROM RUDRAMBA M. PRAKASH GOVT. HIGH SCHOOL, MUTHIGE (HARPANAHALLI TALUK) TOWARDS ARASIKERE	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
46	WITHIN HUNASAGI TOWN LIMIT ON SH/NH	YADGIR	REGULAR	80	SC	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
47	FROM INNERWHEEL CIRCLE TOWARDS KARKALA ON MOODBIDRI BYPASS ROAD	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
48	BETWEEN YELACHENAHALLI METRO STATION TO BANSANKARI TEMPLE ON KANAKAPURA MAIN ROAD	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
49	BAGALUR CROSS TO KOGILU CROSS ON NH44	BANGALORE URBAN	REGULAR	130	OBC	DODO	NA	30	30	900	24	120	DOL	15	4
50	ON SH27 (MADIKERI-VIARPETE ROAD) FROM GENERAL K S TIMAAYYA CIRCLE MADIKERI TO MURNADU	KODAGU	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
51	ON NH-48, FROM SIDDAGANGA OIL & BIO INDUSTRIES LLP TILL CEETA INDUSTRIES, SATYAMANGALA INDUSTRIAL AREA.	TUMKURU	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
52	ON SH, WITHIN 3 KMS FROM PRIMARY HEALTH CENTRE, KAGINELLI, BYADGI TALUK	HAVERI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
53	WITHIN 2 KMS FROM KUNDAPURA PRIVATE BUS STAND TOWARDS KUNDAPURA CITY NOT ON NH	UDUPI	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
54	ON SH, WITHIN NALLUR VILLAGE LIMIT, CHANAGIRI TALUK	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
55	ON SH, WITHIN 3 KMS ON EITHER SIDE OF VALMIKI CIRCLE,KAMALAPUR (HOSPETE TALUK)	VIJAYANAGARA	REGULAR	120	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
56	PEENYA 2ND PHASE - KIADB ROAD / 80 FT ROAD FROM CALCUTTA ISPAT TILL LIFE LINE FEED INDIA PVT LTD(NR NTTF ROAD JN)	BANGALORE URBAN	REGULAR	125	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
57	ON NH 48 , FROM MUMMIGATTI BUS STOP TO OLD MULLA DHABA TEGUR	DHARWAD	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
58	ON NH, WITHIN CHANNAKOPPA VILLAGE LIMIT SAGARA TALUKNOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
59	ON MYSORE - KOLLEGAL RD FROM GOVT SILK COCOON MARKET, KOLLEGALA TILL KOLLEGALA MAIN BUS STAND	CHAMARAJNAGAR	REGULAR	93	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
60	ON SH, FROM SAVANUR TO GUNDUR	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
61	ON NH 169(PROPOSED) BETWEEN HANDEL ROAD INTERSECTION AND ALVA'S INSTITUTE OF ENGINEERING AND TECHNOLOGY	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
62	ON SH-57, WITHIN 3 KMS FROM POLICE STATION, SATHEMARAHALLI TOWARDS UMMATHUR.	CHAMARAJNAGAR	REGULAR	89	Open	DODO	NA	25	30	750	24	105	DOL	15	5
63	ON MAGADI ROAD FROM TOLL GATE SIGNAL AT CHORD ROAD TILL POOJASHREE CONVENTION HALL NR INDO AUTOGAS IOCL	BANGALORE URBAN	REGULAR	200	ST	CFS	73.2	18	18	330	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
64	ON SH, FROM SRI SHAMBHULINGESHWARA PU COLLEGE, JAYANTHINAGARA TILL INTERSECTION WITH NH-150A NEAR PANDAVAPURA.	MANDYA	REGULAR	81	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
65	MALPE UDUPI ROAD FROM KARAVALI HOTEL JUNCTION TO MALPE BEACH ROAD UP TO VADABHANDESHWARA BUS STOP	UDUPI	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
66	ON RING ROAD (NH-275K) FROM MANIPAL HOSPITAL JUNCTION TILL KRS ROAD JUNCTION.	mysore	REGULAR	200	Open CC-2	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
67	FROM TALKOTE TOLL PLAZA TO MAKANA BHAVANI TEMPLE KUNTOGI ON SH124	VIJAYAPUR	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
68	ON KGF - GARUDADIRIHALLI- KYASAMBALI ROAD FROM KGF TALUK PANCHAYAT OFFICE TILL KYASAMBALI POLICE STATION	KOLAR	REGULAR	80	SC CC-1	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
69	ON NH FROM KARWAR TO SADASHIVGHAD	UTTARA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
70	ON NH-73, WITHIN 3 KMS FROM KSRTC BUS STAND, JAVAGAL	HASSAN	REGULAR	123	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
71	ON SH-85, WITHIN 8 KMS FROM GRAMA PANCHAYAT OFFICE, BOGADI TOWARDS SHRAVANABELAGOLA.	MANDYA	REGULAR	85	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
72	ON 7TH CROSS ROAD, NR COLONY, BASAVANAGUDI	BANGALORE URBAN	REGULAR	200	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
73	ON SH 37 WITHIN 2 KM FROM MARDALA JUNCTION TOWARDS SUBRAMANYA	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
74	ON LHS OF NH75 (BANGALORE- MANGALORE HIGHWAY),FROM MARIPALLA, CHOWTA INDANE DISTRIBUTION TO FARANGIPETE JUNCTION.	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
75	ON CHANDAPURA DOMMASANDARA ROAD BETWEEN CHANDAPURA NH JUNCTION TILL RAMASAGARA	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
76	ON SH, ITTIGI TO UTTANGI CROSS(ITTIGI TO HUVINA HADAGALI ROAD)	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
77	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVERNMENT HOSPITAL, THANIGERE	DAVANAGERE	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
78	WITHIN 3KM FROM DASANAKOPPA CIRCLE, DHARWAD ON ANY MAIN ROAD	DHARWAD	REGULAR	200	Open	CODO	55.2	25	30	750	32	0	BIDDING	30	5
79	ON BYPASS RD, FROM ASSISTANT REGIONAL TRANSPORT OFFICE, SHAKLESPURA TOWARDS DONIGAL TILL KSRTC BUS STAND SHAKLESPURA	HASSAN	REGULAR	102	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
80	ON NH, FROM JAIN PUBLIC SCHOOL, CHALAGERI, RANEENNUR TO CHALAGERI TOLL PLAZA NOT ABDUTING FLY OVER BRIDGE	DAVANAGERE	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
81	WITHIN 2KM FROM MUDAPALAJIVI BUS STAND TOWARDS ACHANUR	BAGALKOTE	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
82	ON MAIN ROAD FROM GOVERNMENT PRIMARY SCHOOL, HERUR TO KARNATAKA VIKAS GRAMEENA BANK, KUSNUR, HANGAL TALUK	HAVERI	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
83	WITHIN 2 KM FROM KAVERI PETROLEUM BPCL PACHHAPUR TOWARDS GOKAK ON SH 73	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
84	ON NH 548B, WITHIN 2KMS FROM SHIVAYOGISHWARA TEMPLE CROSS SALOTAGI TOWARDS SATALGAON CROSS	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
85	KOPPAL CITY LIMITS ON SH/NH	KOPPAL	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
86	FROM NH 75 INTERSECTION TO GHP'S SCHOOL KEMMARA ON SUBRAMANYA ROAD	DAKSHINA KANNADA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
87	WITHIN 2 KMS FROM NERALAKATTE TOWARDS MOORKAI ROAD ON KUNDAPURA-TALLUR ROAD	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
88	BETWEEN KULUR (INTERSECTION WITH NH-66) JUNCTION AND KAVOOR JUNCTION WITHIN MANGALORE CITY LIMIT	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
89	ON SH, WITHIN 06 KMS FROM BICCODU AUTO STAND TOWARDS BELURU.	HASSAN	REGULAR	104	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
90	ON SH57,BETWEEN KAIMARA TO MALLENAHALLI,	CHIKKAMAGALURU	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
91	ON SH, WITHIN MAVINAKERE VILLAGE LIMIT, KALASA TALUK	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
92	DR RAJKUMAR ROAD TO MAGADI MAIN ROAD FROM GOLDEN HEIGHTS/WESTGATE MALL SIGNAL TILL SAI BABA TEMPLE TOLL GATE (NR TOLL GATE BUS STOP) VIA AL-BEK RESTAURENT -TENNIS TEMPLE ACADEMY ON 80 FT ROAD	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
93	WITHIN 2KM FROM KARIYAMMADEVI TEMPLE KALLAPURA TOWARDS MADIKOPPA ON SH-6	DHARWAD	REGULAR	80	OBC PH	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
94	ON SH, FROM GM UNIVERSITY MAIN GATE, DAVANGERE TO HARIHAR COURT	DAVANAGERE	REGULAR	100	SC PH	CFS	24.8	25	30	750	0	0	DOL	0	3
95	ON NH, BETWEEN ANEGUDDE SRI SIDDI VINAYAKA TEMPLE ARCH AND BASRUR MURKAI BUS STOP	UDUPI	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
96	FROM SURANAGI VILLAGE TO BELAHATTI ON SH 23/57, SHIRHATTI TALUK	GADAG	REGULAR	108	Open	DODO	NA	25	30	750	24	105	DOL	15	5
97	FROM KSRTC BUS STAND, SRIRANGAPATNA TILL SRIRANGAPATNA RAILWAY STATION ON RAILWAY STATION MAIN ROAD. (NOT ON NH)	MANDYA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
98	WITHIN 1 KMS FROM COMMERCIAL TAX OFFICE, MANDYA IN NAGAMANGALA ROAD (NOT ON NH)	MANDYA	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
99	ON SH, FROM JAGALUR COURT COMPLEX TO JOSEPH HIGHER PRIMARY SCHOOL, MEDAGINAKERE	DAVANAGERE	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
100	FROM NESARGI BUSTAND TO HANABARATTI CROSS ON SH 73 (BELGAUM -GOKAK ROAD)	BELAGAVI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
101	WITHIN 2KMS FROM ABBIHAL CROSS TOWARDS TALIKOTI ON SH-124 (MUDDEBHAL- TALIKOTI)	VIJAYAPUR	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
102	NH-66 INTERSECTION FROM AMBAGILU JUNCTION TO KALSANKA JUNCTION(KALSANKA-AMBAGILU ROAD)	UDUPI	REGULAR	200	Open	CODO	30.4	18	18	330	32	0	BIDDING	30	5
103	ON LHS OF MALUR WHITEFIELD ROAD, WITHIN 1KM FROM TK FUEL STATION NAYARA RO- MEDAHALLI CROSS KEMPEGOWDA CIRCLE	KOLAR	REGULAR	90	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
104	ON NH150A, WITHIN 3 KMS FROM KVS FILLING STATION HPCL PETROL PUMP, CHILLABYALADAKERE ,HOSADURGA TALUK TOWARDS HULIYAR NOT ABUTTING FLYOVER BRIDGE.	CHITRADURGA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
105	WITHIN 2KMS FROM HADLI CROSS TOWARDS YAVAGAL ON SH-30 (NARGUND - RON ROAD)	GADAG	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
106	ON SH-91 VIRAJ PET - MYSORE ROAD VIRAJPETE TO BETOLI	KODAGU	REGULAR	100	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
107	ON SH, WITHIN 3 KMS ON EITHER SIDE OF KODUR GRAMA PANCHAYTHI OFFICE	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
108	FROM KAVITAL BUS STAND TO POTAPUR BUS STOP ON SH	RAICHUR	REGULAR	90	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
109	ON SH 27,WITHIN 3 KMS FROM ALDUR TOWARDS BANNUR VILLAGE	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
110	ON NH, WITHIN HIREGUTTI VILLEGE LIMIT	UTTARA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
111	ON SH, FROM SMT. SSA GOVT FIRST GRADE COLLEGE TO M CHANNA BASAPPA FILLING STATION BPCL PETROL PUMP, BELLARY.	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
112	ON SH-8, WITHIN 10 KMS FROM KSRTC BUS STAND SHRavanabelagola TOWARDS CHANNARAYAPATNA.	HASSAN	REGULAR	95	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
113	HEBRI MAIN JUNCTION TO MANDI MURKAI BUS STOP ON MAIN ROAD	UDUPI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
114	ON SH,WITHIN 4 KMS FROM SRI SHIVA PARVATHI PETROLEUM,BPCL, BOBBUKUNTA BELLARY TALUK TOWARDS HALAKUNDHI	BELLARY	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
115	ON BOTH SIDES OF SH 74, WITHIN 1 KMS OF HAPPILY NELMANAGALA PLANT ENTRY (ARJUNABETTAHALLI)	BANGALORE RURAL	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
116	ON SH 27, WITHIN 3 KMS FROM MELPAL ROAD INTERSECTION, BALEHONNUR TOWARDS JAYAPURA	CHIKKAMAGALURU	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
117	ON NH 275, WITHIN 4 KMS FROM SULLIA KSRTC BUS STAND TOWARDS MADIKERI	DAKSHINA KANNADA	REGULAR	150	ST CC-1	CFS	24.8	35	35	1225	0	0	DOL	0	3
118	ON LHS OF NH, WITHIN 8 KMS FROM VIJAYARAJ CONVENTION HALL, KONEHALLI TOWARDS ARSIKERE	TUMKUR	REGULAR	140	Open PH	DODO	NA	35	35	1225	24	120	DOL	15	5
119	WITHIN KUMTA CITY LIMIT ON KUMBESHWAR TEMPLE RD	UTTARA KANNADA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
120	FROM ALMEL BUS STOP TO DEVANAGAON BUS STOP ON NH 548B	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
121	ON LHS OF NH 48, FROM KM STONE 220 TO KM STONE 223 TOWARDS CHIRTRADURGA NOT ABUTTING FLYOVER BRIDGE	CHITRADURGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
122	WITHIN 5KM FROM HANUMAN TEMPLE SIROLI TOWARDS NIDAGUNDA ON SH122	KALABURAGI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
123	ON SH, WITHIN 3 KMS FROM KARNATAKA PUBLIC SCHOOL, RAYARAKOPPALU TOWARDS MAGGE	HASSAN	REGULAR	84	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
124	ON NH 73, FROM JANNAPURA TO GONIBEEDU	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
125	ON SH BETWEEN BATTAKODI AND MOORUKAVERI	DAKSHINA KANNADA	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
126	BHOOPASANDRA MAIN ROAD	BANGALORE URBAN	REGULAR	150	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
127	ON SH-47, FROM SAROVARA INTERNATIONAL PUBLIC SCHOOL, SHIVALLI TOWARDS JAKKANAHALLI FOR 5 KMS.	MANDYA	REGULAR	81	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
128	ON SH90 WITHN 7 KMS FROM KSRTC BUS STAND,VIARJPET TOWARDS GONIKOPPA	KODAGU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
129	ON LHS TOWARDS MALUR ON SH 95 (BANGARPET MALUR ROAD) FROM MANYATHA INTERNATIONAL SCHOOL BANGARPETE TO GOVT PRIMARY SCHOOL SRIKANTPURA NEAR MITTIGANAHALLI LAKE	KOLAR	REGULAR	120	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
130	ON 60 FEET ROAD FROM SATTVA ANUGRAHA APARTMENT ENTRY NEAR SUMANHALLI SIGNAL TILL MALAGALA MAIN ROAD BUS STOP CROSS	BANGALORE URBAN	REGULAR	120	ST	CFS	73.2	18	18	330	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
131	ON NH, FROM T M A E S AYURVEDIC MEDICAL COLLEGE TO JAIN PUBLIC SCHOOL, NIDIGE(V) NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
132	ON SH, WITHIN 2 KMS ON EITHER SIDE OF TUMCOS BRANCH OFFICE ,THAVAREKERE	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
133	ON SH, WITHIN 2 KMS ON EITHER SIDE OF BEO OFFICE,BYADAGI	HAVERI	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
134	ON SH, FROM CIVIL JUDGE COURT, ALUR TILL GRAMA PANCHAYAT OFFICE, BYRAPURA	HASSAN	REGULAR	91	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
135	ON LHS OF NH ,WITHIN METIKURKE VILLAGE LIMIT TOWARDS HIRIYUR	CHITRADURGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
136	ON SH, WITHIN 3 KMS ON EITHER SIDE OF KARNATAKA GRAMIN BANK, INDUVALLI	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
137	ON LHS OF NH 75 TOWARDS HOSKOTE FROM RENUKA AGENCY HPCL RO VIRGONAGAR TO BRIGADE GOLDEN TRAIANGLE ENTERNANCE KATTAMANALLUR	BANGALORE RURAL	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
138	FROM BHIMA RIVER BRIDGE TO EXCISE CHECK POST DHULKED ON NH52	VIJAYAPUR	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
139	ON SH, AYANURU TO BEJJAVALLI ROAD, WITHIN BILVADERAKOPPA VILLAGE LIMIT SHIVMOGGA TALUK	SHIVAMOGGA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
140	ON NH 275, BETWEEN KAUDICHAR AND JALSOOR	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
141	ON KUNDURU TO MALEBENNURU ROAD, FROM KUNDURU TO MALEBENNURU	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
142	WITHIN BELLARY CITY LIMITS, 1 KMS FROM HOLY TRINITY CHURCH ON KOLAGALLU ROAD.	BELLARY	REGULAR	200	OBC	CODO	55.2	18	18	330	32	0	BIDDING	30	4
143	ON SH, WITHIN 2 KMS ON EITHER SIDE OF RASHMI INSTITUTE OF AYURVEDA MEDICAL SCIENCES AND RESEARCH CENTRE, KUDLIGI TALUK	VIJAYANAGARA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
144	WITHIN 3 KMS OF SH 9 FROM KARNATAKA AP BORDER (NR KUDUMALAKUNTE) TOWARDS GAURIBIDINUR	CHIKKABALLAPUR	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
145	WITHIN SIRSI TOWN LIMIT, ON CHURCH ROAD FROM NH766E INTERSECTION UPTO COLLEGE ROAD.	UTTARA KANNADA	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
146	ON SH BYNDOOR- KOLLUR ROAD FROM YADTARE CIRCLE TOWARDS KOLLURU JUNCTION	UDUPI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
147	ON NH-73, FROM SAALU MARADA THIMAKKA TREE PARK, JAJURU TILL ARVIND LIMITED, KODIHALLI, ARASIKERE (BLR-HONNAVAR HWY)	HASSAN	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
148	ON SH, WITHIN HULAGUR VILLAGE LIMIT HAVERI TALUK	HAVERI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
149	FROM GURUPADAPPA NAGAMARPALLI FUNCTION HALL, AURAD TO ECOM EXPRESS PVT LTD OFFICE AURAD ON BIDAR- AURAD ROAD SH 122	BIDAR	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
150	ON NH-948, WITHIN 4 KMS FROM AQUARELLE INDIA PVT LTD TOWARDS HALAGUR.	MANDYA	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
151	WITHIN BELLARY CITY LIMITS, FROM KING OF KINGS CHRUCH TO GOVERNMENT URDU HIGH SCHOOL.	BELLARY	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
152	ON LHS OF NH75, (MANGALORE- BANGALORE HIGHWAY), FROM ADDAHOLE BUS STOP TO GUNDYA JUNCTION	DAKSHINA KANNADA	REGULAR	200	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
153	ON NH 369, WITHIN 2 KMS ON EITHER SIDE OF VAYUTHRU FUELS,(HPCL) CHANNAGERE TALUK NOT ABUTTING FLYOVER BRIDGE	CHITRADURGA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
154	ON NEW NH 67, WITHIN HALAKUNDI VILLAGE LIMIT, BELLARY TALUK	BELLARY	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
155	ON 80 FEET ROAD CHANDRA LAY OUT	BANGALORE URBAN	REGULAR	200	Open CC-1	CODO	73.2	18	18	330	32	0	BIDDING	30	5
156	DEVANAGONTHI CROSS BPCL SRI BHARATHI SERVICE STATION TO GOVERNMENT HIGH SCHOOL JADIGENAHALLI ON SH95(HOSKOTE - MALUR ROAD)	BANGALORE RURAL	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
157	WITHIN ALNAVAR TOWN LIMITS ON NH/SH	DHARWAD	REGULAR	80	SC	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
158	FROM HOTEL SAHYADRI INN, GHATAPRABHA TO BPCL SHRI DESHPANDE PETROL PUMP GHATAPRABHA ON SH73	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
159	FROM TADAS CROSS TO HINDASGERI BRIDGE , SANGADEVARAKOPPA ON SH-1	DHARWAD	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
160	ON NH-69, FROM MINI VIDHANASOURA (NEW TALUK OFFICE), SIRA TOWARDS BUKKAPATNA FOR 4 KMS.	TUMKURU	REGULAR	141	OBC	DODO	NA	35	35	1225	32	120	DOL	15	4
161	WITHIN HINDALGA LIMITS , BELAGAVI ON SH	BELAGAVI	REGULAR	80	SC	CFS-Hiq Lite	55.2	25	30	750	0	0	DOL	0	3
162	FROM KONAJE PHAJEER TO ADYAR VIA GRAMACHAVADI	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
163	ON NH, FROM KADUR- CHIKKAMAGALURU TOLL GATE TO SARASWASTHIPURA	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
164	WITHIN UDCHAN VILLAGE LIMIT ON SH/NH	KALABURAGI	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
165	ON SH-100 FROM KANYANA TO ALDHADKA TOWARDS KERALA BORDER	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
166	ON SH-85, WITHIN 3 KMS FROM KARNATAKA BANK, BRANCH HARADANAHALLI	HASSAN	REGULAR	90	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
167	ON NH-275, FROM ST ANTHONY'S INTERNATIONAL SCHOOL, KALLAHALLI TOWARDS MYSORE TILL FIRE STATION, HUNSUR.	MYSORE	REGULAR	150	Open-CC2	DODO	NA	35	35	1225	32	120	DOL	15	5
168	FROM BAREY HILL CIRCLE TO JAGAT CIRCLE VIA MG ROAD OR DARGAH ROAD (KALABURAGI CITY)	KALABURAGI	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
169	ON SH-03, FROM DR RAO BAHADUR D BANUMAYYA CIRCLE, HOSAKERE TILL GOVT HIGHER PRIMARY SCHOOL, JADEGONDANAHALLI.	TUMKURU	REGULAR	98	Open	DODO	NA	25	30	750	24	105	DOL	15	5
170	NEELADARI ROAD FROM HIMAGIRI CIRCLE CLOUD NINE HOSPITAL TILL BHEL ENTRY GATE	BANGALORE URBAN	REGULAR	200	ST	CFS	73.2	18	18	330	0	0	DOL	0	3
171	ON SH-52 WITHIN 2 KMS FROM SIDDAPURA JUNCTION ON EITHER SIDE	UDUPI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
172	ON NH AT KM ROAD MURULASIDDESWARA FUELS (NAYARA ENERGY PETROL PUMP) TO GUDDADA GOODU KADEXALUVE AREA	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
173	ON NH-69, WITHIN 5 KMS FROM CANARA BANK, BUKKAPATNA BRANCH TOWARDS HULIYAR.	TUMKURU	REGULAR	155	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
174	WITHIN YANKANCHI VILLAGE LIMITS ON SH/NH	VIJAYAPUR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
175	WITHIN KANNAPUR HATTI VILLAGE LIMITS ON SH	RAICHUR	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
176	ON NH, WITHIN 8 KMS FROM HOTEL MAYURA YAGACHI, CHIKKABYADIGERE TOWARDS CHIKKAMAGALURU	HASSAN	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
177	ON JAYANAGAR 9T BLOCK, 25 TH MAIN ROAD WITHIN 0.5KM FROM SHRI NAGALINGESHWARA TEMPLE	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
178	DODDABELE KENGERI ROAD FROM DODDABELE MUNESHWARA TEMPLE TILL KENGERI TERMINAL	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
179	ON SH, WITHIN 2 KMS FROM SAVALANGA TOWARDS AYANUR	DAVANAGERE	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
180	ON SH-33, WITHIN 3 KMS FROM NADAKACHERI OFFICE, JAYAPURA TOWARDS HAMPAPURA.	MYSORE	REGULAR	103	Open	DODO	NA	25	30	750	24	105	DOL	15	5
181	FROM KAREGUDDA CROSS BUS STOP TO BAGALWAD BUS STOP ON SH 128	RAICHUR	REGULAR	90	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
182	ON SH 149, FROM SAPNA FUNCTION HALL TO AMBEDKAR PARK AZADPUR ON HAGARGA ROAD	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
183	WITHIN 1KM ON EITHER SIDE OF GANJHAL CROSS ON GANJHAL KUDALSANGAM ROAD	BAGALKOTE	REGULAR	90	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
184	ON NH275 FROM SUNDIKOPPA TO KUSHALNAGARA	KODAGU	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
185	ON NH 173 FROM MUDIGERE HAND POST TO KABBINA SETHUVE	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
186	ON NH, WITHIN 3 KMS FROM REGIONAL TRAINING CENTRE FOR HOME GUARDS, HAGARI MEENAPATI, BELLARY TALUK TOWARDS ALUR NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
187	ON SH-91, FROM GRAM PANCHAYAT OFFICE, KADAVINA HOSAHALLI TOWARDS RAMANATHAPURA TILL GRAMA PANCHAYAT OFFICE, KONANUR.	HASSAN	REGULAR	85	Open	DODO	NA	25	30	750	24	105	DOL	15	5
188	ON NH-150A, WITHIN 7 KMS FROM NANDA GOWDA ENGLISH MEDIUM SCHOOL, INGALAGUPPE TOWARDS JAKKANAHALLI.	MANDYA	REGULAR	140	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
189	ON SH, FROM KARNATAKA BANK - HOOVINA HADAGALI TO GOVERNMENT PRIMARY SCHOOL, HANAKANHALLI	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
190	ON LHS OF DODDAGAMANGLA ROAD (RAYASANDRA) TOWARDS HOSA ROAD, WITHIN 1 KM OF BREN TRILLIUM APARTMEMTS	BANGALORE URBAN	REGULAR	125	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
191	ON NH-169 FROM SHRINGERI TO HARIHARAPURA	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
192	WITHIN 2KM FROM GHATANATTI CROSS TOWARDS ATHANI ON JAMKHANDI - ATHANI ROAD	BELAGAVI	REGULAR	80	SC PH	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
193	ON SH, FROM BUS STAND AJJIHALLI TO KEB, ELECTRICITY SUPPLY POWER STATION, CHANNAGIRI TALUK (SHIMOGA - CHITRADURGA HIGHWAY)	DAVANAGERE	REGULAR	100	OBC PH	DODO	NA	25	30	750	24	105	DOL	15	4
194	BETWEEN KAVOOR JUNCTION AND MARVOOR BRIDGE ON MAIN ROAD	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
195	ON SH, KUNDAPURA TO SIDDAPUR-SHIOMGA ROAD, 6 KMS FROM KUNDAPUR NH INTERSECTION	UDUPI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
196	WITHIN 2KM FROM MANIPAL - ALEVOOR ROAD VIA BADAGUBETTU	UDUPI	REGULAR	80	OBC	DODO - Hiq Lite	NA	18	18	330	18	40	DOL	15	4
197	SIDEHALLI MAIN ROAD FRM SN HYPER MART TILL BONEMILL BUS STOP	BANGALORE URBAN	REGULAR	150	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
198	WITHIN TAMBA TOWN LIMITS ON SH/NH	VIJAYAPUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
199	ON NH, WITHIN BARANDURU VILLAGE LIMITS, BHADRAVATHI TALUK NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
200	WITHIN 2KM FROM GOVERNMENT HOSPITAL NALATHWAD TOWARDS MORARJI DESAI SCHOOL ON AYYANAGUDI ROAD	VIJAYAPUR	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
201	ON YADGIR RING ROAD, WITHIN 2 KMS FROM MUDNAL CIRCLE TOWARDS SEDAM ROAD	YADGIR	REGULAR	80	ST	CFS-Hiq Lite	30.4	30	30	900	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
202	WITHIN 2KM FROM SHRI CHATRAPATI SHIVAJI MAHARAJ CHOUWK, JAMGI (BIDAR CITY)	BIDAR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
203	ON LHS OF NH 50, FROM MILE STONE NO. 473 TO MILE STONE 478 TOWARDS CHITRADURGA NOT ABUTTING FLYOVER BRIDGE.	VIJAYANAGARA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
204	WITHIN CHINCHARKI VILLAGE LIMITS ON SH 128	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
205	WITHIN 0.5 KM OF MEGHRAJ FOOD PROCESSING INDIA P LTD ON 3RD MAIN ROAD OF JIGANI INDUSTRIAL AREA	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4
206	WITHIN 1 KM ON NIDAGATTA ROAD FROM NH 75 JUNCTION (ATTHIVATTA ROAD JUNTION) -NOT ON NH	BANGALORE RURAL	REGULAR	80	SC	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
207	WITHIN 4 KMS FROM CANARA BANK, BELAGOLA BRANCH TOWARDS PALAHALLI ON KRS ROAD.	MANDYA	REGULAR	100	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
208	FROM GOVERNMENT HIGHER PRIMARY SCHOOL, KABBALA TO GORAVIGONDANAHALLI (V), HOSADURGA TALUK ON MAIN ROAD	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
209	ON NH, FROM HOSAHALLI TO M B AYYANAHALLI NOT ABUTTING FLYOVER BRIDGE.	VIJAYANAGARA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
210	KV JAYRAM ROAD, JAKKUR	BANGALORE URBAN	REGULAR	150	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
211	ON SH, WITHIN NETTANIGE MUDNURU VILLAGE LIMIT,ON JALSOOR CHERKALA ROAD	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
212	ON SH, FROM POLICE STATION, MIDIGESHI TOWARDS CHANDRABHAVI VILLAGE TILL KARNATAKA - AP BORDER	TUMKURU	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
213	ON SH- 76 FROM AJJAMPURA TO BIRUR VIA DOGI HALLI	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
214	FISHING HARBOUR MANGALORE(OLD BUNDER PORT) -1	DAKSHINA KANNADA	REGULAR	200	Open	DODO	NA	13	13	169	32	40	DOL	15	5
215	ON SH-6 FROM MALLAPURA TO HONNAGADDE	UTTARA KANNADA	REGULAR	100	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
216	WITHIN MANGALORE CITY CORPORATION BETWEEN KUNTAKANA JUNCTION AND BEJAI KSRTC BUS STAND (ON BEJAI - KAVOOR ROAD)	DAKSHINA KANNADA	REGULAR	200	OBC CC-1	CODO	55.2	18	18	330	32	0	BIDDING	30	4
217	ON NH 369, FROM KITTURU RANI CHENNAMMA RESIDENTIAL SCHOOL TO VIDYARATNA INTERNATIONAL SCHOOL,SHIVAGANGA , HOLALKERE TALUK NOT ABUTTING FLYOVER BRIDGE.	CHITRADURGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
218	ON NH 169 (PROPOSED), BETWEEN POLALI CROSS JUNCTION AND GURUPURA BRIDGE	DAKSHINA KANNADA	REGULAR	120	Open PH	DODO	NA	35	35	1225	24	120	DOL	15	5
219	ON SH, WITHIN 3 KMS FROM GUTTAL NWKSRJC BUS STAND TOWARDS HAVERI.	HAVERI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
220	ON NEW COURT ROAD FROM ACHAR STREET TO NH 648 JUNCTION, NEAR KSRTC DEPOT, DODABALLAPURA TOWN	BANGALORE RURAL	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
221	ON JIGANI MAIN ROAD FROM JIGANI SUB POST OFFICE NR JIGANI MAIN BUS STOP TILL JIGANI APC CIRCLE	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
222	ON SH, WITHIN 10 KMS FROM HPCL BOTTLING PLANT, YEDIYUR TOWARDS AMRUTUR.	TUMKURU	REGULAR	85	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
223	ON NH, FROM CHINMULADRI NATIONAL HIGH SCHOOL, CHITHRADURGA TOWARDS HIRIYUR(CHITRADURGA TOWN LIMIT)	CHITRADURGA	REGULAR	200	ST	CFS	24.8	30	30	900	0	0	DOL	0	3
224	ON NH,WITHIN 3 KMS ON EITHER SIDE OF KISHKINDA UNIVERSITY , SINDHIGERI , SIRAGUPPA TALUK NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
225	WITHIN 2 KMS FROM RASHTROTTAN VIDHYAKENDRA SCHOOL TOWARDS CHOWDAPUR ON NH150E	KALABURAGI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
226	ON SH, WITHIN 4 KMS FROM SHREE PANCHAMUKHI ANJANEYA TEMPLE, HANUMANTHAPURA TOWARDS HASSAN (ON GORUR RD)	HASSAN	REGULAR	92	Open	DODO	NA	25	30	750	24	105	DOL	15	5
227	WITHIN AFZALPUR TOWN MUNCIPAL LIMITS ON SH/NH	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
228	ON SH, FROM GOVERNMENT PRIMARY SCHOOL, KALMANE TO GOVERNMENT LOWER PRIMARY SCHOOL, DEVARAHALLI	SHIVAMOGGA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
229	ON NH 69, ON BOTH SIDE ROAD FROM IVY CREST ACADEMY TILL IOCL SVS FUEL POINT TOWARDS GAURIBIDANUR	CHIKKABALLAPUR	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
230	ON PUTTUR SUBRAMANYA ROAD BETWEEN NARIMOGRU AND KANIYOOR	DAKSHINA KANNADA	REGULAR	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
231	ON SH, WITHIN 3 KMS ON EITHER SIDE OF VENKAPPA SOMAPPA MELGIRI 'S GOVT HOSPITAL, TILVALLI, HANGAL TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
232	ON SH34,WITHIN (JOIDA-RAMNAGAR ROAD) WITHIN INTERSECTION AT SH-46 AT AMARDE AND SH28 AT GANESHGUDI	UTTARA KANNADA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
233	ON LHS OF NH 48, FROM AIMANGALA TO GUILALU	CHITRADURGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
234	ON SH-07, WITHIN 5 KMS FROM FROM HPCL, STG GROUP CSC FUEL PARK, CHINAKURALI TOWARDS KRPETE.	MANDYA	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
235	ON MOODABIDRI- BANTWALA ROAD, WITHIN 4 KMS FROM G V PAI MEMORIAL HOSPITAL TOWARDS BANTWAL	DAKSHINA KANNADA	REGULAR	140	Open	DODO	NA	25	30	750	24	105	DOL	15	5
236	ON NH 369, WITHIN 3 KMS FROM CHANNAGIRI TALUK OFFICE TOWARDS HEBBALAGERE NOT ABUTTING FLYOVER BRIDGE.	DAVANAGERE	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
237	WITHIN KAMALANAGAR TOWN LIMITS ON SH	BIDAR	REGULAR	90	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
238	ON NH, WITHIN 3KMS FROM JNANA VIKASA PU SCIENCE COLLEGE, DAVANAGERE TOWARDS CHITRADURGA, NOT ABUTTING FLYOVER BRIDGE.	DAVANAGERE	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
239	WITHIN HANUMASAGAR TOWN LIMITS ON NH/SH	KOPPAL	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
240	FROM BASAVESHWARA(KPT) CIRCLE TO KAVOOR WOMENS POLYTECHNIC WITHIN CITY LIMITS,NOT ON NH/SH	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
241	ON SH,WITHIN KALAPURA VILLAGE TO UJJINI VILLAGE(KOTTUR TO JAGALUR ROAD)	VIJAYANAGARA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
242	VARTHUR SARJAPUR ROAD FROM DRUVA DAFFODILS APARTMENT (OP. KFC PIZZAHUT) TILL SRINIVAS FILLING STATION BPCL DOMMASANDARA CIRCLE ON SARJAPURA ROAD	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
243	ON NH BIKARNAKATTE JUNCTION TO KMF DAIRY BUS STOP	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	30	30	900	24	120	DOL	15	5
244	ON NH 69 BETWEEN CHIKKABALPUR TO GAURIBIDANUR, WITHIN 2 KMS FROM MANCHENHALLI BESCOM OFFICE, MANCHENHALLI	CHIKKABALLAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
245	ON MALUR WHITEFIELD ROAD BETWEEN HURALAGERE & PITCHAGUNTRAHALLI VIA FLIPKART GODOWN	BANGALORE RURAL	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
246	WITHIN 2KMS FROM GRAM PANCHAYAT OFFICE DANGAPURA TOWARDS NIMBARGA ON SH 34	KALABURAGI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
247	BETWEEN MOODBIDRI ALVAS VIDYAGIRI BUS STOP AND INNERWHEEL CIRCLE ON K AMARNATH SHETTY ROAD	DAKSHINA KANNADA	REGULAR	200	Open	CODO	30.4	25	30	750	32	0	BIDDING	30	5
248	ON NH, FROM HULIHALLI TO RANE BENUR NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
249	ON SH, WITHIN 3 KMS ON EITHER SIDE OF KSRTC BUS STAND HAUNSBHAVI, HIREKERUR TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
250	ON NH-75, WITHIN 3 KMS FROM YAGACHI ENGLISH MEDIUM SCHOOL, KANDALI TOWARDS HASSAN.	HASSAN	REGULAR	133	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
251	ON NH, WITHIN 4KMS ON EITHER SIDE OF BALLARI INSTITUTE OF TECHNOLOGY & MANAGEMENT, BALLARI	BELLARY	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
252	FROM SREE DEVI ENGLISH MEDIUM HIGH SCHOOL, KALARAJAHALLI TOWARDS AMARAPURAM WITHIN KARNATAKA - AP BORDER	TUMKURU	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
253	ON SH-79, WITHIN 4 KMS FROM POLICE STATION, HANUR NEAR AMBEDKAR CIRCLE TOWARDS KOLLEGALA.	CHAMARAJNAGAR	REGULAR	92	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
254	FROM SHRIPURAM JUNCTION SINDHANUR TO BUDIWAL CAMP ON NH 150A	RAICHUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
255	ON 8TH MAIN ROAD NEAR PRESTIGE WILLOW TREE, VIDHYARANYAPURA	BANGALORE URBAN	REGULAR	150	ST	CFS	73.2	18	18	330	0	0	DOL	0	3
256	ON NH-75, WITHIN 2 KMS FROM SWATHI DELICACY TOWARDS HASSAN.	TUMKURU	REGULAR	125	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
257	ON CUBBON ROAD FROM MANIKSHA PARADE GROUND BUS STOP TILL CUBBON PARK METRO STATION	BANGALORE URBAN	REGULAR	180	Open CC-1	DODO	NA	18	18	330	32	90	DOL	15	5
258	FROM AIT CIRCLE CHIKKAMAGULUR TO DR AMBEDKAR CIRCLE AT HIREMAGALUR ROAD (KADUR-CHIKKAMAGALUR BYPASS)	CHIKKAMAGALURU	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
259	WITHIN KATARKI VILLAGE LIMITS ON SH	BAGALKOTE	REGULAR	80	SC	CFS-Hq Lite	24.8	25	30	750	0	0	DOL	0	3
260	WITHIN 1 KMS FROM SRI GOPALASWAMY TEMPLE, AMACHAVADI ON HARADANAHALLI - HONNAHALLI RD.	CHAMARAJNAGAR	REGULAR	85	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
261	WITHIN MADASANAL VILLAGE LIMITS ON NH561A	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
262	ON NH, SIRSI TO NAREBAIL CROSS (SIRSI TO HAVERI)	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
263	WITHIN WANADURGA VILLAGE LIMITS ON SH	YADGIR	REGULAR	80	ST	CFS-Hq Lite	30.4	25	30	750	0	0	DOL	0	3
264	WITHIN 3KMS FROM C V CHARANTIMATH POLYTECHNIC COLLEGE HUNAGUND TOWARDS ILKAL ON LHS OF NH-50 (HUNAGUND-ILKAL)	BAGALKOTE	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
265	ON SH 52, FROM MOODLUKATTE INSTITUTE OF TECHNOLOGY TO NELLIKATTE	UDUPI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
266	ON KIMBARWADA ROAD, FROM SP CIRCLE TO KIMBARWADA KAMAN VIA SRI KALIKAMBA DEVI DEVASTANA (BIDAR CITY)	BIDAR	REGULAR	100	Open CC-2	DODO	NA	25	30	750	24	105	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
267	WITHIN GAMANAGATTI LIMITS, HUBBALLI	DHARWAD	REGULAR	80	OBC CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
268	WITHIN 3KMS, FROM MAHARASHTRA KARNATAKA BORDER TOWARDS KHAJURI ON SH 32	KALABURAGI	REGULAR	100	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
269	WITHIN GALAG VILLAGE LIMITS ON SH 128	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
270	FROM SHRI VENKATESHWAR TEMPLE MUGHALKOD TO DR. S C KOPPAD'S AROGYA MANDIR MUGALKHOD ON MUGALKHOD -HANDIGUND ROAD	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
271	ON SH06 (KARWAR-YELLAPUR ROAD) WITHIN 6KMS FROM DISTRICT COURT KARWAR TOWARDS YELLAPUR	UTTARA KANNADA	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
272	ON HORAMAVU MAIN ROAD /KALKERE MAIN ROAD FORM OUTER RING ROAD JUNCTION BANASWADI TILL SUNSHINE CHILDREN'S HOME AND SCHOOL OF S.D.A GROUND	BANGALORE URBAN	REGULAR	150	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
273	WITHIN 3KMS FROM ABBIGERI CROSS IN KOTUMACHAGI TO MM ENTERPRISES HPCL PUMP ON SH	GADAG	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
274	ON SH, WITHIN 2 KMS ON EITHER SIDE OF GOVERNMENT PRIMARY HOSPITAL, KATTEHAKKALU, THIRTHAHALLI TALUK	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
275	FROM KADWAD BUS STOP TO KAMATHAN BUS STOP ON SH 15	BIDAR	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
276	ON NH, WITHIN 2 KMS ON EITHER SIDE OF JAWAHAR NAVODAYA VIDYALAYA, CHITRADURGA	CHITRADURGA	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
277	ON HKP ROAD FROM DCP EAST OFFICE SHIVAJI NAGAR TILL HAMZA HOTEL	BANGALORE URBAN	REGULAR	200	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
278	ON 80 FEET ROAD FROM VIJAYANAGAR 4TH STAGE, HEBBAGILU (NEAR INTERSECTION WITH NH-275K) UP TO SHRI BASAVESHWARA AUTO STAND, BASAVANAPURA (END OF 80 FEET ROAD).	mysore	REGULAR	85	Open	DODO	NA	18	18	330	24	90	DOL	15	5
279	ON SH, WITHIN MANDAGHATTA VILLAGE LIMIT SHIVAMOGGA TALUK	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
280	ON SH, WITHIN 4 KMS ON EITHER SIDE OF T.L.SRINIVAS PETROLEUM (BPCL) KOMARANAHALLI (HADAGALI TALUK)	VIJAYANAGARA	REGULAR	100	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
281	ON HENNUR BAGALUR MAIN ROAD, FROM SPARSH HOSPITAL, HENNUR TILL CANARA BANK HENNUR ROAD BRANCH	BANGALORE URBAN	REGULAR	150	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
282	ON LHS OF NH 48(BANGALORE TO PUNE HIGHWAY),FROM BALIJA SHREYA CONVENTION CENTRE, PATTREHALLI TO JMFC COURT, HIRIYUR	CHITRADURGA	REGULAR	200	OBC	CODO	24.8	35	35	1225	32	0	BIDDING	30	4
283	ON NH BETWEEN MADANTYAR AND MADDADKA	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
284	ON LHS OF NH 48 FROM INTERSTATE FOREST CHECK POST NIPPANI TO KARNATAKA-MAHARASHTRA BORDER	BELAGAVI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
285	ON NH, WITHIN 3 KMS ON EITHER SIDE OF SRI RAMBHAPURI JAGADGURU VEERAGANGADHAR ARTS AND COMMERCE COLLEGE, SHIGGAON NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
286	FROM GOPALAGOWDA SHANTHAVARI CIRCLE, NAZARBAD TILL INTERSECTION WITH NH-275K (DEVEGOWDA CIRCLE - OUTER RING ROAD) TOWARDS BANNUR.	mysore	REGULAR	120	SC	CFS	55.2	18	18	330	0	0	DOL	0	3
287	ON LHS OF NH 275 MYSORE BANGALORE HIGHWAY TOWARDS BANGALORE, WITHIN 2 KMS FROM GOVT PRIMARY SCHOOL / DIGITAL LIBRARY MAYAGANAHALLI	RAMNAGARA	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
288	ON NH, FROM SRI CHAITANYA PU COLLEGE, HAVAMBAVI TO ICAR -IISWC, BELLARY NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
289	ON NH, WITHIN 8 KMS, FROM JAWAHAR NAVODAYA VIDYALAYA, MAVINAKERE TOWARDS HOLENARSIPURA ON HASSAN - MYSORE RD	HASSAN	REGULAR	140	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
290	ON SH-21, FROM SHREE HULIKALU VEERABHADRESHWARA SWAMY PUNYA SHETRA ENTRANCE NEAR GONISOMANAHALLI TILL HOYSALA CIRCLE, HALEBEEDU.	HASSAN	REGULAR	83	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
291	ON SH 104 BETWEEN BAGALURU POLICE STATION AND BANDIKODEGEHALLI SEVA SAHAKARA SANGHA OFFICE/ WATER TANK NEAR GOVT PRIMARY SCHOOL	BANGALORE URBAN	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
292	FROM RAICHUR-MANTRALAYA BRIDGE TO ESSAR PETROL PUMP KAREBUDUR ON NH 167	RAICHUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
293	K.L.E. BASAVA RESIDENTIAL GIRLS SCHOOL & PU COLLEGE DODABALE TILL KENGERI METRO STATION (NOT ON NH)	BANGALORE URBAN	REGULAR	120	OBC PH	DODO	NA	18	18	330	24	90	DOL	15	4
294	FROM MANNAEKHELLI DWARA TO KARAKANALLI CROSS ON NH-167 (BIDAR-CHINCHOLI ROAD)	BIDAR	REGULAR	120	SC PH	CFS	24.8	35	35	1225	0	0	DOL	0	3
295	ON CHERKALA - JALSOOR ROAD, ON SH, WITHIN MANDEKOLU VILLAGE LIMITS, SULIA TALUK	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
296	ON LHS OF NH 50, WITHIN BENNEHALLI VILLAGE LIMIT, JAGALURU TALUK TOWARDS HOSPET NOT ABUTTING FLYOVER BRIDGE.	DAVANAGERE	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
297	ON LHS OF NH-66,WITHIN 3 KMS FROM THOKKOTTU JUNCTION TOWARDS PUMPWELL CIRCLE (NOT ABUTTING FLY OVER BRIDGE)	DAKSHINA KANNADA	REGULAR	200	OBC	CODO	55.2	30	30	900	32	0	BIDDING	30	4
298	ON SH 87 WITHIN 2KMS FROM SHRI VENKATESHWARA THEATRE NR ANEKAL CIRCLE SUBREGISTRAR OFFICE, ON LHS ON JIGANI ANEKAL ROAD TOWARDS ANEKAL	BANGALORE URBAN	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
299	ON SH , FROM KAMPLI NEW BUS STAND TO KARNATAKA GRAMIN BANK RAMSAGRA	BELLARY	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
300	ON LHS OF NH -66,WITHIN 2 KMS FROM MURDESHWARA RAILWAY STATION TOWARDS BHATKAL	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
301	ON SH48 ,WITHIN 3 KMS ON EITHER SIDE OF INDIRA GANDHI RESIDENTIAL SCHOOL(IGRS) ,BALENAHALLY(CHITRADURGA TO CHALLAKERE)	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
302	ON SH, WITHIN SUNNADAKOPPA VILLAGE LIMIT, SHIKARIPURA TALUK,	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
303	ON RING ROAD IN BIDAR CITY LIMITS	BIDAR	REGULAR	80	SC	CFS-Hiq Lite	30.4	30	30	900	0	0	DOL	0	3
304	ON SH, WITHIN 2 KMS FROM KITHOOR MAIN BUS STAND.	mysore	REGULAR	87	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
305	ON SH, WITHIN 3 KMS ON EITHER SIDE OF SARVODAYA NATIONAL SCHOOL KONDLAHALLY TOWADS BOMMAGONDANAKERE	CHITRADURGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
306	ON NH -52 FROM MASTIKATTE TO RAMANGULI	UTTARA KANNADA	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
307	WITHIN 3 KMS FROM KSRTC BUS STAND, TURUVEKERE TOWARDS GONITUMKUR. (NOT ON NH)	TUMKURU	REGULAR	81	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
308	WITHIN KEMBAVI TOWN LIMITS ON SH	YADGIR	REGULAR	80	SC	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
309	ON 1ST MAIN ROAD GOVINDRAJ NAGAR FROM NAGARBHAVI MAIN ROAD JUNCTION (MED PLUS STORE) TILL MAGADI ROAD JUNCTION VIA BBMP HOSPITAL	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
310	ON SH 48, WITHIN 4 KMS ON EITHER SIDE OF NEHRU CIRCLE, CHALLAKERE (CHITRADURGA TO PARASHURAMAPURA ROAD)	CHITRADURGA	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
311	WITHIN 0.5 KMS FORM CHANNAPATNA COURT COMPLEX ON OLD MYSORE ROAD, CHANNAPATNA TOWN	RAMNAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
312	ON LHS OF NH 150, FROM KM STONE 217 TO 220 TOWARDS BELLARY	BELLARY	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
313	FROM MGVC ARTS COMMERCE & SCIENCE COLLEGE, MUDDEBHALI TO BIDARKUNDI BUS STOP ON SH	VIJAYAPUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
314	WITHIN YELBURGA TOWN LIMITS ON SH/NH	KOPPAL	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
315	FROM SAI SANNIDHI AGRO TECH MANVI RURAL TO KURDI CROSS CAMP ON SH	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
316	ON LHS OF NH 48 TOWARDS TUMKUR, WITHIN 5KMS FROM DOBASPETE KSRTC BUS STAND	BANGALORE RURAL	REGULAR	130	OBC CC-1	DODO	NA	35	35	1225	24	120	DOL	15	4
317	ON SH, FROM GOVERNMENT PRIMARY SCHOOL, MAKARAVALLI TO GONDI CROSS, HANGAL TALUK	HAVERI	REGULAR	100	ST CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
318	ON 80 FEET ROAD FROM ASHWATH NAGAR BUS STOP TILL RAMAIAH INSTITUTE	BANGALORE URBAN	REGULAR	125	Open PH	DODO	NA	18	18	330	24	90	DOL	15	5
319	ON NH 766C BETWEEN HALKAL JUNCTION VIA KOLLURU MOOKAMBIKA TEMPLE TO HEGDE HAKKALE	UDUPI	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
320	ON 1ST MAIN ROAD NAGARBHAVI 2ND STAGE, FROM OUTER RING ROAD (NEAR NAGARBHAVI BUS STOP JUNTION)TILL ANNMEES VETERINARY HOSPITAL	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
321	ON NH, WITHIN DANAPURAM VILLAGE LIMIT, HOSPETE TALUK NOT ABUTTING FLYOVER BRIDGE.	VIJAYANAGARA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
322	WITHIN INCHAL VILLAGE LIMIT ,SAVADATTI TALUK ON SH31	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
323	ON NH-150A, WITHIN 5 KMS FROM DR BR AMBEDKAR POST GRADUATE CENTRE, SUVARNA GANGOTRI TOWARDS CHAMARAJANAGAR.	CHAMARAJNAGAR	REGULAR	138	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
324	ON VITTLA - KALLADKA ROAD KELINJA TO OKKETHUR MASJID BUS STOP	DAKSHINA KANNADA	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
325	ON SH-33, WITHIN 4 KMS FROM GRAMA PANCHAYAT OFFICE, HOMMARAGAHALLI TOWARDS MYSURU.	mysore	REGULAR	88	Open	DODO	NA	25	30	750	24	105	DOL	15	5
326	ON LHS OF NH 44 TOWARDS HYDERABAD FROM NAYARA PETROL PUMP - PRAGATHI PETROL UPPAKUNTAHALLI TILL J P NAGARA BEECHAGANAHALLY CROSS	CHIKKABALLAPUR	REGULAR	130	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
327	ON SH-79, WITHIN 2 KMS FROM CANARA BANK, GANDEHOSAHALLI VILLAGE.	MANDYA	REGULAR	85	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
328	ON NH, ON HASSAN - BELUR RD FROM OUT POLICE STATION, HAGARE TOWARDS BELUR TILL SHREE VEERA BHADRESHWARA SWAMY PRASANNA TEMPLE ENTRANCE, ANDALE.	HASSAN	REGULAR	133	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
329	WITHIN DEVADURGA TOWN LIMITS ON SH	RAICHUR	REGULAR	100	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
330	ON VIJAYAPURA SULIBELE ROAD FROM KOLLAPURI MAHALAKSHMI TEMPLE, CHANRAYAPATNA TO BALEPURA FARMERS' SERVICE CO-OPERATIVE SOCIETY OFFICE BALEPURA	BANGALORE RURAL	REGULAR	90	ST	CFS	30.4	25	30	750	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
331	ON SH, WITHIN GUNGRALCHATRA VILLAGE, MYSORE TQ	MYSORE	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
332	ON HIGHWAY, WITHIN 3 KMS ON EITHER SIDE OF RTO DRIVING TRACK,HOSPETE	VIJAYANAGARA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
333	ON NH -66, FROM SRINIVAS PORT HOSPITAL TO NITK ENGINEERING COLLEGE	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	30	30	900	32	0	BIDDING	30	5
334	FROM SHRI MAHARSHI VALMIKI CIRCLE, RAMAGERI TO KSRTC DEPOT LAKSHMESHWAR ON SH	GADAG	REGULAR	80	OBC	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	4
335	WITHIN CHINCHOLI TOWN LIMITS ON NH 167N	KALABURAGI	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
336	ON SH-94, FROM NADAKACHERI, KOLLALA TOWARDS KALUVEHALLI TILL KCN CONVENTION HALL.	TUMKURU	REGULAR	95	Open	DODO	NA	25	30	750	24	105	DOL	15	5
337	ON LHS OF NH66, WITHIN 6 KMS FROM MURDESHWAR TEMPLE ARCH TOWARDS KARWAR	UTTARA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
338	ON SH-85, FROM SHANKARNAG AUTO STAND, KRISHNARAJAPET TOWARDS SHETTYNAYAKANA KOPPALU TILL SMT JAYAMMA SHREE RAMUSWAMY SAMUDAYA BHAVAN	MANDYA	REGULAR	86	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
339	ON SH 5 WITHIN 2 KMS FROM KANAGAMAKALAPALLI GRAMA PANCHAYAT OFFICE	CHIKKABALLAPUR	REGULAR	90	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
340	ON MARGOSA ROAD BETWEEN MALLESHWARAM 18TH CROSS BUS STOP AND KC GENERAL HOSPITAL SIGNAL	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
341	ON SH, WITHIN GIRIYAPURA VILLAGE LIMIT, DAVANAGERE TALUK	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
342	ON NH, WITHIN 3 KMS FROM PRESIDENCY PUBLIC SCHOOL, JYOTI NAGARA, SIRA TOWARDS KOTTA.	TUMKURU	REGULAR	125	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
343	ON NH-766, WITHIN 3 KMS FROM MALE MAHADESHWARA TEMPLE, AREPURA TOWARDS NANJANGUDU.	CHAMARAJNAGAR	REGULAR	135	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
344	ON NAGARBHAVI MAIN ROAD FROM PRASHANTH NAGAR SIGNAL NEAR SHOBHA HOSPITAL TILL BSNL TELEPHONE EXCHANGE NEAR HOSAHALLI METRO STATION	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
345	ON SH, WITHIN 4 KMS FROM KARNATAKA GRAMIN BANK,TARANAGAR TOWARDS KUDATINI	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
346	ON SH, WITHIN APPAYYANAHALLI VILLAGE LIMIT KUDLIGI TALUK	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
347	ON NH I69A BETWEEN UDUPI NEW KSRTC BUSTAND TO MGM COLLEGE	UDUPI	REGULAR	200	Open	CODO	24.8	30	30	900	32	0	BIDDING	30	5
348	ON CHINTAMANI CHELUR ROAD SH 86 FROM HOSAHUDYA BUS STOP NEAR KOTAHUDYAM BEEDALAHALLI TILL CHELUR WITHIN KARNATAKA	CHIKKABALLAPUR	REGULAR	80	SC	CFS-Hq Lite	24.8	25	30	750	0	0	DOL	0	3
349	ON SH, WITHIN 2 KMS FROM SRI SIDDAGANGA CIRCLE NEAR INTERSECTION WITH NH-48 TOWARDS MARANAYAKANAPALYA.	TUMKURU	REGULAR	93	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
350	ON SH, WITHIN 4 KMS FROM JARIGEKATTE CIRCLE TOWARDS BELMAN	UDUPI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
351	WITHIN 2KM ON EITHER SIDE OF INGALAGI CROSS ON SH (BILAGI-MUDHOL SECTION)	BAGALKOTE	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
352	ON SH46 (DANDELI-HALIYAL ROAD)WITHIN 4 KMS BARCHI ROAD INTERSECTION CIRCLE TOWORDS HALIYAL	UTTARA KANNADA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
353	ON PIPELINE ROAD (BETWEEN KURUBARAHALLI CIRCLE TO CHORD ROAD)	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
354	FROM NEW KRSTC BUS STAND,DAVANAGERE TOWARDS CHITRADURGA WITHIN CITY LIMIT NOT ON SH/NH	DAVANAGERE	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
355	ON NH-275K, FROM DR APJ ABDUL KALAM CIRCLE NEAR BANDIPALYA TILL DOCTORS COMMUNITY HALL.	MYSORE	REGULAR	150	Open CC-1	DODO	NA	35	35	1225	32	120	DOL	15	5
356	ON SH, WITHIN 3 KMS FROM SAMSKRUTHI SCHOOL, BELLARY TALUK TOWARDS SHANKARABANDA	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
357	WITHIN 4 KM, FROM SH INTERSECTION AT KEMMANAGUNDI TOWARDS BALLAVARA	CHIKKAMAGALURU	REGULAR	100	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
358	ON MAHANTHALINGAPURA- KRISHNADODDI ROAD, WITHIN 2 KMS FROM VATSALYA SENIOR CITIZENS' HOME	BANGALORE URBAN	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
359	ON NH-66 ANKOLA TO KARWARA BETWEEN BALEGULI TO AVERSA	UTTARA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
360	ON MP SPORTS CLUB MAIN ROAD , JNANANJYOTHINAGAR	BANGALORE URBAN	REGULAR	120	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
361	FROM CIVIL COURT SHAHABAD TO SHRI SHAMBULINGESHWARA PADAKATTE TRANSINAHALLI ON SH125	KALABURAGI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
362	BETWEEN INFOSYS SEZ ENTRANCE AND JAWAHAR NAVODAYA VIDYALAYA ON MUDIPU ROAD	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
363	ON NH 169A UDUPI- AGUMBE HIGHWAY FROM MANIPAL TO ONTHIBETTU	UDUPI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
364	ON SH, FROM JALIBENCHI CROSS TO KARNATAKA GRAMIN BANK KORLAGUNDI BELLARY TALUK	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
365	FROM RAJARAJESHWARI NAGAR TELEPHONE EXCHANGE TO RR NAGAR ARCH (LHS ON KENCHENAHALLI MAIN ROAD)	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
366	ON VAMANJOOR - BONDEL ROAD,BETWEEN NH INTERSECTION OF VAMANJOOR AND BONDEL VIA PACHANADI	DAKSHINA KANNADA	REGULAR	100	SC CC-1	CFS	55.2	18	18	330	0	0	DOL	0	3
367	ON NH, WITHIN 3 KMS FROM SANJAY MEMORIAL POLYTECHNIC TOWARDS HOSURU, NOT ABUTTING FLYOVER BRIDGE	SHIVAMOGGA	REGULAR	120	Open-CC2	DODO	NA	35	35	1225	24	120	DOL	15	5
368	WITHIN GOKAK TOWN LIMITS ON SH	BELAGAVI	REGULAR	80	OBC CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
369	ON SURGAJKANAHALLI INDALWADI ROAD NEAR ANEKAL STARTING FROM INDALWADI CROSS ON SH 87 TO ADURU	BANGALORE URBAN	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
370	ON NH 150 A,WITHIN 2KMS FROM AGRI RESEARCH CENTRE KAVADIMATTI TOWARDS LINGASUGUR (SHORAPUR-LINGASUGUR)	YADGIR	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
371	ON NERALGIRI KGF ROAD WITHIN 2 KMS FROM KA-TN BORDER IN KARNATAKA TOWARDS KANAMANHALLI	KOLAR	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
372	WITHIN 2 KMS, FROM NH-66 INTERSECTION TO BYKAMPADY INDUSTRIAL AREA TOWARDS JOKATTE ON MAIN ROAD	DAKSHINA KANNADA	REGULAR	200	Open	CODO	30.4	25	30	750	32	0	BIDDING	30	5
373	ON NH 66 FROM BRAHMAVARA TO SASTHANA	UDUPI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
374	ON LHS OF NH -66, FROM KIOLI JUNCTION CIRCLE TO SRINIVAS PORT HOSPITAL	DAKSHINA KANNADA	REGULAR	200	OBC	CODO	24.8	30	30	900	32	0	BIDDING	30	4
375	WITHIN 2KMS ON EITHER SIDE OF HIREHAL PHC ON SH-57 (BADAMI-RON ROAD)	GADAG	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
376	FROM BASAVESHWAR STATUE HALBARGA TO MORARJI DESAI SCHOOL ROAD AHAMADABAD ON NH 50	BIDAR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
377	ON NH, WITHIN 3KMS ON EITHER SIDE OF JNANAAMRUTHA ENGLISH MEDIUM HIGH SCHOOL AND PU COLLEGE BELLARY NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
378	ON NH -69 FROM BASTIBAIL TO ADUKATTA	UTTARA KANNADA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
379	FROM MANYATA TECH PARK (5TH GATE) TO THANNISANDRA CIRCLE ON RACHENAHALLI MAIN ROAD	BANGALORE URBAN	REGULAR	200	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
380	BETWEEN KADAGANCHI BUS STOP AND CUK (CENTRAL UNIVERSITY OF KARNATAKA) BUS STOP ON SH 10	KALABURAGI	REGULAR	110	Open	DODO	NA	25	30	750	24	105	DOL	15	5
381	FROM ZAD SHAHAPUR TO DESUR ON NH	BELAGAVI	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
382	ON SH,WITHIN 2 KMS ON EITHER SIDE OF GOVERNMENT HIGH SCHOOL, MELLEKATTE	DAVANAGERE	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
383	ON TAVEREKERE NELMANGALA ROAD (VIA SONDEKOPPA) WITHIN 1 KM OF GOVERNMENT KANNADA MODEL PRIMARY SCHOOL VARTHURU VILLAGE (NOT ON NH/SH)	BANGALORE URBAN	REGULAR	80	ST	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
384	FROM AKKAMAHADEVI ASHRAM DHARWAD TO SALAKINAKOPPA CROSS ON SH	DHARWAD	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
385	ON SH, WITHIN 6 KMS, FROM GRAMA PANCHAYAT OFFICE, KATTAYA TOWARDS ARAKALAGUD ON HASSAN-GORUR RD	HASSAN	REGULAR	87	Open	DODO	NA	25	30	750	24	105	DOL	15	5
386	ON NH -69 FROM BOLKAR TO MAVINGUNDI	UTTARA KANNADA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
387	ON NH, WITHIN HOSANAGARA TOWN LIMIT NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
388	ON SH, WITHIN 3 KMS FROM DODAMMA TEMPLE, ARAKALAGUD TOWARDS MALLIPATNA.	HASSAN	REGULAR	90	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
389	ON NH-75, WITHIN 3 KMS FROM PRISM JOHNSON LIMITED, KUNIGAL	TUMKURU	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
390	ON SH,WITHIN 2 KMS FROM ANAVATTI BUS STAND TOWARDS HANGAL	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
391	FROM UPPALDINNI CROSS TO GUNNAL CROSS ON RHS OF NH-50 (ILKAL-KUSTAGI)	KOPPAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
392	WITHIN KUKNOOR TOWN LIMITS ON SH/NH	KOPPAL	REGULAR	80	SC PH	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
393	ON DEVARACHIKKANHALLI / BOMMANHALLI MAIN ROAD WITHIN 0.5 KMS FROM SRI SAI ROYALE APARTMENT ENTRY	BANGALORE URBAN	REGULAR	120	OBC PH	DODO	NA	18	18	330	24	90	DOL	15	4
394	ON NH -52 FROM YELLAPURA TO KOLIKERI	UTTARA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
395	FROM HUKKERI POLICE STATION TO SHREE RENUKA PETROLEUM HPCL HUKKERI ON SH 44	BELAGAVI	REGULAR	84	Open	DODO	NA	25	30	750	24	105	DOL	15	5
396	ON SH, WITH 3 KMS ON EITHER SIDE OF KITTURU RANICHENNAMMA RESIDENTIAL SCHOOL, NADAVI , SIRAGUPPA TALUK	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
397	FROM SHIVAJI CHOWK BHALKI TO CHENNAVASAVESHWARA SCIENCE DEGREE COLLEGE, GURUKUL , BHALKI	BIDAR	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
398	ON MAIN ROAD ,MAHALAKSHMI LAYOUT	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
399	FROM R MAHADEVAPPA CIRCLE, YARAGANAHALLI TOWARDS T NARSIPURA VIA KEMPEGOWDA CIRCLE TILL SREE NIRVANASWAMY SAMYUKTHA COLLEGE NEAR ALANAHALLI.	mysore	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
400	ON LHS OF SH47,WITHIN KELLODU VILLAGE LIMITS (HOSADURGA TALUK) TOWARDS HOSADURGA	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
401	ON NH, WITHIN 2 KMS ON EITHER SIDE OF B M INTERNATIONAL SCHOOL, HAVERI	HAVERI	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
402	ON NH, FROM POLICE STATION, KAVALANDE TOWARDS CHAMARAJANAGAR TILL HEGGAVIDI CROSS (SHRI KSHETRA KANAKAGIRI WELCOME BOARD).	mysore	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
403	ON SH, BETWEEN ROTARY ENGLISH MEDIUM SCHOOL, KINNIGOLI TO SAMPIGE	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
404	ON SH, WITHIN 6 KMS FROM GOVT HIGHER PRIMARY SCHOOL, OBALAPURA TOWARDS ANTHARASANAHALLI	TUMKURU	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
405	ON NH, FROM GOVERNMENT PRE-UNIVERSITY COLLEGE, GARATHIKERE TO GOVT. PRIMARY SCHOOL SHIVAPURA	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
406	WITHIN SUTAGATTI VILLAGE LIMITS ON NH	BELAGAVI	REGULAR	120	SC	CFS	55.2	35	35	1225	0	0	DOL	0	3
407	ON NH -52 FROM BOGRIBAIL TO HONNALI	UTTARA KANNADA	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
408	FROM BANDOLI BUS STOP TO KAKKERA BUS STOP	YADGIR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
409	WITHIN 2KMS FROM RAJIVGANDHI AYURVEDIC MEDICAL COLLEGE RON TOWARDS RON BUSTAND ON SH-83	GADAG	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
410	ON LHS ,FROM PRESIDENT HOTEL HUBLI TO BRTS BUS STAND GANDHINAGAR, DHARWAD	DHARWAD	REGULAR	80	SC	CFS-Hiq Lite	55.2	25	30	750	0	0	DOL	0	3
411	FROM MALKAPUR CHOURASTA TO KARNATAKA TELANGANA BORDER ON NH 161B	BIDAR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
412	WITHIN 3 KMS ON LHS OF NH 75 TOWARDS KUNIGAL FROM NELMANGALA JUNTION- NH 48 CROSS	BANGALORE RURAL	REGULAR	200	OBC	CODO	24.8	35	35	1225	32	0	BIDDING	30	4
413	ON SH-89 FROM KUMTOOR TO KUTTA	KODAGU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
414	WITHIN GADAG CITY LIMITS ON SH/NH	GADAG	REGULAR	200	Open	CODO	30.4	25	30	750	32	0	BIDDING	30	5
415	ON SH, FROM GOVT DEGREE COLLEGE(GFGC, BYADGI) TO CANARA BANK - SIDENUR	HAVERI	REGULAR	100	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
416	WITHIN CHIKKODI TOWN LIMITS ON SH	BELAGAVI	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
417	KRISHNA RAJENDRA ROAD FROM KIMS CIRCLE TILL NATIONAL COLLEGE METRO STATION	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
418	ON LHS OF NH66, BETWEEN SODIGADDE CROSS AND BHATKAL BUS STAND TOWARDS KARWAR	UTTARA KANNADA	REGULAR	150	Open PH	DODO	NA	35	35	1225	32	120	DOL	15	5
419	ON NH-948, WITHIN 7 KMS FROM SRI MALLIKARJUNA KALYANA MANTAPA TOWARDS CHAMARAJANAGAR.	CHAMARAJNAGAR	REGULAR	135	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
420	ON NH 69, CHINTAMANI SRINIVASPURA ROAD FROM DODDAGAJANUR KARNATAKA GRAMIN BANK TILL GOVT ADARSHA VIDYALAYA KALLUR	KOLAR	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
421	ON SH, FROM KARNATAKA GRAMIN BANK ,SIDDAMMANAHALLI, TO SPOORTHI PETROLEUM, BPCL, KUDATINI	BELLARY	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
422	ON ALLASANDRA MAIN ROAD CONNECTING SH9 TO JANPRIYA HEAVENS APARTMENT	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
423	ON SH, WITHIN 3 KMS FROM TALUK PANCHAYATH OFFICE, HONNALI TOWRADS TUMMINAKATTE	DAVANAGERE	REGULAR	120	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
424	ON NH-75, FROM MARAJABAD FORT ENTRANCE ROAD TILL GRAM PANCHAYAT OFFICE, HEGGADE.	HASSAN	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
425	WITHIN GURMITKAL TOWN LIMIT ON SH/NH	YADGIR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
426	ON NH, WITHIN 4 KMS ON EITHER SIDE OF MORARJI DESAI RESIDENTIAL SCHOOL, BOMMANKATTE, HOLALKERE NOT ABUTTING FLYOVER BRIDGE	CHITRADURGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
427	BRAHMAVARA HEBRI ROAD FROM BRAHMAVARA BUS STOP TO KUNJAL BUS STOP	UDUPI	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
428	FROM SHIVMANDIR KAMANAKATTI, HOSAYELLAPUR TO CHIKMATH ,NAVALUR ON HOSAYELLAPUR - NAVALUR ROAD	DHARWAD	REGULAR	105	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
429	ON KILLUR BELTHANGADI ROAD BETWEEN PANEKALA AND LAILA (NOT ON SH/NH)	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
430	ON NH, WITHIN KAKOL VILLAGE LIMIT RANEENNUR TALUK NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
431	ON SH-85, WITHIN 5 KM FROM GOVT. POLYTECHNIC COLLEGE, NAGAMANGALA TOWARDS DEVALAPURA.	MANDYA	REGULAR	87	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
432	WITHIN 2KMS FROM PAKHAWAN HOTEL KERUR TOWARDS BATAKURKI	BAGALKOTE	REGULAR	80	ST	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
433	ON PATTANDUR AGRAHARA ROAD BETWEEN BOREWELL ROAD AND WHIETFIELD MAIN ROAD	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
434	WITHIN 4 KMS FROM GOVT PRIMARY HEALTH CENTRE, ARALAKUPPE TOWARDS YELEKERE ON KRS - PANDAVAPURA MAIN ROAD.	MANDYA	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
435	KUDREGERE MAIN ROAD / SIDEHALLI MAIN ROAD BETWEEN MADNAYNANKANHALLI POLICE STATION & ARDIT STEELS PVT LTD GODOWN	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
436	ON SH , WITHIN 3 KMS ON EITHER SIDE OF RAJA VEERAMADAKARI NAYAKA CIRCLE, VALMIKI NAGAR, HARAPANAHALLI	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
437	ON NH, FROM HULIDEVARABANA TO SHIGANDUR	SHIVAMOGGA	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
438	FROM INAM YARAGOPPA CROSS TO HOTEL KANTHI RESORT, ON NH52	BAGALKOTE	REGULAR	200	OBC	CODO	24.8	35	35	1225	32	0	BIDDING	30	4
439	ON SH, BETWEEN VITTAL PINGARA HORTICULTURE FARMERS PRODUCER COMPANY LTD OFFICE AND KAMBALABETTU PRIMARY SCHOOL	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
440	ON SH-86, WITHIN 4 KMS FROM KSRTC BUS STAND, SARAGURU TOWARDS MULLUR.	mysore	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
441	ON SERVICE ROAD OF THE OUTER RING ROAD FROM BENNIGANAHALLI FLYOVER TO HENNUR BRIDGE (L.H.S)	BANGALORE URBAN	REGULAR	150	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
442	ON SH 45, FROM KARNATAKA GRAMIN BANK,NERAGUNTE TO INDIAN INSTITUTE OF SCIENCE, CHALLAKERE	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
443	WITHIN BADAMI TOWN LIMITS ON SH	BAGALKOTE	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
444	ON NH-150A, FROM FIRE STATION, CHIKKANAYAKANAHALLI TOWARDS KB CROSS TILL SRI SAIGANGA HOSPITAL.	TUMKURU	REGULAR	132	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
445	ON SH, FROM INDU COLLEGE TO SHREE CHIRIBI MOOGABASAVESHWARA TEMPLE, KOTTURU	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
446	WITHIN 3KMS FROM AMBEDKAR BHAVAN TOWARDS BORABANDA ON SH16	YADGIR	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
447	ON NH 150A,WITHIN HALAKUNDI VILLAGE LIMIT	BELLARY	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
448	ON NH150A, WITHIN 5KMS FROM VENKATAPPA NAYAK CIRCLE SURPUR TOWARDS SHAHAPUR	YADGIR	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
449	ON SH57,WITHIN 3 KMS FROM KARNATAKA GRAMIN BANK, HAROGOPPA TOWARDS SHIKARIPUR	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
450	ON SH, BETWEEN NAVULE VILLAGE TO ABBALAGERE VILLAGE, SHIVAMOGGA TALUK (SHIVAMOGGA TO SAVALANGA)	SHIVAMOGGA	REGULAR	120	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
451	ON NH, FROM HEBRI TO NADPAL	UDUPI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
452	FROM JALAHALLI CROSS VIA PEENYA INDUSTRIES ASSOCIATION OFFICE - RING ROAD TO FOURESS ENGINEERING INDIA PRIVATE LIMITED IN PEENYA 1ST STAGE	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
453	ON SH-47, WITHIN 4 KMS FROM A&A CONVENTION CENTRE, NEAR SHANKAR PURA, MANDYA TOWARDS MELUKOTE.	MANDYA	REGULAR	86	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
454	ON NH, UDUPI - KUNDAPURA HIGHWAY FROM KARAVALI JUNCTION TO BRAHMAVARA BUS STAND	UDUPI	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
455	ON MAIN ROAD ,FROM NH JALSOOR TO SULLIA ROAD INTERSECTION FROM PAICHARU TO BELLARE	DAKSHINA KANNADA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
456	ON SH 03, MAGADI RAMANAGARA ROAD, WITHIN 1 KM FROM JNANASINDHU RURAL HIGH SCHOOL THIBBEGOWDANADODDI TOWARDS PADARAHALLI	RAMNAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
457	ON NH, FROM MB FUEL CENTRE(BPCL), KUDATINI TO KUDATINI BUS-STAND NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
458	ON BALEHONNUR-KALASA ROAD, WITHIN 3KMS FROM INTERSECTION AT SH-27 TOWARDS KALASA	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
459	FROM BOMMANAHAL TANDA CROSS TO BANDI SUNKAPUR BUS STOP ON SH (MUDAGAL-HUNAGUND ROAD)	RAICHUR	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
460	ON SH, WITHIN 1 KMS FROM RANGANATHAPURA CIRCLE / CROSS (GAVI RANGAPPA HANDPOST)), HARAPANAHALLI.	MANDYA	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
461	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVERNMENT SCHOOL, NERLIGE, DAVANAGERE TALUK	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
462	ON SH93(YELLAPUR-SIRSI ROAD), WITHIN KSRTC BUS STAND TO UPALESHWARA BUS STOP	UTTARA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
463	FROM NAYARA PETROL PUMP HALE JOORATAGI CAMP TO MARLANAHALLI BUS STOP ON SH23	KOPPAL	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
464	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVERNMENT PRIMARY HEALTH CENTER, YALAVIGI, SAVANUR TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
465	ON NH, BETWEEN NAVODAYA CIRCLE KARKALA AND BAJAGOLI JUNCTION	UDUPI	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
466	ON LEFT HAND SIDE OF NH 75, WITHIN 10 KM FROM BPCL LPG BOTTLING PLANT ENTRY GATE SOLUR, TOWARDS MANGALORE	RAMNAGARA	REGULAR	120	Open CC-2	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
467	WITHIN MALMADDI LIMITS IN DHARWAD ON ANY MAIN ROAD	DHARWAD	REGULAR	103	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
468	FROM DR CHANDRASHEKHAR SPEECH & HEARING HOSPITAL TO HENNUR FLYOVER VIA 80FT ROAD (SRI RAMA TEMPLE MAIN ROAD)	BANGALORE URBAN	REGULAR	150	SC CC-1	CFS	73.2	18	18	330	0	0	DOL	0	3
469	ON SH, WITHIN 4KMS FROM NANDI INTERNATIONAL SCHOOL & COLLEGE,NANDI NAGAR, BELLARY TOWARDS BELLARY	BELLARY	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
470	FROM ANJANEYA TEMPLE JOLADARASHI TO KARUNYA ASHRAMA CROSS ON SH/NH	RAICHUR	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
471	ON NH-948, WITHIN 2 KMS FROM SRI KANDAHALLI MAHADESHWARA SWAMY TEMPLE, D KANDAHALLI.	CHAMARAJNAGAR	REGULAR	125	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
472	FROM USHA NURSING HOME TO RAILWAY STATION WITHIN SHIVAMOGGA CITY LIMITS	SHIVAMOGGA	REGULAR	200	SC	CFS	30.4	18	18	330	0	0	DOL	0	3
473	WITHIN 2KM FROM PANCHAGAON CROSS TOWARDS LOKAPUR ON SH20 (YERGATTI-LOKAPUR ROAD)	BELAGAVI	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
474	ON LHS OF SH 82 TOWARDS H CROSS WITHIN 1 KMS FROM SH 35 & SH 82 JUNCTION (YELACHANAYAKANAPURA) NEAR HOSKOTE	BANGALORE RURAL	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
475	WITHIN KHERDA B VILLAGE LIMITS ON SH	BIDAR	REGULAR	80	OBC	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	4
476	ON NH -73 FROM BANAKAL TO HORATTI	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
477	WITHIN 3KMS FROM ASKIHAI,RAICHUR TOWARDS LINGASUGUR ,ON LHS OF SH 15	RAICHUR	REGULAR	80	SC	CFS-Hq Lite	24.8	25	30	750	0	0	DOL	0	3
478	FROM GRAM PANCHAYAT OFFICE, HIRERUGI TO SHRI MARULSIDDESWHARA TEMPLE JODUGUDI ON NH 548B	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
479	WITHIN 2KM FROM SULEBHAVI CROSS MARIHAL TOWARDS NESARGI ON SH-20	BELAGAVI	REGULAR	98	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
480	ON VIBGYOR HIGH SCHOOL ROAD FROM BALAGERE T CROSS TILL HAL OLD AIRPORT ROAD JUNCTION MARATHAHALLI	BANGALORE URBAN	REGULAR	200	Open CC-1	CODO	73.2	18	18	330	32	0	BIDDING	30	5
481	ON NH 66 FROM NAVUNDA TO BYNDOOR	UDUPI	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
482	FROM HEBBAL FLYOVER TO JAKKUR AERODROME ON NH44	BANGALORE URBAN	REGULAR	130	OBC	DODO	NA	30	30	900	24	120	DOL	15	4
483	FROM JSS COLLEGE OF ARTS AND COMMERCE, GUNDLUPET TILL ANGANWADI KENDRA, MUKHA HALLI. (ON GUNDLUPET - BARGI MAIN ROAD) (NOT ON NH)	CHAMARAJNAGAR	REGULAR	85	Open	DODO	NA	25	30	750	24	105	DOL	15	5
484	ON AMBAGILU- KALSANKA ROAD, INTERSECTION FROM PERAMPALLI- NEKKAR KRISHNADAS MARG UP TO MANIPAL	UDUPI	REGULAR	100	Open	DODO	NA	18	18	330	24	90	DOL	15	5
485	FROM YAKKUNDI BUS STOP TO ARJUNAGI BUS STOP ON SH 34	VIJAYAPUR	REGULAR	80	OBC	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	4
486	ON SH, WITHIN GOLLARAHALLI VILLAGE LIMITS DAVANAGERE TALUK	DAVANAGERE	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
487	ON SH 87 ANEKAL HOSUR ROAD BETWEEN ST JOSEPH SCHOOL HOMPALAGHATTA & SABA INDIA PVT LTD	BANGALORE URBAN	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
488	WITHIN 1KM FROM SHODHA TOYOTA SHOW ROOM VIJAYAPUR ON NH	VIJAYAPUR	REGULAR	120	Open	DODO	NA	30	30	900	24	120	DOL	15	5
489	ON SH, FROM GOVERNMENT HOSPITAL, ARABILACHI TO PRIMARY HEALTH CENTER MARASHETTIHALLI	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
490	ON NH66,MORABA TO ANDLE CROSS	UTTARA KANNADA	REGULAR	150	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
491	ON BOTH SIDES OF NH 75 ON MULBAGAL BYPASS ROAD FROM AECS RAMAPRIYA PU COLLEGE AND SCHOOL ENTERANCE TILL SRI BALAJI BHAVAN , OPP. GNANA JYOTHI SCHOOL, MULBAGAL, CHIKKAMADENAHALLI,	KOLAR	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
492	ON SH, FROM LITTLE FLOWER CONVENT SCHOOL, HOSAPETE TO KRDC TOLL PLAZA RAJAPURA	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
493	ON 8TH CROSS, M.C.LAYOUT, FROM NEW PUBLIC ENGLISH SCHOOL (NEAR SUBHASH CHANDRA PARK BBMP GROUND) TILL MAGADI ROAD	BANGALORE URBAN	REGULAR	150	OBC PH	DODO	NA	18	18	330	32	90	DOL	15	4
494	WITHIN 1 KM FROM MANDIPET CIRCLE TOWARDS VALMIKHI CIRCLE, TUMKUR CITY.	TUMKURU	REGULAR	122	SC PH	CFS	30.4	25	30	750	0	0	DOL	0	3
495	ON SH,WITHIN 1 KMS ON EITHER SIDE OF GOVT HIGHER PRIMARY SCHOOL , GOVINAKOVE, NYAMATI TALUK	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
496	ON ANY SIDE OF MULBAGAL RAMASAMUDRAM ROAD FROM ST. FRANCIS XAVIER'S CHURCH, GOKUNTE,TILL KA-AP BORDER WITHIN KARNATAKA STATE.	KOLAR	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
497	ON SH-102, FROM NANDINI MILK PLANT, MUDDARANGANAHALLI TILL CHAMUNDESHWARI ELECTRICITY SUPPLY BOARD BRANCH OFFICERS OFFICE, HARANAHALLI.	HASSAN	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
498	ON NH 52 WITHIN 2 KM FROM PRIMARY HEALTH CENTRE KIRUVATTI TOWN ON EITHER SIDE	UTTARA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
499	ON NH 150 A, WITHIN 4 KMS FROM BALENAHALLI TOLL PLAZA,CHALLAKERE TOWARDS HIRIYUR NOT ABUTTING FLYOVER BRIDGE	CHITRADURGA	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
500	WITHIN MANGALORE CITY CORPORATION LIMIT, FROM BAJAL TO PADIL	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
501	ON BIKKANHALLI ROAD FROM ST.PHILOMENA'S PUBLIC SCHOOL ICSE TO ST.PHILOMENA'S ENGLISH SCHOOL VIA AZIM PREMZI UNIVERSITY CAMPUS	BANGALORE URBAN	REGULAR	120	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
502	ON SH ,WITHIN 6 KMS FROM SANDUR RESIDENTIAL SCHOOL, SANDURU TALUK TOWARDS HOSPETE	BELLARY	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
503	FROM MAHARASHTRA-KARNATAKA BORDER TO KARJGI BUS STOP ON NH	VIJAYAPUR	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
504	ON PATTERGHARPALYA MAIN ROAD /SANGOLLI RAYANNA ROAD FROM SMT MANCHAMMA HONNEGOWDA KALYANA MANTAPA TO PRASANTHA NAGARA SIGNAL NR SHOBHA HOSPITAL	BANGALORE URBAN	REGULAR	130	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
505	ON SH-33, FROM ATME COLLEGE OF ENGINEERING TOWARDS MYSORE TILL VIDYA VIKAS INSTITUTE OF ENGINEERING & TECHNOLOGY	mysore	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
506	WITHIN ELECTRONIC CITY, SHIKARIPALYA MAIN ROAD FROM WIPRO JUNCTION TO VRR GOLDEN ENCLAVE - PHASE 2	BANGALORE URBAN	REGULAR	200	Open CC-1	CODO	73.2	18	18	330	32	0	BIDDING	30	5
507	ON ANY MAIN ROAD WITHIN MATHIKERE	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
508	ON NR PURA TO BALEHONNUR ROAD, WITHIN 3 KMS FROM NR PURA JUNCTION AT SH65, TOWARDS BALEHONUR	CHIKKAMAGALURU	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
509	ON NH, WITHIN KURICHIKKANAHALLI VILLAGE LIMIT(CHIKKAMANGALUR TO KADUR)	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
510	ON SH, WITHIN GUTTALA VILLAGE LIMIT HAVERI TALUK	HAVERI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
511	ON NH69, WITHIN 3 KMS ON EITHER SIDE OF NH66 INTERCONNECTION AT HONNAWAR	UTTARA KANNADA	REGULAR	150	OBC	DODO	NA	35	35	1225	32	120	DOL	15	4
512	FROM TIRUMALA DHABA GOVINKOPPA TO KONNUR BUS STOP ON NH-52 (VIJAYAPUR-HUBLI)	BAGALKOTE	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
513	ON SERVICE ROAD OF WEST OFF CORD ROAD WITHIN 120 MTRS OF PEACE SAPPHIRE APARTMENT, WEAVERS LAYOUT, ATTIGUPPE.	BANGALORE URBAN	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
514	ON NH 69 GAURIBIDANR MADHUGIRI ROAD WITHIN 6 KM OF GAURIBIDANRU RADIO OBSERVATORY	CHIKKABALLAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
515	WITHIN MANGALORE CITY CORPORATION, BETWEEN LADY HILL CIRCLE TO CAR STREET ON KULOOOR FERRY ROAD	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
516	ON SH, WITHIN 2 KMS ON EITHER SIDE OF HALADAMMA DEVI FUELS STATION (NAYARA PETROL BUNK), JEENAHALLI, NYAMATI TALUK	DAVANAGERE	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
517	ON 80 FEET ROAD OF KENGERI U PANAGARA FROM IOCL SAMBHAV SERVICE STATION TILL SRI CHAITANYA TECHNO SCHOOL NAGARBHAVI NEAR JNANBHARTI JUNCTION	BANGALORE URBAN	REGULAR	150	ST CC-1	CFS	73.2	18	18	330	0	0	DOL	0	3
518	WITHIN MUNDARAGI TOWN LIMITS ON SH/NH	GADAG	REGULAR	80	Open PH	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
519	ON NH -69 FROM DEVAKATTE TO MUDKANI	UTTARA KANNADA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
520	FROM AMMINABHAVI-AMARGOL CROSS TO BPCL SHIVAHALLI, ON SH	DHARWAD	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
521	ON SH47,WITHIN 6 KMS ON EITHER SIDE OF PRAGATHI KRISHNA GRAMIN BANK, UCHANGIDURGA	VIJAYANAGARA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
522	FROM RAM MANDIR CIRCLE TO SHRI SIDDASHRI EDUCATION SOCIETY KOTNOOR ON MAIN ROAD (KALABURAGI CITY)	KALABURAGI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
523	WITHIN JEWARGI TOWN MUNICIPAL LIMITS ON NH/SH	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
524	ON NH 75 FROM IKEA NAGASANDRA TILL DASARAHALLI METRO STATION	BANGALORE URBAN	REGULAR	180	Open	DODO	NA	18	18	330	32	90	DOL	15	5
525	ON SH, WITHIN 3 KMS FROM DAVANGERE UNIVERSITY, THOLAHUNASE	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
526	ON NH,SHIVAMOGGA TO CHITRADURGA ROAD, WITHIN KOPPA VILLAGE LIMIT,BHADRAVATHI TALUK	SHIVAMOGGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
527	WITHIN 3 KMS, FROM KSRTC BUS STAND, KOPPA TOWARDS KOWDLEY ON KOPPA - MADDUR RD	MANDYA	REGULAR	81	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
528	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVT HIGH SCHOOL, GUNJANUR	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
529	ON NH, FROM GOVERNMENT FIRST GRADE COLLEGE, AYANUR TO CANARA BANK - KUMSI NOT ABUTTING FLYOVER BRIDGE	SHIVAMOGGA	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
530	ON SH, WITHIN 2 KMS ON EITHER SIDE OF ICHALAMPADY JUNCTION	DAKSHINA KANNADA	REGULAR	120	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
531	SAHAKAR NAGAR LIMIT, ON 1ST MAIN ROAD FROM STERLING PARK JUNCTION TO KYARA / CULTFIT BUILDING(NOT ON NH)	BANGALORE URBAN	REGULAR	160	OBC	DODO	NA	18	18	330	32	90	DOL	15	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
532	WITHIN 2KMS FROM SHREE KAREMMADEVI TEMPLE HIREULLIGERI TOWARDS SAUNDATTI ON SH-48	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
533	FROM GOVERNMENT MODEL PRIMARY SCHOOL ,KABBUR TO SHRI MALATESH PRIMARY AND HIGH SCHOOL, GOURAPURA, HAVERI TALUK ON MAIN ROAD	HAVERI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
534	FROM INFOSYS HUBLI TO THE FERN RESIDENCY HUBLI ON GOKUL ROAD	DHARWAD	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
535	ON SH, FROM EMMIGANUR TO OLD NELLUDI CROSS , KAMPLI TALUK	BELLARY	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
536	ON SH-07, WITHIN 3 KMS FROM INTERSECTION OF SH-07 WITH NH-75 NEAR BARAGUR TOWARDS ARSIKERE.	HASSAN	REGULAR	81	Open	DODO	NA	25	30	750	24	105	DOL	15	5
537	WITHIN 2 KM FROM KRANTIVEERA SANGOLLI RAYANNA CIRCLE GURLAPUR TOWARDS ATHANI ON ATHANI - GOKAK ROAD (SH)	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
538	ON NH -52 FROM HEGGAR TO YELLAPURA	UTTARA KANNADA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
539	FROM ANKITA THEATRE GULEDGUDDA TO BASEL MISSION GIRLS HOSTEL SUMADDI ON NH367	BAGALKOTE	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
540	ON SH-07, WITHIN 3 KMS FROM GOVT HIGH SCHOOL, HADNUR TOWARDS KRISHNARAJAPETE.	MANDYA	REGULAR	92	Open	DODO	NA	25	30	750	24	105	DOL	15	5
541	WITHIN 3 KMS ON EITHER SIDE OF SJFS HIGH SCHOOL, NEGLUR, HAVERI TALUK ON MAIN ROAD	HAVERI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
542	WITHIN SHAHAPUR TOWN LIMIT ON NH/SH	YADGIR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
543	FROM SHRI VINAYAK HP GAS GRAMIN VITARAK SATI TO RADDERHATTI BUS STOP ON SH	BELAGAVI	REGULAR	90	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
544	ON NH-275, WITHIN 5 KMS FROM SHREE D DEVARAJA ARASU KALA BHAVANA, PERIYAPATNA TOWARDS KUSHALNAGAR.	mysore	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
545	WITHIN NARAGUND TOWN LIMITS ON SH/NH	GADAG	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
546	ON NH 69 TANGALI TO LINGLAPURA	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
547	ON SH, WITHIN TALLURU VILLAGE LIMIT TIRTHAHALLI TALUK	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
548	ON SH, FROM SHAKTI GANESH FILLING STATION (IOCL),ANDRALU TO PAVANASUTA RICE MILL, BELLARY TALUK NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
549	ON SH, FROM GOVERNMENT GIRLS COLLEGE, KAMPLI TO DEVASAMUDRA CROSS,KAMPLI TALUK	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
550	ON SH112(KODLIPET-BOLLUPET ROAD), FROM DODDEGOUDA PETROLEUM IOCL TO KODAGU-HASSAN BORDER, TOWARDS BALLUPET	KODAGU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
551	WITHIN 12KMS FROM MORARJI DESAI SCHOOL UMLOOTI TOWARDS KALAMANGI ON SH 30	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
552	ON SH-113 BETWEEN PERABE AND KADABA	DAKSHINA KANNADA	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
553	ON SH, WITHIN KATENAHALLI VILLAGE LIMIT, HAVERI TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
554	WITHIN 3KM FROM KERIHALLI TOLL PLAZA TOWARDS HOSPET ON LHS OF NH-50 (KUSTAGI-HOSPET)	KOPPAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
555	FROM TURVIHAL BUS STAND TO 4TH MILE CAMP ON SH 30	RAICHUR	REGULAR	90	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
556	WITHIN 3 KMS FROM KESHWAPUR CIRCLE HUBLI TOWARDS KUSGAL (NOT ON NH)	DHARWAD	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
557	ON SH, WITHIN 3 KMS FROM GOVERNMENT LOWER PRIMARY SCHOOL, HALESORABA TOWARDS SAGARA	SHIVAMOGGA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
558	ON RHS OF SH96 TOWRADS H CROSS, WITHIN 0.5 KM OF SAI VIDYA NIDHI (SVN) COLLEGE KARIYANAPURA	BANGALORE RURAL	REGULAR	110	Open	DODO	NA	25	30	750	24	105	DOL	15	5
559	ON NH, FROM KARNATAKA GRAMIN BANK, ARALIHALLI TO HEBBUR ENGLISH HIGHER PRIMARY SCHOOL NOT ABUTTING FLYOVER BRIDGE	SHIVAMOGGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
560	ON LHS OF SH 95 MALUR HOSKOTE ROAD TOWARDS HOSKOTE FROM PRAJWALA VIDYAMANDIR TILL NAMAKKAL M10 PETROLEUM - BPCL RO	KOLAR	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
561	ON NH 150, WITHIN 5KM FROM TEGNOOR KALYAN MANTAP RAWOOR TOWARDS CHITTAPUR	KALABURAGI	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
562	FROM MENASGERA CROSS TO DSK JIO BP PETROL PUMP ON NH-50 (ILKAL-KUSTAGI ROAD)	KOPPAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
563	WITHIN ARAKERA VILLAGE LIMITS ON SH	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
564	ON SH, WITHIN 3 KMS ON EITHER SIDE OF KSRTC BUS STAND HOSARITI , HAVERI TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
565	WITHIN KOTHODODDI VILLAGE LIMITS ON SH 61	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
566	ON RAYASANDRA MAIN ROAD FROM GR SAGAR NIVAS APARTMENT RAJIV GANDHI LAYOUT TO SRI MADDURAMMA DEVI TEMPLE HUSKURU	BANGALORE URBAN	REGULAR	150	SC CC-1	CFS	73.2	18	18	330	0	0	DOL	0	3
567	FROM BHIMA RIVER BRIDGE TO BANDALLI BUS STOP ON SH (YADGIR BIDAR ROAD)	YADGIR	REGULAR	80	Open-CC2	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
568	FROM CHINCHOLI CROSS ROAD NAVADGI ON SH 32 TO SHRI KRANTIVEERA SANGOLLI RAYANNA CIRCLE, HODEBEERANHALLI ON SH	KALABURAGI	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
569	ON SH-37 UJIRE - DHRMASTHALA ROAD BETWEEN KANYADI AND DHARMASTHALA	DAKSHINA KANNADA	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
570	FROM JAGALINGESHWARA TEMPLE, MADHWAR TO KUNTIMARI BUS STOP ON NARAYANAPET ROAD SH	YADGIR	REGULAR	80	ST	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
571	ON SH, WITHIN SHAMBOONAHALLI VILLAGE LIMITS	MANDYA	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
572	ON NH 275 FROM MADENAADU BUS STOP TO MADIKERI	KODAGU	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
573	ON RUDSET ROAD FROM INTERSECTION AT NH66 CONNECTING TO BRAHMAVARA - HEBRI ROAD	UDUPI	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
574	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVT PRIMARY SCHOOL, ALABURU (KOTTURU TALUK)	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
575	FROM AYYAPPASWAMI TEMPLE MADHANABHAVI TO SHREE ANJANEYA TEMPLE TADKODA ON SH 56	DHARWAD	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
576	ON SH, FROM GOVT HIGHER PRIMARY SCHOOL, KESARAMADU TILL ARPIT AGRO INDUSTRIES, KOWTHAMARANAHALLI	TUMKURU	REGULAR	92	Open	DODO	NA	25	30	750	24	105	DOL	15	5
577	ON SH, FROM NEW KSRTC BUS STAND, SHIKARIPURA TOWN TO KUTRAHALI VILLAGE (UDUGANI HOBLI , SHIKARIPURA TALUK)	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
578	FROM BUDDINI CROSS BUS STOP TO AROMA COLLEGE MUDGAL ON SH	RAICHUR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
579	WITHIN 2KM FROM BALLUTAGI CROSS TOWARDS GAJENDRAGAD ON RHS OF NH-367 (YELABURGA-GAJENDRAGAD)	KOPPAL	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
580	ON NH-150A, FROM CHIKKAJATAKA CROSS (JATAKA GATE) NEAR VADERAPURA TOWARDS NELLIGERE FOR 5 KMS.	MANDYA	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
581	ON LHS OF NH 75 FROM GOLDEN AMOON RESORT TO HOTEL ELITE NARSAPURA (RADISSON) TOWARDS HOSKOTE	KOLAR	REGULAR	130	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
582	TIPPU SULTAN PALACE ROAD/ALUR VENKATA ROAD IN CHAMRAJPET AREA, BETWEEN BPCL RO-TALLAM AUTOMOBILE AND POLIC BOOTH NR. BMTC KALASIPALYA BUSSTAND ENTRY	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4
583	FROM NANDI HILL ARTO OFFICE NEAR NANDI UPACHARA TO KARAHALLI BUS STOP ON SH 104	BANGALORE RURAL	REGULAR	80	ST	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
584	WITHIN NAGARAHALLI S MALLI LIMITS ON SH/NH	KALABURAGI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
585	ON SH05 SRI THIRUMALA GARUDA FUEL STATION IOCL MYLANDAHALLI TO SHANTINIKETAN PRIMARY AND HIGH SCHOOL THOTLI	CHIKKABALLAPUR	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
586	ON SH-27 MADIKERI TO SOMVARA PETE FROM URIMAZALU TO MADAPURA	KODAGU	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
587	WITHIN 2KM FROM NAKSHATRA BAR & RESTAURANT RANNA BELAGALI TOWARDS MUDHOL ON SH-18 (MAHALINGPUR-MUDHOL SECTION)	BAGALKOTE	REGULAR	112	Open	DODO	NA	25	30	750	24	105	DOL	15	5
588	ON NH75, BETWEEN NARAYANA GURU CIRCLE, BC ROAD AND MELKAR JUNCTION	DAKSHINA KANNADA	REGULAR	150	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
589	ON LHS OF NH75(OLD NH 4) TOWARDS KOLAR FROM PALM COUNTRY VILLA PLOTS NEAR CLOVE LEAF JUNCTION TILL FOB NEAR SRI VEERBHARASWAMY TEMPLE MUGABALA (BANGALORE RURAL DISTRICT LIMITS)	BANGALORE RURAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
590	ON PUNAGUR - MULABAGAL ROAD VIA HEBBANI, WITHIN 1 KM OF KARNATAKA LIMITS FROM ROCK VALLEY RESORT ENTERANCE GATE LOCATED NEAR ANDHRA BORDER	KOLAR	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
591	ON NH 167 FROM FAISAL PETROLEUMS IOCL EKLASPUR TO KRISHNA BRIDGE SHAKTINAGAR	RAICHUR	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
592	ON NH 150A, FROM DADESUGUR BRIDGE TO SH 128 AND NH 150 A INTERSECTION	RAICHUR	REGULAR	120	SC PH	CFS	24.8	35	35	1225	0	0	DOL	0	3
593	ON SH WITHIN 2 KMS ON EITHER SIDE OF AMPAR JUNCTION	UDUPI	REGULAR	100	OBC PH	DODO	NA	25	30	750	24	105	DOL	15	4
594	ON DR MC MODI HOSPITAL ROAD FROM SHANKAR MUTT CHOWK TO STAR CIRCLE ON CHORD ROAD (R.H.S)	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
595	ON SH 70, BETWEEN EXCELLENT PU COLLEGE , KALLABETTU AND KURLOTTU JUNCTION	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
596	ON NH, BETWEEN NANTHOOR JUNCTION AND PADIL JUNCTION ,MANGALORE	DAKSHINA KANNADA	REGULAR	200	OBC	CODO	55.2	30	30	900	32	0	BIDDING	30	4
597	WITHIN 2 KM FROM SAINIKETHAN SCHOOL ATHANI TOWARDS KOKATANUR ON SH	BELAGAVI	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
598	ON NH 67, WITHIN 2 KMS FROM GOVERNMENT HIGHER SECONDARY SCHOOL, GADIGANUR TOWARDS TORANAGALLU	VIJAYANAGARA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
599	ON NH, BETWEEN PERAJE AND ARLADKA	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
600	ON NH-150A, WITHIN 2 KMS FROM GOVT PRIMARY HOSPITAL, PANYADAHUNDI.	CHAMARAJNAGAR	REGULAR	151	OBC	DODO	NA	35	35	1225	32	120	DOL	15	4
601	ON SH-07, WITHIN 3 KMS FROM KSRTC BUS STAND, KIKKERI TOWARDS CHANNARAYAPATNA.	MANDYA	REGULAR	83	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
602	ON NH-75, WITHIN 5 KMS FROM JSS PUBLIC SHOOL, BAGE TOWARDS HASSAN.	HASSAN	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
603	ON SH 85 FROM SONANGERI TO SUBRAHMANYA TEMPLE CIRCLE VIA ELIMALE	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
604	WITHIN TALAMARI VILLAGE LIMITS ON SH	RAICHUR	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
605	FROM SAMUDHAYA BHAVANA MANAGULI TO MUTTAGI CROSS ON NH 50	VIJAYAPUR	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
606	ON SH, FROM GRAMA PANCHAYAT OFFICE, KARLE TOWARDS HASSAN TILL POST OFFICE, CHANNANGIHALLI.	HASSAN	REGULAR	84	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
607	FROM SHREE KALABAIRAVESHWARA SAMUDHAYA BHAVANA, KODIKOPPALU TILL GOVT SCHOOL THIRUMALAPURA, ON MANDYA - NAGAMANGALA RD.	MANDYA	REGULAR	88	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
608	ON SH, FROM GOVERNMENT HOSPITAL, SHIRALAKOPPA TO GRAMA PANCHAYATI,MANCHIKOPPA	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
609	WITHIN BAJOLGA K VILLAGE LIMITS ON ANY SH	BIDAR	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
610	WITHIN 2.5 KM FROM KADIWAL KALLAPUR CROSS TOWARDS BASAVANAL ON MAIN ROAD	BAGALKOTE	REGULAR	90	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
611	WITHIN MANGALORE CITY CORPORATION BETWEEN BUNTS HOSTEL AND NANTHOOR CIRCLE VIA MALLIKATTE	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
612	ON 1ST MAIN ROAD OF KENGERI UPANAGARA FROM BELAKU EYE HOSPITAL TILL KENGERI CHURCH BUS STOP	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
613	ON NELMANGALA DODDABALPURA ROAD BETWEEN BASAVANAHALLI RAILWAY UNDERPASS AND SRI MARUTHI KISAN PETROLEUM IOCL RO NR RAILWAY GOLAHALLI GATE	BANGALORE RURAL	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
614	WITHIN 2KMS FROM ANNADHANI PETROLEUMS BPCL NAREGAL TOWARDS GAJENDRAGAD ON SH-6	GADAG	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
615	ON SH 104 BETWEEN SARALAYA HOSPITAL SATHANUR TO SATHNUR KABRISTAN ENTRY	BANGALORE URBAN	REGULAR	90	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
616	ON RHS OF NH66, BETWEEN KASARKODA AND GUNAVANTHE CROSS) TOWARDS KARWAR	UTTARA KANNADA	REGULAR	120	OBC CC-1	DODO	NA	35	35	1225	24	120	DOL	15	4
617	ON LHS OF NH 160 ,FROM SHIRGUPPI BUSTAND TO ANNAPURNESHWARI PETROLEUM BPCL	BELAGAVI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
618	WITHIN 2KM FROM ALGUR BUSTAND TOWARDS JAMKHANDI ON LHS OF SH-34 (VIJAYAPUR-JAMKHANDI)	BAGALKOTE	REGULAR	90	Open PH	DODO	NA	25	30	750	24	105	DOL	15	5
619	ON SH, WITHIN UDRI VILLAGE LIMIT, SOBARA TALUK	SHIVAMOGGA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
620	FROM TANVI TRISHA KALYANA MANTAPA TILL POOJA GARMENTS (ON MG RD) HASSAN CITY.	HASSAN	REGULAR	139	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
621	ON LHS OF NH75 WITHIN 4 KMS FROM MANI JUNCTION TOWARDS MANGALORE (NOT ABUTTING FLY OVER BRIDGE)	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
622	WITHIN 2 KMS FROM SRI BASAVESHWARA TEMPLE CHIKALAPARVI TOWARDS SHRI RUDRAMINISHWARA MATHA CHIKALAPARVI ON SH 14	RAICHUR	REGULAR	80	OBC	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	4
623	ON SH 112 FROM SHANIVARASANTE TO KOODLIPETE	KODAGU	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
624	ON NH, WITHIN 6 KMS FROM SRI CHAITANYA TECHNO SCHOOL, KYATHASANDRA TOWARDS DOBBASPET.	TUMKURU	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
625	ON SH, WITHIN BHERYA VILLAGE.	mysore	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
626	ON MUTHSANDRA MAIN ROAD, FROM GOVT FIRST GRADE COLLEGE VARTHUR TILL SLN VOGUE VILLAS	BANGALORE RURAL	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
627	ON SH, WITHIN 3 KMS FROM ENTRANCE OF SHREE KENCHAMBA TEMPLE, HARIHALLI.	HASSAN	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
628	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVERNMENT PRIMARY SCHOOL, HOSAKERI (HAGARIBOMMANAHALLI TALUK)	VIJAYANAGARA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
629	FROM MARKUNDA BUS STOP TO TELANGANA KARNATAKA BORDER ON NH65	BIDAR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
630	ON SH-07, WITHIN 2 KMS FROM GRAM PANCHAYAT OFFICE, K BETTAHALLI TOWARDS CHINAKURALI.	MANDYA	REGULAR	85	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
631	ON SH 35 TOWARDS VARTHUR, FROM SAMRUDDHI CONVENTION HALL TO STERLING GRAND TOWNSHIP MAIN GATE	BANGALORE RURAL	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
632	FROM MADARSAB DARGA YELIHADAGALI TO SANGAMESHWAR TEMPLE KOHALLI ON ATHANI-GUDDAPUR ROAD	BELAGAVI	REGULAR	107	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
633	ON NH, FROM NANJAPPA LIFE CARE SUPER-SPECIALTY HOSPITAL TO P.E.S. INSTITUTE OF TECHNOLOGY AND MANAGEMENT, SHIVAMOGGA, NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	200	Open	CODO	55.2	30	30	900	32	0	BIDDING	30	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
634	FROM BHAGWAN BUDHA CIRCLE (SIDHARTHANAGARA) TILL THAVARE KATTE JUNCTION(NEAR CHAMUNDI HILL ENTRANCE) ON CHAMUNDI HILL RD.	mysore	REGULAR	120	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
635	ON NH, FROM LAL BAHADUR ARTS, SCIENCE AND S B SOLABANNA SHETTY COMMERCE COLLEGE, SAGARA TO GRAMA PANCHAYAT, SIRUVANTE, NOT ABUTTING FLYOVER BRIDGE	SHIVAMOGGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
636	ON NH, FROM AKKI ALUR BUS STAND TO GRAMA PANCHAYAT OFFICE , BALAMBEED (HANAGAL TALUK) NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
637	ON RHS OF SH, FROM MILE STONE 14 TO 17, MOKA	BELLARY	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
638	ON SH, WITHIN 3 KMS FROM KSBCL DEPOT (BHADRAVATHI) TOWARDS DODDIBEELU VILLAGE	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
639	ON IYANAHALLI - KANNAKATTI ROAD,WITHIN 2 KMS ON EITHER SIDE OF CHIRATAGUNDU CROSS (KUDLIGI TALUK)	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
640	FROM DR S R RAMANAGOUDAR HOSPITAL DHARWAD TO AFS HAJRA PALACE MARRIAGE HALL ON YETTINAGUDDA ROAD	DHARWAD	REGULAR	200	Open	CODO	55.2	25	30	750	32	0	BIDDING	30	5
641	WITHIN 2KMS FROM GLPS MATAKAL DEVANAHALLI TOWARDS TALIKOTE ON SH61	VIJAYAPUR	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
642	ON SH, FROM PACE COLLEGE, SHIVAMOGGA TO GOVERNMENT PRIMARY SCHOOL,MELINA HANASAWADI(V),(SHIVAMOGGA TO HOLALUR).	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
643	ON LHS OF NH 66 BETWEEN KC ROAD JUNCTION AND KOLYA CROSS TOWARDS MANGALORE	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
644	ON NH, WITHIN ULLUR VILLAGE LIMIT SAGARA TALUKNOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
645	ON NH-66 FROM KARWAR TO MAJALI	UTTARA KANNADA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
646	WITHIN CHALLAKERE CITY LIMITS,ON HIRIYUR TO BELLARY ROAD (NOT ON SH/NH)	CHITRADURGA	REGULAR	200	SC	CFS	30.4	18	18	330	0	0	DOL	0	3
647	ON LHS OF NH 648 STRR TOWARDS DEVANHALLI, WITHIN 6 KMS FROM SRI LAKSHMI VENKATESWARA FUEL STATION NAYARA RO KESTUR	BANGALORE RURAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
648	WITHIN 5KMS FROM YADAGIRI DISTRICT HOSPITAL ON NH/SH	YADGIR	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
649	ON SH, WITHIN 2 KMS FROM TERGAON TOWARDS HAVAGI(HALIYAL-BELGAUM ROAD)	UTTARA KANNADA	REGULAR	200	OBC	CODO	24.8	25	30	750	32	0	BIDDING	30	4
650	ON NH, FROM YEDEHALLI GRAM PANCHAYAT OFFICE TO HARATHALU CROSS, SAGARA TALUKA	SHIVAMOGGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
651	ON SH, BETWEEN ST ANTONY SHRINE CHURCH KEREKATTE AND HOSANGADI	UDUPI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
652	ON NH, FROM TALUK BACKWARD CLASSES WELFARE DEPARTMENT OFFICE TO GOVERNMENT FIRST GRADE COLLEGE, THIRTHAHALLI NOT ABUTTING FLYOVER BRIDGE	SHIVAMOGGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
653	ON SH, FROM KSRTC BUS DEPOT, KURUGODU TO VILLAGE PANCHAYAT OFFICE KALLUKAMBA	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
654	ON SH, WITHIN 1 KMS ON EITHER SIDE OF GOVT ITI COLLEGE, HAVAGI(HALIYALA TO KHANAPUR ROAD)	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
655	WITHIN 1KM FROM SHIRUR AGASI ARCH ON SH/NH	BAGALKOTE	REGULAR	100	ST	CFS	30.4	30	30	900	0	0	DOL	0	3
656	ON SH 10,WITHIN 2 KM FROM KURGUNTA CROSS SEDAM TOWARDS ADKI	KALABURAGI	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
657	WITHIN 2KM FROM SULEBHAVI CROSS TOWARDS HUDALI ON SH-54 (BELAGAVI-GOKAK)	BELAGAVI	REGULAR	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
658	ON SH, FROM VIDYODAYA COLLEGE, T NARSIPURA TOWARDS NANJANGUDU TILL GOVT SCHOOL, BANNAHALLI.	mysore	REGULAR	110	Open	DODO	NA	25	30	750	24	105	DOL	15	5
659	ON NH 69 FROM AP BORDER NEAR NANGLI TOLL PLAZA TO NAYARA RO SHREE LALITHA FUEL STATION	KOLAR	REGULAR	130	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
660	ON NH, WITHIN 4 KMS FROM KADUR BUS STAND TOWARDS BIRUR (NOT ABUTTING FLY OVER BRIDGE)	CHIKKAMAGALURU	REGULAR	150	OBC	DODO	NA	35	35	1225	32	120	DOL	15	4
661	ON NH, FROM KARNATAKA PUBLIC SCHOOL, MOSALE HOSAHALLI TILL NANDAGOKULA CONVENTION CENTRE, NAGATHAVALLI.	HASSAN	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
662	WITHIN 5 KMS FROM KUKKE SUBRAMANYA GUDI ARCH TOWARDS GUNDYA	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
663	ON SH, WITHIN 2 KMS ON EITHER SIDE OF PRIMARY HEALTH CENTER, HARANAHALLI	SHIVAMOGGA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
664	ON NH, FROM GRAMA PANCHAYAT OFFICE, YELWALA TOWARDS HUNSUR TILL SHRI GUDDE BASAVESHWARA TEMPLE, HULLENAHALLI.	mysore	REGULAR	155	OBC	DODO	NA	35	35	1225	32	120	DOL	15	4
665	ON NH66,WITHIN HONNAWAR TALUKA OFFICE TO KUMBARMAKKI ROAD CROSS AT HALDIPUR	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
666	WITHIN YEDRAMI VILLAGE LIMITS ON SH	KALABURAGI	REGULAR	100	Open CC-2	DODO	NA	25	30	750	24	105	DOL	15	5
667	ON SH, FROM PRIMARY AGRICULTURAL COOPERATIVE SOCIETY,KANAKAPURA TO KURUBAGONDA, HAVERI TALUK	HAVERI	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
668	WITHIN 1 KM FROM RANICHENNAMMA CIRCLE MINAJAGI ON SH	VIJAYAPUR	REGULAR	80	SC CC-1	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
669	ON NH, FROM RAMESHWARA RICE MILL TO SULUGODU BUS STOP, THIRTHAHALI TALUK, NOT ABUDUTING FLYOVER BRIDGE (THIRTHAHALLI TO KOPPA)	SHIVAMOGGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
670	FROM EACHANAL TANDA TO SUNKAL BUS STOP ON SH (LINGASUGUR-NARAYANPUR ROAD)	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
671	ON NH, WITHIN 3 KMS FROM GOVERNMENT HIGHER PRIMARY SCHOOL DODDAGUBBI TOWARDS HALAGERI NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
672	FROM SVP CHOWK TO HIRAPUR CROSS VIA HIRAPUR ROAD & MSK MILL ROAD (KALABURAGI CITY)	KALABURAGI	REGULAR	100	SC	CFS	55.2	25	30	750	0	0	DOL	0	3
673	WITHIN MANVI TOWN LIMITS ON SH	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
674	ON 80 FT ROAD BANSHANKARI FROM BOSCH STORE - ABHYUDHAYA RETAIL NEAR DR. MUTHURAJ UNDERPASS TILL MARUTI SUZUKI ARENA (BIMAL AUTO AGENCY, BANASHANKARI, BANGALORE)	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
675	WITHIN KOLKUNDA VILLAGE LIMITS ON SH122	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
676	ON LHS OF NH 48(PUNE TO BANGALORE HIGHWAY), FROM KYADIGGERE VILLAGE CROSS TO ANNAPOORNESHWARI HOTEL	CHITRADURGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
677	ON NH, WITHIN 3KMS ON EITHER SIDE OF PRIMARY HEALTH CENTRE (PHC),CHELLAGURKI , BELLARY TALUK NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
678	ON NH, BETWEEN KUNDAPURA KSRTC BUS STAND AND HEMMADI CROSS	UDUPI	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
679	ON NH 275 EXPRESSWAY WITHIN 1 KMS FROM HOTEL AMARAVATHI TOWARDS MADDUR.	MANDYA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
680	ON NH-544E, WITHIN AYYANAHALLI VILLAGE, MADHUGIRI TQ	TUMKURU	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
681	ON NH 69 BANGALORE HONNAWAR HIGHWAY BETWEEN UPPONI TO SOOLEKERI	UTTARA KANNADA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
682	ON SH, FROM PANCHAYAT OFFICE, HONNAVALLI TILL KSRTC BUS STAND, ARAKALAGUD.	HASSAN	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
683	FROM MUNDARAGI BUS STOP, YADGIR TO MAILAPUR BUS STOP ON NH-150 (YADGIR- RAICHUR ROAD)	YADGIR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
684	ON SH, WITHIN HOSURU VILLAGE LIMIT , CHANNAGIRI TALUK	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
685	ON SH, FROM NATIONAL RESIDENTIAL SCHOOL TO VINAYAKA MANGALYA MANDIRA, KONANDUR	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
686	ON NH-275K(RING ROAD), FROM SHUBHODINI CONVENTION CENTRE NEAR HEBBAL TILL CSI HOLY TRINITY CHURCH (MALAYALAM), HINKAL	mysore	REGULAR	200	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
687	ON NH 173 KADUR HIGHWAY FROM KAMANAKERE TO HIRENALLURU	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
688	FROM PIKLIHAL BUS STOP TO KILLARHATTI BUS STOP ON SH-29 (MUDGAL TO TAWARGERI ROAD)	RAICHUR	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
689	ON SH, WITHIN 2 KMS FROM SUN INDUSTRIES, UTTAVALLI VILLAGE, CHAMARAJANAGAR TQ	CHAMARAJNAGAR	REGULAR	96	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
690	ON LHS OF SH82(BANGALORE KADAPA HIGHWAY) FROM IOCL PETROL BUNK YENDRAKAYALAKUNTE NR RAYALPAD TILL ANDHRA BORDER	KOLAR	REGULAR	120	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
691	ON SH BETWEEN KATTINGERI TO PALLI	UDUPI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
692	ON LHS OF BYRAMANGALA ROAD, FROM POWERGRID SUBSTATION ENTRANCE TILL WIPRO KAWASAKI PRECISION MACHINERY PRIVATE LIMITED ENTERANCE	RAMNAGARA	REGULAR	150	Open	DODO	NA	25	30	750	32	105	DOL	15	5
693	SARJAPURA MARATHALLI ROAD FROM BELLANDUR POLICE SATION AMBLIPURA NEAR RING ROAD JN.TILL SPARSH HOSPITAL CARMELARAM SARJAPURA ROAD	BANGALORE URBAN	REGULAR	200	OBC PH	CODO	73.2	18	18	330	32	0	BIDDING	30	4
694	ON SH 76, FROM GOVERNMENT HIGH SCHOOL ITAGI (RANEENNUR) TO KANARA E VISION PU COLLAGE, RANEENNUR TALUK	HAVERI	REGULAR	100	SC PH	CFS	24.8	25	30	750	0	0	DOL	0	3
695	LAKSHMIPURA CROSS TO M.S. PALYA CIRCLE ON HESARGHATTA ROAD	BANGALORE URBAN	REGULAR	130	Open	DODO	NA	18	18	330	24	90	DOL	15	5
696	ON EITHER SIDE OF SH 99 MASTI TEKAL ROAD, WITHIN 3 KMS ROAD DISTANCE FROM THORALAKKI GOVT SCHOOL (LOCATED NEAR GOVT HOSPITAL)	KOLAR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
697	WITHIN DEOSUGUR TOWN LIMITS ON SH	RAICHUR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
698	ON NH-75, WITHIN 3 KMS FROM ABHYAAS INTERNATIONAL SCHOOL NEAR BELLUR CROSS.	MANDYA	REGULAR	145	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
699	WITHIN HIREHONNIHALLI VILLAGE LIMITS ON SH-1	DHARWAD	REGULAR	120	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
700	ON NH-75, FROM IMPERIAL HERITAGE HOTEL, KOLLAHALLI ON BLR- MLR NEW HWY TILL SURABHI NXT HOTEL, ANEMAHAL	HASSAN	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
701	ON BANNERGHATTA ROAD FROM IOCL KRISHNA SHLOKA PETROLEUM KALKERE TO BANNERGHATTA POLICE STATION	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
702	ON NH-373, WITHIN 3 KMS FROM CESCOM OFFICE, HOLENARSIPURA TOWARDS BHERYA.	HASSAN	REGULAR	125	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
703	ON SH, WITHIN 3 KMS FROM GRAM PANCHAYAT OFFICE, KECHCHENAHALLI TOWARDS KOTTURU	DAVANAGERE	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
704	FROM NAGARHAL CROSS TO RAMPUR CROSS ON MAIN ROAD	RAICHUR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
705	ON SH93 (HALIYAL-BELGAUM ROAD)WITHIN 4 KMS FROM HALIYAL BUS STAND TOWORDS ALNAVAR	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
706	BELLANDUR FROM SHELL RO, KADUBEESANAHALLI TO SILK BOARD JUNCTION ON OUTER RING ROAD (RHS TOWARDS SILK BOARD)	BANGALORE URBAN	REGULAR	130	Open CC-1	DODO	NA	30	30	900	24	120	DOL	15	5
707	FROM NH 66 INTERSECTION SADASHIVGHAD TO GOPASHITTA	UTTARA KANNADA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
708	ON NH, FROM GODREJ AGROVET LTD. TO MADANAYAKANAHALLI(V)(CHITRADURGA TO HOSPETE ROAD) NOT ABUTTING FLYOVER BRIDGE.	CHITRADURGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
709	ON SH 104 (DEVANHALLI SULIBELE ROAD) FROM BRIGADE ORCHARDS ENTERANCE DEVANHALLI TILL STRR JUCNTION	BANGALORE RURAL	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
710	mysore city, FROM GOVT AYURVEDA MEDICAL COLLEGE TO MANIPAL HOSPITAL VIA LIC CIRCLE.	mysore	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
711	ON SH 47,WITHIN 3 KMS FROM GOVT LOWER PRIMARY SCHOOL, DALAVI KATTE, HOSADURGA TALUK TOWARDS HULIYAR	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
712	FROM PACHAPPA CIRCLE, CHAMARAJNAGAR TILL KMF ENTRANCE NEAR RAMASAMUDRA.	CHAMARAJNAGAR	REGULAR	102	ST	CFS	30.4	25	30	750	0	0	DOL	0	3
713	ON SH-6, MUNDAGODU TO GUNJAVATI	UTTARA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
714	WITHIN BAILHONGAL TOWN LIMITS ON SH	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
715	FROM DEGULHALLI CROSS TO GUNDENNATTI BUS STOP ON SH 56 (KITTUR BIDI ROAD)	BELAGAVI	REGULAR	82	Open	DODO	NA	25	30	750	24	105	DOL	15	5
716	ON SH, FROM INTERSECTION OF RING ROAD WITH SH-33 (NEAR SRIRAMPURA JUNCTION) ON MANANTHAVADI ROAD TOWARDS HD KOTE TILL MOUNT LITERA ZEE SCHOOL.	mysore	REGULAR	90	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
717	ON SH 100 BETWEEN KUNJUR PANJA TO DERAJE INTERSECTION	DAKSHINA KANNADA	REGULAR	100	ST CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
718	ON NH,WITHIN 3 KMS FROM CHELLAGURI CROSS(JOLADARASHI) , BELLARY TALUK TOWARDS DONEKAL,NOT ABUTTING FLYOVER BRIDGE.	BELLARY	REGULAR	120	Open PH	DODO	NA	35	35	1225	24	120	DOL	15	5
719	WITHIN 2 KMS ON NH 948 TOWARDS KANAKPURA FROM SOMANAHALLI GATE (ON THITAHALLI - SOMANAHALLI ROAD NH JUNCTION)	BANGALORE URBAN	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
720	WITHIN BASAVANA BAGEWADI TOWN LIMITS ON NH/SH	VIJAYAPUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
721	ON NH, WITHIN TAMMENAHALLI VILLAGE LIMIT MOLAKALMURU TALUK NOT ABUTTING FLYOVER BRIDGE.	CHITRADURGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
722	FROM SC MOTOR CIRCLE, BELAGAVI TO SUVARNA VIDHANA SOUDHA ON NH (BELGAVI-DHARWAD ROAD)	BELAGAVI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
723	ON SH, FROM GOVT HIGH SCHOOL, BOODNURU TO GOVT PRIMARY SCHOOL, GIRIPURA MATHA,HADAGALI TALUK	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
724	ON KARKALA - HIRIYADKA ROAD FROM BAILOOR TO KUKKUNDLOOR JUNCTION	UDUPI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
725	ON NH-373, WITHIN 2 KMS FROM KARNATAKA GRAMIN BANK, HAMPAPURA.	mysore	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
726	ON LHS OF NH 44 - TOWARDS HYDERABAD BETWEEN JUNCTION POINT OF BB ROAD & NH (OP. HOTEL BHAGWATI GRAND) AND BPCL COCO CHIKBALAPURA NEAR HINDUSTAN UNILEVER WARE HOUSE	CHIKKABALLAPUR	REGULAR	130	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
727	ON LHS OF NH 173, WITHIN 2 KMS FROM BHARATH GAS GODOWN - AKSHAY GAS AGENCY - HOSADURGA, TOWARDS HOSADURGA NOT ABUTTING FLYOVER BRIDGE.	CHITRADURGA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
728	ON NH 66 ,WITHIN MANGALORE CITY CORPORATION, BETWEEN KOTTARA CHOWKI & KULOOR BRIDGE (NOT ABUTTING FLY OVER BRIDGE)	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	30	30	900	32	0	BIDDING	30	5
729	DOMLUR KENDRIYA BHAVAN TO MARATHALI ON HAL OLD AIRPORT ROAD TILL NH 44 CROSSING	BANGALORE URBAN	REGULAR	200	Open CC-1	CODO	73.2	18	18	330	32	0	BIDDING	30	5
730	ON NH-373, WITHIN 8 KMS FROM BRIGADE PRE UNIVERSITY COLLEGE, HASSAN TOWARDS BELUR.	HASSAN	REGULAR	140	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
731	WITHIN 3 KMS ON EITHER SIDE OF RENUKADEVI HIGH SCHOOL, RENUKAPUR, CHALLAKERE TALUK(ON RENUKAPURA TO KATANDEVARAKOTE ROAD)	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
732	ON NH-69, WITHIN 6 KMS FROM SRI LAKSHMIRANGANATHA SWAMY TEMPLE, GANJIGERE PURA (G PURA) TOWARDS BANAVARA.	HASSAN	REGULAR	140	Open	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
733	ON HUSKUR ROAD (NOT ON NH) BETWEEN UNIBIC FACTORY TILL MAKALI CROSS ON NH 48	BANGALORE URBAN	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
734	FROM CHANDRAMOULESHWAR TEMPLE HUBLI TO HCG SUCHIRAYU HOSPITAL VIA 80FEET ROAD	DHARWAD	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
735	ON LHS OF NH75 ON BENGALURU TIRUPATI HIGHWAY WITHIN 3 KMS TOWARDS KOLAR FROM EMPIRE RESTAURENT NR. KENDATTI NARSAPURA	KOLAR	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
736	WITHIN KORDAMPALLI VILLAGE LIMITS ON SH	KALABURAGI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
737	ON ARABIC COLLEGE MAIN ROAD NAGAWARA	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
738	ON NH, WIHIN 3 KMS ON EITHER SIDE OF GOVT. HIGH SCHOOL, GOWTHAMAPURA NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
739	ON NH, WITHIN 2 KMS FROM SAKARAYAPATTANA TOWARDS KADUR	CHIKKAMAGALURU	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
740	ON NH,WITHIN 4 KMS FROM BENAKA HOSPITAL, UJIRE TOWARDS BELTHANAGDY	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
741	FISHING HARBOUR MALPE-3	UDUPI	REGULAR	250	Open	DODO	NA	13	13	169	32	40	DOL	15	5
742	ON NH-150A, WITHIN 3 KMS FROM TALUK GOVT HOSPITAL, TURVEKERE TOWARDS SORAVANAHALLI.	TUMKURU	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
743	WITHIN 4 KMS FROM ASHIRVAD AUTO STAND JUNCTION, SANTHE KATTE ON MALPE - KODAVOOR ROAD.	UDUPI	REGULAR	80	ST	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
744	ON SH-84, WITHIN 2 KMS FROM GOVT HIGH SCHOOL, KERAGODU.	MANDYA	REGULAR	85	Open	DODO	NA	25	30	750	24	105	DOL	15	5
745	ON HESARGHATTA ROAD (SH39) BETWEEN GM INFINITE SILVER SPRING FIELD BANGALORE PATIDAR SAMAJ BHAVAN	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
746	ON SH 24, FROM GOVERNMENT HIGHER PRIMARY SCHOOL, SHRAVANAGERE TO GOVT HIGH SCHOOL HARIYABBE, HIRIYUR TALUK	CHITRADURGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
747	ON SH, FROM GRAMA PANCHAYATH OFFICE RAYAPURA, TO SVBS FILLING STATION (H.P.C.L) MOLAKALMURU TALUK	CHITRADURGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
748	ON SH, WITHIN 2 KMS FROM GOVERNMENT SCHOOL, MADAPURA TOWARDS GUTTAL (RANEENNUR TO GUTTAL)	HAVERI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
749	ON SH, WITHIN 3 KMS FROM TUMKUR VEGETABLES & FLOWER MARKET ENTRANCE, ANTHARASANAHALLI TOWARDS ARAKERE.	TUMKURU	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
750	ON NH150A, FROM HANAGAL TO KELAGALAHATTI, MOLAKALMURU TALUK	CHITRADURGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
751	ON SH-86, WITHIN HEDIYALA VILLAGE.	mysore	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
752	WIHIN 2 KMS ON EITHER SIDE OF NWKRTC BUS DEPOT, ANKOLA TOWN NOT ON NH	UTTARA KANNADA	REGULAR	100	SC	CFS	30.4	18	18	330	0	0	DOL	0	3
753	ON SH, FROM SHREE SURA SARASWATI GURUKULA, BUDAGATTI TO HOSARITI CROSS, HAVERI TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
754	ON LHS OF SH 17 BENGALURU MYSORE HIGHWAY (OLD NH 275), FROM NINGEGOWDANA DODDI BUS STOP TILL COMMUNITY HEALTH CENTER BY TOYOTA BIDADI	RAMNAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
755	ON NH 948A RAMANGARA - MAGADI ROAD, WITHIN 3 KMS FROM S S CONVENTION HALL NEAR NH 275 CROSSING UNDERPASS	RAMNAGARA	REGULAR	120	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
756	ON LHS OF NH 75, TOWARDS TUMKUR ON SERVICE LANE, BETWEEN TATA MOTORS SHOWROOM NEAR NAVAYUGA TOLL AND SONDEKOPPA ROAD CIRCLE ON NH	BANGALORE URBAN	REGULAR	130	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
757	ON SH, FROM NALKURU CROSS TO GOVERNMENT FIRST GRADE COLLEGE, HANGAL	HAVERI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
758	ON SH91(SIDDAPURA-VIRAJPET ROAD), WITHIN 5 KMS FROM SIDDAPURA-MYSORE ROAD INTERSECTION TOWARDS VIRAJPET	KODAGU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
759	ON SH106,WITHIN 5KMS FROM SHRI KALASESHWAR SWAMY GUDI, KALASA TOWARDS KOTTIGEHARA	CHIKKAMAGALURU	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
760	ON BOTH SIDES OF ON SH 99 SRINIVASPURA- KOLAR ROAD, FROM C. BYRE GOWDA INSTITUTE OF TECHNOLOGY ENTRY GATE (NEAR THORADEVANHALLI) TILL BPCL RO SRI LAKHMI FILLING STATION (NR SH 5 JUNCTION)	KOLAR	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
761	ON NH, WITHIN BANKAPURA VILLAGE LIMIT,SHIGGAON TALUK NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
762	FROM GOVT PU COLLEGE KALLUR TO ABHAYANJANEYA TEMPLE KASBE CAMP ON SH23	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
763	ON NH 52, FROM RONIHAL CROSS TO SHREE SANGAMESHWARA WEIGH BRIDGE KOLHAR	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
764	ON BOMMASANDARA JIGANI MAIN ROAD CARL ZEISS INDIA BANGALORE PVT LTD ENTRY GATE TILL MEDAX VIJAYASHREE HOSPITAL NR JIGANI APC CIRCLE	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
765	ON SH,WITHIN ANEKALLU VILLAGE LIMIT (HAGARIBOMMANAHALLI TALUK)	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
766	ON SH 15, WITHIN 2KMS FROM MANNAEKHENALLI (INTERSECTION WITH NH 65) TOWARDS BIDAR	BIDAR	REGULAR	100	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
767	ON NH, FROM HAZRATH SYED MUHAMMED JAMALUDDIN SHAH QADRI TILL MAHESHWARA FILLING STATION, IOCL IN BANAVARA.	HASSAN	REGULAR	130	Open-CC2	DODO	NA	35	35	1225	24	120	DOL	15	5
768	EJIPURA SRINIVAGILU SIGNAL NEAR GATE NO 5 OF ASC TRAINING CENTER TO KORAMANGALA WATER TANK NR AEE OFFICE ON 100 FT ROAD	BANGALORE URBAN	REGULAR	160	OBC CC-1	DODO	NA	18	18	330	32	90	DOL	15	4
769	FROM NEERMARGA TO BENJANAPADAVU ON MAIN ROAD	DAKSHINA KANNADA	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
770	ON SH-33, WITHIN 2 KMS FROM SRI MATHITHALESWARA TEMPLE ENTRANCE, NELAMAKANAHALLY VILLAGE.	MANDYA	REGULAR	92	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
771	FROM GOVERNMENT LOWER PRIMARY SCHOOL BYALIHALLI TO GOVERNMENT LOWER PRIMARY SCHOOL RAMATNAL ON SH129	RAICHUR	REGULAR	80	OBC	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	4
772	WITHIN 3 KMS FROM M B R P U COLLEGE, SIRIGERE CHITRADURGA TALUK ON MAIN ROAD (BLR COLLGE ROAD)	CHITRADURGA	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
773	ON SH 66 KUDREMUKH TO KALASA	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
774	WITHIN MUDBI VILLAGE LIMITS ON ANY SH	BIDAR	REGULAR	80	OBC	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	4
775	FROM NEERABUDIHALLI VILLAGE TO SHRI KEDARNATH SUGAR & AGRO PRODUCTS ON MAIN ROAD (LOKAPUR-KADARKOPPA- HOOLAGERI)	BAGALKOTE	REGULAR	80	SC	CFS-Hq Lite	24.8	25	30	750	0	0	DOL	0	3
776	WITHIN 2KM FROM KSRTC BUSTAND MURDI TOWARDS KOPPAL ON SH-36 (KUSTAGI-KOPPAL)	KOPPAL	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
777	ON MAIN ROAD, WITHIN KADATHI VILLAGE TO VATLAHALLI LIMITS (HARAPANAHALLI TALUK)	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
778	ON SH, WITHIN 2 KMS FROM SORABA TALUK OFFICE TOWARDS SHIRALAKOPPA	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
779	ON NH 44 TOWARDS BANGALORE BETWEEN SHRI CHITRAVATHI DEVASTHANA / RTO OFFICE ROAD AND SRI BAGAVATHI GRAND VEG RESTAURANT (OP. NH - CHIKBALAPURA ENTRY POINT JUNCTION)	CHIKBALAPURA	REGULAR	130	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
780	FROM KATAKANAHALLI CROSS TO UKKALI BUS STOP ON SH (VIJAYAPUR-UKKALI ROAD)	VIJAYAPUR	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
781	ON LHS OF NH 948 TOWARDS BANGALORE BETWEEN BRIGADE MEADOWS ENTRANCE & DAYANAND SAGAR INSTITUTION ENTRY GATE, ON KANAKPURA ROAD	BANGALORE URBAN	REGULAR	130	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
782	FROM PANHAYAT OFFICE, RAMANAHALLI TILL MILK DAIRY, MAHADEVAPURA (ON MAHADEVAPURA MAIN RD).	mysore	REGULAR	93	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
783	WITHIN BHIMARAYANGUDI VILLAGE LIMITS ON SH	YADGIR	REGULAR	80	ST	CFS-Hq Lite	30.4	25	30	750	0	0	DOL	0	3
784	ON SH-79, WITHIN KAMAGERE VILLAGE LIMIT, KOLLEGALA TQ	CHAMARAJNAGAR	REGULAR	92	Open	DODO	NA	25	30	750	24	105	DOL	15	5
785	WITHIN 1 KMS ON EITHER SIDE OF NWKRTC BUS STAND, HAVERI ON OLD PB ROAD(WITHIN CITY LIMIT)	HAVERI	REGULAR	200	Open	CODO	30.4	18	18	330	32	0	BIDDING	30	5
786	ON OLD BUS STAND ROAD- HOSKOTE FROM HJSS CONVENTION HALL NEAR SHREE AVIMUKTHESHWARA SWAMI TEMPLE TILL SHREE BASAVESHWARA SWAMY STATUE NEAR TALUK LIBRARY	BANGALORE RURAL	REGULAR	130	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
787	ON NH 69 KOLLUR- SRINIVASPURA ROAD FROM SUNSIP AGRO PROCESSORS FACTORY BOVINACHAPALLI TILL JAMIA MASJID CROSSING ON RAJAJI ROAD IN SRINIVASPURA	KOLAR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
788	ON HIGHWAY,WITHIN 5KMS DR AMBEDKAR CIRCLE ,HIREMAGALUR TOWARDS BELUR	CHIKKAMAGALURU	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
789	WITHIN AGARKHED VILLAGE LIMITS ON NH/SH	VIJAYAPUR	REGULAR	80	Open	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
790	WITHIN BHEEMASAMUDRA VILLAGE LIMIT, CHITRADURGA ON SH	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
791	ON SH-84, WITHIN 2 KMS FROM GOVT HIGHER PRIMARY SCHOOL, HANIYAMBADI TOWARDS MANDYA.	MANDYA	REGULAR	87	Open	DODO	NA	25	30	750	24	105	DOL	15	5
792	ON NH-373, WITHIN 10 KMS FROM GRAMA PANCHAYAT OFFICE, DODDAHALLI TOWARDS HOLENARSIPURA.	HASSAN	REGULAR	130	SC PH	CFS	24.8	35	35	1225	0	0	DOL	0	3
793	ON GOLLARA PALYA ROAD FROM OLD BANGALORE - MYSORE HIGHWAY JUNCTION TO URBAN HEALTH CENTRE RAYARADODDI ON RIGHT HAND SIDE TOWARDS GOLLARA PALYA IN BIDADI	RAMNAGARA	REGULAR	100	OBC PH	DODO	NA	25	30	750	24	105	DOL	15	4
794	WITHIN 3KMS FROM JALIHAL CROSS TOWARDS SARJAPUR ON NH-367	BAGALKOTE	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
795	ON SH-21, WITHIN 2 KMS FROM JAYAMMA CHANDRASEKHAR CONVENTION HALL, HARADUR.	mysore	REGULAR	154	Open	DODO	NA	25	30	750	32	105	DOL	15	5
796	ITI LAYOUT SECTOR 7, HSR LAYOUT	BANGALORE URBAN	REGULAR	160	OBC	DODO	NA	18	18	330	32	90	DOL	15	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
797	WITHIN ARAVATAGI VILLAGE LIMITS ON NH67	DHARWAD	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
798	WITHIN ALAND TOWN MUNICIPAL LIMITS ON SH, OTHER THAN SH10	KALABURAGI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
799	ON SH-33, FROM MALL OF MYSORE TILL NANJANGUD RING ROAD JUNCTION. (ON JEVARGI-CHAMRAJNAGAR RD)	mysore	REGULAR	136	Open	DODO	NA	18	18	330	24	90	DOL	15	5
800	ON SH, FROM ANGANAVADI,RANGANATHAPURA(V) TO PRIMARY HEALTH CENTER,ANTHARAGANGE(V)	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
801	ON LHS OF NH 648 STRR - FROM THE ENTRY GATE OF LABOR DEPT. TEMPORARY HOUSING COMPLEX OBADENAHALLI TO GITAM UNIVERSITY ENTERANCE	BANGALORE RURAL	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
802	BETWEEN BELAHALLI CROSS AND THANISANDRA RAILWAY UNDERPASS NEAR MONARCH SERENITY APARTMENT ON THANISANDRA MAIN ROAD (SH-104)	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
803	FISHING HARBOUR MANGALORE (OLD BUNDER PORT) -2	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	13	13	169	32	40	DOL	15	5
804	ON KIADB ITIR ROAD FROM ENTRY NEAR GITAM UNIVERSITY ON NH 648 TILL FOXXCON PLANT CHAPPARADAHALLI (NOT ON NH/SH)	BANGALORE RURAL	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
805	ON NAGARBHAVI MAIN ROAD FROM MODDLAPALYA SIGNAL TILL NAGARBHAVI CIRCLE ON RING ROAD	BANGALORE URBAN	REGULAR	180	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
806	ON SH, FROM SRI RAJGURU PETROLEUMS (BPCL) TO GOVERNMENT ENGINEERING COLLEGE, HUVINA HADAGALI	VIJAYANAGARA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
807	ON SH69(MUNDGOD-HUBLI ROAD), WITHIN 4KMS ON EITHER SIDE OF MUNDGOD SHIVAJI CIRCLE	UTTARA KANNADA	REGULAR	100	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
808	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVERNMENT HOSPITAL, HALLUR, RATTIHALLI	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
809	WITHIN KUDUREMANI VILLAGE LIMITS ON SH-121 (BELAGAVI- VENGURLA ROAD)	BELAGAVI	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
810	ON SH 96 KOLAR BETHAMANGALA ROAD, FROM KSPCB OFFICE KOLAR (ADJECENT TO TAMKA INDUSTRIAL AREA)TO GOVT PRIMARY SCHOOL HALARAKUNTE	KOLAR	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
811	WITHIN 2KM FROM HAZARAT TIPPU SULTAN CHOUK, KHANAPUR TOWARDS MK HUBLI ON KHANAPUR - MK HUBLI ROAD	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
812	ON NH69 OF LHS TOWARDS CHIKKALAPURA WITHIN 3 KMS FROM SRI BALAJI CONVENTION HALL AMMANAKERE	CHIKKABALLAPUR	REGULAR	130	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
813	WITHIN MANGALORE CITY CORPORATION ON KADRI KAMBLA ROAD	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
814	ON NH, WITHIN 2KMS ON EITHER SIDE OF VAGDEVI INTERNATIONAL RESIDENTIAL SCHOOL, HOLALKERE	CHITRADURGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
815	ON SH, FROM AGRICULTURAL RESEARCH CENTRE,SIRUGUPPA TO NAYARA PETROL BUNK UJJWALLA PETROLEUM, BOGGURU	BELLARY	REGULAR	100	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
816	ON LHS OF NH 648 TOWARDS MALLASANDRA , WITHIN 1 KM FROM NAVEERA RESORT	BANGALORE URBAN	REGULAR	130	OBC CC-1	DODO	NA	35	35	1225	24	120	DOL	15	4
817	ON SH, FROM PRAGATHI KRISHNA GRAMIN BANK, CHIGATERI TO GOVT HIGH SCHOOL, MYDUR (HARANAPANHALLI TALUK)	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
818	ON SH, WITHIN 2 KMS FROM GRAM PANCHAYAT OFFICE, HETHUR	HASSAN	REGULAR	86	Open PH	DODO	NA	25	30	750	24	105	DOL	15	5
819	WITHIN SHIRHATTI TOWN LIMITS ON SH/NH	GADAG	REGULAR	80	SC	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
820	WITHIN 2KMS FROM HATALGERI CROSS TOWARDS LAKKUNDI ON GADAG-HATALGERI ROAD	GADAG	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
821	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GOVT HOSPITAL, MUSTURU, JAGALURU TALUK	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
822	ON LHS OF SH-90 BETWEEN KAKKABE TOWN MARKET TO KHLIRIHA MASJID, KUNJILA VILLAGE	KODAGU	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
823	ON SH, WITHIN 3 KMS FROM MALE MAHADESHWARA TEMPLE, ALAMBOORU TOWARDS NAGARLE	mysore	REGULAR	85	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
824	BESCOM OFFICE GUDIBANDE TO KSRTC BUSSTAND ON GAURIBIDANUR- GUDIBANDA ROAD SH 94	CHIKKABALLAPUR	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
825	WITHIN 3 KMS FROM TUNGA BHADRA BRIDGE TOWARDS HITNAL TOLL PLAZA ON NH50	KOPPAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
826	FROM KUTHAR JUNCTION TO NADUPADAVU CROSS ON KONAJE UNIVERSITY ROAD	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
827	ON NH-373, FROM VARALAXMI FUEL STATION IOCL NEAR INTERSECTION WITH NH-275, MALLINATHAPURA TOWARDS KRISHNARAJANAGAR TILL GOVT HIGHER PRIMARY SCHOOL, HOSARAMANAHALLI.	mysore	REGULAR	137	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
828	ON RHS OF NH 648 FROM HOSKOTE TOWARDS MALLASANDRA WITHIN 4 KM FROM NH75 JUNCTION	BANGALORE RURAL	REGULAR	130	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
829	ON ATTIBELE ANEKAL ROAD, WITHIN 2KM FROM TVS INSTITUTE FOR QUALITY AND LEADERSHIP (IQL)	BANGALORE URBAN	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
830	ON SH, FROM MILITARY CAMP CIRCLE TO AMALA MATHA HOSPITAL, HIRIYUR, BHADRAVATHI	SHIVAMOGGA	REGULAR	100	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
831	FROM BUS DEPOT JEWARGI TO HAZRAT KHALIFATUR RAHMAN DARGA FIROZABAD ON NH 50 KALABURAGI-VIJAYAPUR ROAD	KALABURAGI	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
832	ON SH 24, FROM KARNATAKA GRAMIN BANK TO MEETU BALA JI HP BUNK MADADHAKERE, HOSADURGA TALUK	CHITRADURGA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
833	ON SH, FROM GM AGRO & BEVERAGES INDIA PVT LTD TO LIC OF INDIA, HARIHARA,NOT ABUTTING FLYOVER BRIDGE.	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
834	ON SH,WITHIN 3 KMS FROM 33KV SUBSTATION,ITAGI, KAMPLI TALUK TOWARDS KAMPLI	BELLARY	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
835	ON NH-48, FROM MANANGI THANDA BUS STOP TILL GOVT HIGH SCHOOL, TAVAREKERE TOWARDS HIRIYUR ON RHS	TUMKURU	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
836	ON LHS OF NH 75 TOWARDS KOLAR ON MULBAGAL BYPASS ROAD FROM SRIPADARAJA MATHA ENTERANCE TILL SRI PHOOLCHAND JAIN CONVENTION HALL CROSS	KOLAR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
837	ON SH ,WITNIN 3 KMS ON EITHER SIDE OF GOVERNMENT POLYTECHNIC, BANKAPURA, SHIGGON TALUK	HAVERI	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
838	WITHIN 2KMS FROM GOVT DEGREE COLLEGE TOWARDS YADGIR DC OFFICE	YADGIR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
839	NEOTOWN ROAD FROM SMONDO 3 APARTMENT TILL LAA MOONSTONE APARTMENT	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
840	ON NH-48, FROM PJ MARGO PVT LTD, TUMKUR TOWARDS SIRA TILL HOTEL TRICOLOR NEAR VRL BUS - CHECKPOINT, VASANTHANARSAPURA	TUMKURU	REGULAR	145	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
841	ON RAMASAMUDRAM - CHINTAMANI ROAD FROM MORARJI DESAI RESIDENTIAL SCHOOL, SOMAYAJALAHALLI TILL SHELL PETROL PUMP MALDEPALLI	KOLAR	REGULAR	100	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
842	ON 1ST CROSS ROAD FROM SHANKAR MATT CHOWK TO HAVANUR CIRCLE (R.H.S)	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
843	ON SH, WITHIN 2 KMS ON EITHER SIDE OF KAMMA SANGAM BHAVAN, KAMPLI	BELLARY	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
844	ON LHS OF NH 75, WITHIN 2 KMS FROM BUDOLI TOWARDS GADIYAR JUNCTION	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
845	VARTHUR SARJAPUR ROAD FROM DRUVA DAFFODILS APARTMENT (OP. KFC PIZZAHUT) TILL BALAGERE ROAD JUNCTION	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4
846	ON LHS OF NH 48 FROM RAMYA RESIDENCY TO MUMMIGATTI BUS STOP	DHARWAD	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
847	ON NH, FROM FIRST NEURO HOSPITAL, PADIL TO SAHYADRI ENGINEERING COLLEGE TOWARDS BANAGLORE	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	30	30	900	32	0	BIDDING	30	5
848	ON 1ST MAIN BASWESHWAR NAGAR FROM HAVANUR CIRCLE PAVITHRA PARADISE TO WEST OF CHORD ROAD	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
849	ON SH, FROM HONGIRANA PU COLLEGE TO GOVT. JUNIOR PRIMARY, YALAGALALE	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
850	ON NH,WITHIN 3 KMS ON EITHER SIDE OF MORARJI DESAI MODEL RESIDENTIAL SCHOOL,BADAGOLLARAHATTI NOT ABUTTING FLYOVER BRIDGE.	CHITRADURGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
851	ON SH-03, WITHIN 4 KMS FROM KENCHAGANAHALLI BUS STAND.	TUMKURU	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
852	WITHIN 2KMS FROM SHREE GURU NIRUPADHREESHWARA TEMPLE CHIKKOPPA TOWARDS HULKUND ON SH (YERGATTI-YADAWAD ROAD)	BELAGAVI	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
853	ON NH66 BETWEEN BYNDOOR-KOLLUR ROAD INTERSECTION AND BIJOOR RLY STATION	UDUPI	REGULAR	150	OBC	DODO	NA	35	35	1225	32	120	DOL	15	4
854	FROM BALAT K TO SANGAM CROSS INTERSECTION WITH NH50 AND SH 34. (AURAD- SADASHIVAGOUDA ROAD)	BIDAR	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
855	ON SH, FROM KSRTC BUS STAND, HAGARIBOMMANAHALLI TO MINI VIDHAN SOUDHA,TALUK ADMINISTRATIVE OFFICE, H.B HALLI	VIJAYANAGARA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
856	ON SH, WITHIN THUMARIKOPPA VILLAGE LIMIT, HIREKERUR TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
857	SARJAPURA MARATHALLI ROAD FROM SPARSH HOSPITAL CARMELARAM SARJAPURA ROAD TILL SRINIVAS FILLING STATION BPCL DOMMASANDARA CIRCLE ON SARJAPURA ROAD	BANGALORE URBAN	REGULAR	200	Open CC-1	CODO	73.2	18	18	330	32	0	BIDDING	30	5
858	ON SH-84, WITHIN MIKKERE VILLAGE.	MANDYA	REGULAR	85	Open	DODO	NA	25	30	750	24	105	DOL	15	5
859	ON SH, FROM GRAM PANCHAYAT TEGGIGHALLI TO MANNUR BUS STAND, SAVANUR TALUK	HAVERI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
860	WITHIN 5 KMS FROM MARUR HANDPOST BUS STOP TOWARDS KUDUR ON STATE HIGHWAY 94	RAMNAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
861	ON SH-34 FROM GANESH GUDI TO RAMNAGAR	UTTARA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
862	BELLANDUR ROAD FROM SHELL RO, KADUBEESANAHALLI TO SILK BOARD JUNCTION ON OUTER RING ROAD (ON LHS TOWARDS SILK BOARD)	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
863	ON MAIN ROAD, FROM GOKARNA TO NH 66 INTERSECTION NOT ON NH	UTTARA KANNADA	REGULAR	120	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
864	ON SH 95 MALUR BANGARPET ROAD FROM BANK OF BARODA, CHIKKAKUNTHUR TO MAIN ENTERANCE OF DARGAH HAZRATH JALAL FAKHRUDDIN SHAH, KONDASHETTIHALLY	KOLAR	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
865	FROM RADIANT RESORT TILL NARAYAN REDDY CIRCLE ON DINNEPALYA ROAD.	BANGALORE URBAN	REGULAR	125	Open	DODO	NA	18	18	330	24	90	DOL	15	5
866	WITHIN KARAKNALLI VILLAGE LIMITS ON SH	BIDAR	REGULAR	100	Open CC-2	DODO	NA	25	30	750	24	105	DOL	15	5
867	mysore city, on mananthavadi rd between b. basavalingappa circle (silk factory circle), and christ college, srirampura.	mysore	REGULAR	160	OBC CC-1	DODO	NA	18	18	330	32	90	DOL	15	4
868	JIGANI INDUSTRIAL AREA FROM AKSHAY PATRA CIRCLE TILL ESI DISPENSERY VIA TATA ADVANCE PLANT	BANGALORE URBAN	REGULAR	150	SC CC-1	CFS	73.2	18	18	330	0	0	DOL	0	3
869	WITHIN 3 KMS DISTANCE FROM INDIA FOOD PARK, VASANTHANARSAPURA, BATSANDRA VILLAGE, TUMKUR (NOT ON NH)	TUMKURU	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
870	WITHIN MANGALORE CITY CORPORATION, BETWEEN KANKANADY CIRCLE AND JYOTHI CIRCLE VIA BENDOOR WELL CIRCLE	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
871	ON SH, WITHIN 3 KMS ON EITHER SIDE OF GRAM PANCHAYAT OFFICE, KAKKUPPI (KUDLIGI TALUK)	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
872	ON KAMMANAHALLI MAIN ROAD BETWEEN UNION BANK (R.S PALYA BRANCH) TILL SREE MOOKAMBIKA ENTERPRISES IOCL PUMP	BANGALORE URBAN	REGULAR	200	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
873	ON LHS OF NH48(PUNE TO BANGALORE HIGHWAY),KOLATADAHATTI VILLAGE CROSS TO JG HALLI	CHITRADURGA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
874	BETWEEN KANYANA AND MANDIYOOR ON BAYARU - UPPALA ROAD	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
875	WITHIN 1 KM FROM SRI BASAVESHWAR CIRCLE SANTAPUR ON SH	BIDAR	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
876	ON NH-275, FROM GRAND MAURYA HOTEL & RESORT TILL L D KOPPALU CIRCLE TOWARDS HUNSUR.	mysore	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
877	ON SH HIRENALLUR TO KADUR BYPAASS NOT ABDUCTING FLYOVER VIA THURUVANAHALLI VILLAGE	CHIKKAMAGALURU	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
878	FROM HERITAGE SHELTERS RESORT, HULIKERE TILL SIR M VISVESWARAYA CIRCLE, KATTERI ON KRS - PANDAVPURA MAIN ROAD.	MANDYA	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
879	FROM GOVT HIGH SCHOOL, NANJEDEVANAPURA TILL GRAM PANCHAYAT, HARAVE.	CHAMARAJNAGAR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
880	ON SH, FROM SHRI SANGAN BASAV KALYAN MANTAP TO CHANNABASAVESHWARA CIRCLE, BANNIKOPPA, SHIGGAON TALUK	HAVERI	REGULAR	100	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
881	ON KOLLEGALA MAIN ROAD FROM KANAKA SAMUDAYA BHAVANA TILL RM CONVENTION HALL	CHAMARAJNAGAR	REGULAR	87	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
882	FROM PEOPLE TREE HOSPITAL TO EICHER DEALERSHIP (SRI LAKSHMI MOTOR SERVICE PVT LTD)NEAR PEENYA METRO ON LHS OF TUMKUR ROAD TOWARDS TUMKUR.	BANGALORE URBAN	REGULAR	180	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
883	ON NH-275, FROM GANANGOORU TOLL PLAZA TILL GOVT HIGHER PRIMARY SCHOOL, GURUPURA, K SHETTIHALLI.	MANDYA	REGULAR	125	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
884	ON SH 96 FROM TELECOM TOWER IN GATTUMADAMANGLA TILL ANDHRA BORDER GATE NR KEMPAPURA CHECK POST	KOLAR	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
885	ON SH-33, WITHIN 2 KMS FROM BANK OF BARODA BRANCH, KESTHURU.	MANDYA	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
886	ON SRI SRI SHIVAKUMAR ROAD ABBIGERE ROAD FROM PARIJATHA PARTY HALL TILL HDFC BANK ENTRY AT GLOBAL NANDHANAM APARTMENT	BANGALORE URBAN	REGULAR	120	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
887	WITHIN YEKTAPUR VILLAGE LIMITS ON SH60	YADGIR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
888	ON SH-65 FROM B H KAIMARA TO KELASUTHA	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
889	ON SH, FROM GOVT HIGHER PRIMARY SCHOOL, MALAYANAPURA TOWARDS MM HILLS TILL GOVT HIGH SCHOOL, KOWDHALLI	CHAMARAJNAGAR	REGULAR	84	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
890	WITHIN ARAJANAL VILLAGE LIMITS ON NH52	VIJAYAPUR	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
891	WITHIN 2KMS FROM GRAMPANCHAYAT OFFICE BARWAD TOWARDS MANGUR ON SH 98	BELAGAVI	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
892	WITHIN 2 KM FROM SHARADA KALYANA MANTAPA TOWARDS BEEDINAGUDDE ROAD UDUPI	UDUPI	REGULAR	80	Open	DODO - Hiq Lite	NA	18	18	330	18	40	DOL	15	5
893	FROM NH75 - SH 99 JUNCTION ON KOLAR BYPASS TO BEGLI HOSAHALLI VILLAGE ON SH 99	KOLAR	REGULAR	100	OBC PH	DODO	NA	25	30	750	24	105	DOL	15	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
894	ON SH, WITHIN 3KMS ON EITHER SIDE OF GOVT HIGHER PRIMARY SCHOOL. LINGADAHALLI,SONDURU TALUK	BELLARY	REGULAR	100	SC PH	CFS	24.8	25	30	750	0	0	DOL	0	3
895	ON NH, WITHIN 3 KMS FROM ANANTHAPADMANABHA SWAMY TEMPLE, PERDOOR TOWARDS HEBRI	UDUPI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
896	ON LHS OF NH 75, BETWEEN KALLADKA JUNCTION AND MELKAR TOWARDS MANGALORE	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
897	ON KUMTA-SIDDAPUR ROAD, BETWEEN INTERSECTION AT NH66 TO CHANDAVAR-AREANGADI CIRCLE	UTTARA KANNADA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
898	HULIMANGALA MAIN ROAD FRM PSR KRISH KAMAL APARTMENT TILL VRR CONVENTION CENTER	BANGALORE URBAN	REGULAR	160	Open	DODO	NA	18	18	330	32	90	DOL	15	5
899	ON NH-69, FROM GOVT HIGHER PRIMARY SCHOOL, DV HALLI TILL DABBEGHATTA POST OFFICE	TUMKURU	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
900	ON NH66, BETWEEN NITK SURATHKAL UP TO HALEYANGADI	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
901	WITHIN MATHODU VILLAGE LIMIT, HOSADURGA TALUK(ON MATHODU TO HOSADURGA ROAD)	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
902	WITHIN 1KM FROM UNNIBHAVI BUS STOP ON NH 50	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
903	ON NH-948, WITHIN 10 KMS FROM GRAMA PANCHAYAT OFFICE, YARIYURU TOWARDS MAMBALLI.	CHAMARAJNAGAR	REGULAR	134	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
904	ON NH, KAUP TOWN MUNICIPAL COUNCIL OFFICE TO SWAGATHA GOPURA TOWARDS UDUPI	UDUPI	REGULAR	200	OBC	CODO	24.8	35	35	1225	32	0	BIDDING	30	4
905	ON NH-275, WITHIN 3 KMS FROM GOVT LOWER PRIMARY SCHOOL, KOLAGATTA (HUNSUR RD)	MYSORE	REGULAR	140	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
906	ON SH-33, WITHIN 3 KMS FROM GRAM PANCHAYAT OFFICE, NAGAVALLI, TUMKUR TOWARDS KUNIGAL.	TUMKURU	REGULAR	95	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
907	ON SH, WITHIN 3 KMS FROM GOVT HIGHER PRIMARY SCHOOL, MADHUVANAHALLI ON KOLLEGAL -HANNUR ROAD.	CHAMARAJNAGAR	REGULAR	86	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
908	WITHIN CHITTAPUR TOWN MUNICIPAL LIMITS ON ANY SH	KALABURAGI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
909	ON SH155 WITHIN 5 KMS FROM KEMBAVII CROSS HUNASAGI TOWARDS KEMBAVII	YADGIR	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
910	FROM ARODI GOVT PRIMARY & MIDDLE SCHOOL TO GRAMA ONE NAGRIK SEVA KENDRA ON SH 94, ARODI VILLAGE	BANGALORE RURAL	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
911	FROM DR. BABU JAGAJIVAN RAM CIRCLE SONTU TO CHANDANAKERA BUS STOP ON SH	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
912	ON LHS OF NH75, BETWEEN DHRAMASTHALA CROSS AND SHIRADY GRAMA PANCHAYATH OFFICE TOWARDS BANGALORE	DAKSHINA KANNADA	REGULAR	150	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
913	WITHIN 2 KM FROM PATTANAPANCHAYAT OFFICE AMINGAD TOWARDS HUNGUND ON SH, TALUK HUNGUND	BAGALKOTE	REGULAR	101	Open	DODO	NA	25	30	750	24	105	DOL	15	5
914	ON SH-94, WITHIN 3 KMS FROM SRI GOSALA CHANNABASAVESHWARA GUDI - HONNUDIKE TOWARDS TUMKURU.	TUMKURU	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
915	ON SH-48, FROM INTERSECTION WITH SH-3 WITH SH-48 IN PAVAGADA TOWARDS PARASURAMPURA TILL SBI BANK, BRANCH KOTAGUDDA	TUMKURU	REGULAR	85	Open	DODO	NA	25	30	750	24	105	DOL	15	5
916	WITHIN BASAVAKALYAN TOWN LIMITS ON SH	BIDAR	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
917	ON SH-102, WITHIN 3 KMS FROM CSI CHRIST CHURCH, ARASIKERE TOWARDS GOLLARAHATTI.	HASSAN	REGULAR	82	ST CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
918	ON BALAGERE MAIN ROAD, BANGALORE EAST TALUK	BANGALORE URBAN	REGULAR	200	Open PH	CODO	73.2	18	18	330	32	0	BIDDING	30	5
919	FROM KSPCB OFFICE TILL CITY CENTRAL LIBRARY, TUMKUR CITY	TUMKURU	REGULAR	200	OBC	CODO	30.4	25	30	750	32	0	BIDDING	30	4
920	BETWEEN PES POLYTECHNIC COLLEGE TO MOUNT JOY RD JUNCTION ON 50 FEET ROAD HANUMANTH NAGAR	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
921	FROM JUMANAL BUS STOP TO BIJJARAGI BUS STOP ON NH52	VIJAYAPUR	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
922	FROM RAMYA RESIDENCY TO VK FUEL STATION TARIHAL ON NH48	DHARWAD	REGULAR	200	Open	CODO	55.2	35	35	1225	32	0	BIDDING	30	5
923	FROM SHREE SAI BABA TEMPLE KATAPUR TO MANGALADEVI TEMPLE, MANGALAGUDDA, ON SH133	BAGALKOTE	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
924	FROM CHADACHAN TO BARADOLA BUS STOP ON SH	VIJAYAPUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
925	FROM SRI DANDINA DURAGAMMA DEVI TEMPLE ADARGUNCHI TO TADAS CROSS ON NH48	DHARWAD	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
926	WITHIN 2KMS FROM MANGO TREE RESTAURANT HULKOTI TOWARDS GADAG ON LHS OF NH-63 (HUBLI-GADAG SECTION)	GADAG	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
927	BESCOM WILSON GARDEN SHANTI NAGAR TO SILKBOARD JUNCTION ON HOSUR ROAD	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4
928	ON LHS OF NH, WITHIN 8 KMS FROM HULIYAR APMC MARKET ENTRANCE GATE TOWARDS CHIKKANAYAKANAHALLI	TUMKURU	REGULAR	135	Open	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
929	ON DEVANAHALLI CHANNARAYAPATNA ROAD FROM INNOVATORS INTERNATIONAL SCHOOL - DEVANAHALLI TO POLICE STATION NEAR GOVT HOSPITAL, CHANNARAYAPATNA	BANGALORE RURAL	REGULAR	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
930	FROM ALADAMARA CIRCEL TO SWAMY VIVEKANANDA CIRCEL ON LAGGERE MAIN ROAD	BANGALORE URBAN	REGULAR	150	ST	CFS	73.2	18	18	330	0	0	DOL	0	3
931	WITHIN MANGALORE CITY CORPORATION BETWEEN SCHOOL OF SOCIAL WORKS ROSHNI NILAYA AND KMC ATTAVARA VIA NANDIGUDDA CIRCLE	DAKSHINA KANNADA	REGULAR	180	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
932	ON LHS OF NH 75 FROM KOLAR TOWARDS HOSKOTE, BETWEEN FOB NEAR SRI VEERBHARASWAMY TEMPLE MUGABALA AND HOTEL SRI ANNAPUROORNA (NR MYLAPURA VEERAPURA ROAD)	BANGALORE RURAL	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
933	ON DASARAHALLI MAIN ROAD (HEBBAL) BETWEEN RMZ LATITUDE (COMMERCIAL) ENTRY NEAR NH44 JN AND INLAND EVERGLADES APARTMENTS	BANGALORE URBAN	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
934	ON NH 766E (HUBLI-SIRSI ROAD), FROM GOUDALLI TO CHIPGI	UTTARA KANNADA	REGULAR	200	OBC	CODO	24.8	35	35	1225	32	0	BIDDING	30	4
935	WITHIN 1 KM FROM KANAKADAS CIRCLE SINDAGI ON MAIN ROAD	VIJAYAPUR	REGULAR	80	SC	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
936	FROM RAJESHWARI HITECH INDUSTRIES, TAMALGHAT D TO KARNATAKA TELANGANA BORDER ON RAICHUR GADWAL ROAD	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
937	ON NH,WITHIN 3 KMS ON EITHER SIDE OF GOVERNMENT HIGHER PRIMARY SCHOOL, SANGURU NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
938	ON BANDALLI RD WITHIN 4 KMS FROM BUS STOP & KACHERI SANKIRNA, HANURU TOWARDS BANDALLI.	CHAMARAJNAGAR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
939	ON LHS OF NH-66, WITHIN 4 KMS FROM HEJAMADI TOLL GATE TOWARDS PADUBIDRI(HEJMADI TO UDUPI)	UDUPI	REGULAR	200	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
940	ON LHS OF NH 75 TOWARDS KR PURAM FROM KEERTI SERVICE STATION IOCL RO VIRGONAGAR TO ADVAITH HYUNDAI SHOWROOM AAVALAHALLI	BANGALORE RURAL	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
941	WITHIN 2KM FROM HALKI CROSS TOWARDS NESARGI ON SH-20 (YERGATTI-NESARGI ROAD)	BELAGAVI	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
942	ON LHS OF NH 75 TOWARDS NELMANGALA FROM KSHEMAVANA WELLNESS ENTERANCE MAHADEVAPURA TO NELMANGALA JUNCTION	BANGALORE RURAL	REGULAR	130	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
943	WITHIN 2 KMS FROM THE INTERSECTION AT NH 275 TOWARDS KVG MEDICAL COLLEGE,SULLIA VIA MESCOM OFFICE	DAKSHINA KANNADA	REGULAR	120	ST	CFS	30.4	25	30	750	0	0	DOL	0	3
944	ON SH-71, FROM MORAJI DESAI RESIDENTIAL COLLEGE, HOSURU TOWARDS DUDDA TILL GOVT HIGH SCHOOL, ATTAVARA ON LHS	HASSAN	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
945	ON LHS OF NH 44 ON SERVICE ROAD WITHIN 1 KM FROM GRAND SEASONS BUSINESS HOTEL TOWARDS BANASWADI RELIANCE DIGITAL	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
946	WITHIN GANGAVATI TOWN LIMITS ON SH/NH	KOPPAL	REGULAR	200	Open	CODO	30.4	25	30	750	32	0	BIDDING	30	5
947	WITHIN 3 KMS FROM GRAMA PANCHAYAT, KOTHATHI TOWARDS MANDYA ON BANNUR - MANDYA RD	MANDYA	REGULAR	88	Open	DODO	NA	25	30	750	24	105	DOL	15	5
948	ON SH , WITHIN 3 KMS ON EITHER SIDE OF SUB JAIL POLICE HEAD QUARTERS, KAMBATRAHALLI (HARAPANAHALLI TALUK).	VIJAYANAGARA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
949	WITHIN TALIKOTE TOWN LIMITS ON SH/NH	VIJAYAPUR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
950	ON LHS OF NH66 WITHIN 3 KMS FROM INSPECTION BUNGALOW, TRASI TOWARDS MANGALORE	UDUPI	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
951	ON NH 275 MADIKERI MYSORE HIGHWAY FROM SUNDIKOPPA TO HOROOR INTERSECTION	KODAGU	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
952	FROM PRESIDENT HOTEL HUBLI TO GANGUBAI HANGAL MEMORIAL MUSIC INSTITUTE HUBBALLI	DHARWAD	REGULAR	100	SC	CFS	55.2	25	30	750	0	0	DOL	0	3
953	17TH CROSS ROAD, HSR LAYOUT, BANGALORE URBAN	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
954	ON MAIN ROAD BETWEEN PALADKA POST OFFICE AND HOSANADU KODYADKA ANNAPOORNESHWARI TEMPLE	DAKSHINA KANNADA	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
955	ON SH, WITHIN 4 KMS FROM SREE SIDDHARTHA RESIDENTIAL HIGH SCHOOL, HONNAMACHANAHALLI TOWARDS MADDUR	TUMKURU	REGULAR	81	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
956	ON SH 152, WITHIN BELAGURU VILLAGE LIMIT, HOSADURGA TALUK	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
957	ON SH 89 FROM T SHETTIGERI TO KUMTOOR	KODAGU	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
958	ON NH 766 E, FROM GRAM PANCHAYAT ,HIREMORAB TO GOVERNMENT HOSPITAL, MASUR NOT ABUTTING FLYOVER BRIDGE.	HAVERI	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
959	WITHIN MANGALORE CITY CORPORATION BETWEEN PVS CIRCLE AND KOTTARA VIA LADY HILL	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
960	ON ST JOHNS CHURCH ROAD, FROM FRAZER TOWN BPCL BUNK TILL VISTA SPACES APARTMENTS	BANGALORE URBAN	REGULAR	140	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
961	ON SH, WITHIN HONNATHI TO KARIMALLAPURA, RANE BENUR TALUK.	HAVERI	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
962	ON RHS OF NH 73 WITHIN 2 KMS FROM MANIHALLA BRIDGE TOWARDS BELTHANGADY	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
963	WITHIN 2KMS FROM VISHWA NAYARA PETROLEUMS KOKATNUR TOWARDS SAVALAGI ON ATHANI-SAVALAGI ROAD	BELAGAVI	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
964	ON SH, FROM GOVERNMENT HIGHER SECONDARY SCHOOL TO TUNGABHADRAA CANAL BRIDGE, MALAPANAGUDI (HOSPETE TALUK)	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
965	FROM YASHODA HOSPITAL VIJAYPURA TO SHREE RENUKA VIJAYA KALYAN MANTAP HORTI ON NH 52	VIJAYAPUR	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
966	NEW BEL ROAD FROM HOTEL PRESTIGE STAY IN TO CROMA NEW BEL ROAD NEAR MSRAMMAIAH INSTITUTE.	BANGALORE URBAN	REGULAR	130	SC CC-1	CFS	73.2	18	18	330	0	0	DOL	0	3
967	ON NH, FROM GOVERNMENT HIGHER PRIMARY SCHOOL, HARONAHALLI TO GRAM PANCHAYAT JOLADALU (CHANNAGIRI TO BHADRAVATI) NOT ABUTTING FLYOVER BRIDGE.	DAVANAGERE	REGULAR	120	Open-CC2	DODO	NA	35	35	1225	24	120	DOL	15	5
968	ON SH, WITHIN 3 KMS RAVI FUELS (NAYARA PETROL PUMP) HARAKANALU (HARAPANAHALLI TALUK) TOWARDS HARAPANAHALLI	VIJAYANAGARA	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
969	ON ISHA FOUNDATION ROAD WITHIN 0.5 KM FROM NH 44 JUNCTION (NEAR OKMAR HOTEL / EARLIER HASHTAG CAFE) (NOT ON NH)	CHIKKABALLAPUR	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
970	ON NH 150, FROM SRI CHITAMANISHARA RURAL HIGH SCHOOL (SCRHS), HIREHALI TO BHARAT PETROLEUM, PETROL PUMP -SANIKERE FUEL STATION (NOT ABDUTING FLYOVER)	CHITRADURGA	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
971	FROM ANITHA HEALTH CENTRE (ST. ANN'S HOSPITAL) NEAR JETTIHUNDI TILL LAXMI PATIL SERVICE STATION, BPCL, BOGADI (ON BOGADI MAIN RD).	mysore	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
972	ON SH-84, WITHIN 2 KMS FROM BANK OF BARODA BRANCH KOWDLEY.	MANDYA	REGULAR	88	Open	DODO	NA	25	30	750	24	105	DOL	15	5
973	ON SH, BETWEEN PANEMAJALU AND GOVT JUNIOR COLLEGE KANIYOOR	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
974	ON SH, WITHIN 3 KMS FROMS DISTRICT HOSPITAL, KANCHIKERE (HARAPANAHALLI TALUK) TOWARDS ARASIKERE	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
975	WITHIN MUDHOL TOWN LIMITS ON SH	BAGALKOTE	REGULAR	100	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
976	ON NH 66, FROM GILYARU TO THEKKATTE	UDUPI	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
977	FROM SHREE SAUNDATTI RENUKADEVI IOCL PETROL PUMP JOGULABHAVI SAUNDATTI TO KATAMALI TANDA CROSS ON SH	BELAGAVI	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
978	ON HUSKUR ROAD BETWEEN MATHAHALLI RAIWAY BRIDGE (NEAR APMC) AND GOLDEN PALMS HOTEL	BANGALORE URBAN	REGULAR	150	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
979	FROM KOPPA JUNCTION AT JAYAPURA TO AGALAGANDI	CHIKKAMAGALURU	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
980	ON NH-73, WITHIN 3 KMS FROM BHANASHANKARI KALYANA MANTAPA, HALEBEEDU TOWARDS JAVAGAL.	HASSAN	REGULAR	140	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
981	ON SH, WITHIN 2 KMS FROM KSRRTC BUS STAND, DUDDA.	HASSAN	REGULAR	90	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5
982	ON LHS OF SH 96 TOWARDS VEMAGAL, WITHIN 6 KMS FROM KGN FUCNTION HALL(NR REHMATH NAGAR KOLAR)	KOLAR	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
983	ON NH-948, WITHIN 3 KMS FROM KPTCL SUB STATION TOWARDS CHAMARAJNAGAR.	CHAMARAJNAGAR	REGULAR	139	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
984	ON ITPL MAIN ROAD, FROM CHAITANYA TECHNO SCHOOL TILL GARUDACHARPALYA METRO STATION	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
985	BETWEEN KUNTIKAN FLYOVER JUNCTION AND KAVOOR JUNCTION ON BEJAI- KAVOOR ROAD	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
986	ON SH, WITHIN 4 KMS BHANU PRAKASH SERVICE STATION (BPCL PUMP), HARAPANAHALLI TOWARDS SHRUNGARATHOTA	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
987	ON SH, WITHIN 3 KMS FROM GUDEKOTE 66KV SUBSTATION (KUDLIGI TALUK) TOWARDS BOMMALINGANAHALLI	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
988	FROM NAVALGUND BUS STOP TO KUSUGAL BUS STOP ON NH-52 (HUBLI -VIJAYAPUR ROAD)	DHARWAD	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
989	ON BANERGHATTA ANEKAL ROAD FROM BANNERGHATTA POLICE STATION TILL JIGANI APC CIRCLE	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
990	WITHIN SAUNSHI VILLAGE LIMITS ON SH 73/SH1	DHARWAD	REGULAR	80	OBC	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	4
991	WITHIN 1 KMS FROM NWKRTC BUS STAND, SIDDAPURA ON EITHER SIDE WITHIN TOWN LIMIT	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	25	30	750	32	0	BIDDING	30	5
992	WITHIN 1 KM FROM MUTHSANDRA GOVT. HOSPITAL ON MUTHSANDRA MAIN ROAD	BANGALORE RURAL	REGULAR	90	SC PH	CFS	30.4	25	30	750	0	0	DOL	0	3
993	ON NH, FROM SHREE AGHORESHWARA SWAMY TEMPLE AND SARAKARI HIRIYA PRATHAMIKA SCHOOL ENTRANCE, THAVAREKERE TOWARDS KB CROSS TILL SBI BRANCH, BANASANDRA.	TUMKURU	REGULAR	120	OBC PH	DODO	NA	35	35	1225	24	120	DOL	15	4
994	ON NH, FROM KM STONE 422 TO 424 ON EITHER SIDE	CHITRADURGA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
995	FROM MORAJI DESAI RESIDENTIAL SCHOOL, GUDDENAHALLI TILL INTERSECTION WITH NH-150A IN TURUVEKERE. (NOT ON NH)	TUMKURU	REGULAR	82	Open	DODO	NA	25	30	750	24	105	DOL	15	5
996	BETWEEN MASJI E BILAL KODLI & GOVT PRIMARY SCHOOL KODLI ON SH 125 (KODLI-KALABURAGI ROAD)	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
997	WITHIN 4KMS FROM LINGASUGUR BUSTAND TOWARDS AMARESHWAR CROSS, ON LHS OF NH 150A	RAICHUR	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
998	ON PRASHANAHALLI MAIN ROAD, DEVANAHALLI, FROM DY DIRECTOR DSW OFFICE TILL AKASH HOSPITAL & MEDICAL COLLEGE	BANGALORE RURAL	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
999	FROM DR BR AMBEDKAR CIRCLE, MANGALAVADA TILL POLICE STATION, ARASIKERE, PAVAGADA TQ.	TUMKURU	REGULAR	82	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1000	ON KOGILU MAIN ROAD, FROM KOGILU CROSS MAIN BUS STOP TILL SHRI VENUGOPALASWAMY TEMPLE AGRAHARA LAYOUT ENTRANCE	BANGALORE URBAN	REGULAR	160	OBC	DODO	NA	18	18	330	32	90	DOL	15	4
1001	ON SH, WITHIN 2 KMS FROM AZAD NAGAR POLICE STATION, DAVANAGERE TOWARDS HARAPANAHALLI	DAVANAGERE	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1002	FROM KOLLUR BUS STOP TO FATEPUR BUS STOP ON NH167N	KALABURAGI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1003	ON NH 169, BETWEEN GURUPURA RIVER BRIDGE AND PILIKULA ROAD JUNCTION	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1004	ON SH 02, NAGARAHUNASI VILLAGE LIMIT, KUDLIGI TALUK	VIJAYANAGARA	REGULAR	110	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1005	ON NH, WITHIN 2 KMS ON EITHER SIDE OF AKSHARA RESIDENTIAL SCHOOL, KALENAHALLI NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1006	BETWEEN BRIGADE MILLENIUM AND AREKERE GATE JUNCTION ON BRIGADE MILLENIUM ROAD	BANGALORE URBAN	REGULAR	200	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
1007	ON SH, WITHIN 8 KMS FROM GOVT PRIMARY SCHOOL, SIDALINGAIAHNAPALYA TOWARDS URDIGERE (MADHUGIRI RD).	TUMKURU	REGULAR	80	Open CC-1	DODO - Hq Lite	NA	25	30	750	18	40	DOL	15	5
1008	ON SH, WITHIN ANEKONDA VILLAGE LIMIT, DAVANAGERE TALUK	DAVANAGERE	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1009	WITHIN 1 KM ON EITHER SIDE OF KB PATTIHAL CROSS BUS STOP ON SH	BELAGAVI	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1010	WITHIN 1 KMS FROM THE KSRTC BUS STAND, SHIVAMOGGA ON EITHER SIDE WITHIN TOWN LIMIT	SHIVAMOGGA	REGULAR	120	SC	CFS	30.4	18	18	330	0	0	DOL	0	3
1011	ON NH, FROM FOREST CHECK POST, GAJANUR TO SHESRA SAI FUELS(IOL) PETROL PUMP, SHIVAMOGGA TALUK NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	140	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1012	ON NH166E, FROM JAMIYA MASJID CROSS BIJJARGI TO SOMALINGESHWARA PETROLEUM HPCL BABANAGAR	VIJAYAPUR	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1013	ON SH 67 BETWEEN BAJPE BUS STAND AND MANGALORE AIRPORT ROAD INTERSECTION	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1014	WITHIN 5KMS FROM JINNAPUR TANDA CROSS TOWARDS HOSPET ON NH-50 (KUSTAGI-HOSPET)	KOPPAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1015	WITHIN 5KMS FROM GOVT PRIMARY SCHOOL NAVALGUND TOWARDS NAVALGUND ON NH-52 (VIJAYAPUR-HUBLI ROAD)	DHARWAD	REGULAR	120	SC CC-1	CFS	24.8	35	35	1225	0	0	DOL	0	3
1016	FROM KUNCHAVARAM FUNCTION HALL TANDUR TO ANGANAWADI KENDRA CHINDANOOR ON SH149	KALABURAGI	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
1017	ON SH FROM CANARA LIGHTING INDUSTRIES TO BATTAKODI JUNCTION	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1018	FROM SRI DEVI PADAGATTI JP NAGAR KARATAGI TO GOVT. POLYTECHNIC NAGANKAL ON SH 63	KOPPAL	REGULAR	90	Open PH	DODO	NA	25	30	750	24	105	DOL	15	5
1019	FROM HULLUR BUS STOP TO NIDAGUNDI CROSS ON NIDAGUNDI-MUDDEBHIAL ROAD	VIJAYAPUR	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1020	FROM BUSTAND GANAGAPURA TO CHOURAPUR BUS STOP ON AKKALKOT GANAGAPUR ROAD	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1021	ON DHARMASTANA ROAD, KARNAD MULKI BETWEEN SH 70 INTERSECTION AND NH 66 INTERSECTION	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1022	FROM KAPPARGAON CROSS TO MANNAEKHELLI ON NH65 (MUMBAI-HUMNABAD HIGHWAY)	BIDAR	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1023	ON NH, FROM JALSOOR TO PAICHAR	DAKSHINA KANNADA	REGULAR	120	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1024	WITHIN 2 KMS FROM BALUVANERALU GATE TOWARDS TIPTUR-HULIYAR ROAD	TUMKURU	REGULAR	92	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1025	FROM AVARAD BUS STOP TO VAJRAMMADEVI TEMPLE CROSS, KELLUR ON NH 150A	KALABURAGI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1026	ON NH44 (OLD NH 7) FROM ANDHRA BORDER NEAR BAGEPALLI WITHIN 8 KM ON LHS TOWARDS BANGALORE	CHIKKABALLAPUR	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1027	WITHIN 3KMS FROM GRAM PANCHAYAT OFFICE HUNOOR TOWARDS MUDGAL ON SH 129	RAICHUR	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1028	ON GULUR KOTHAKOTE ROAD NEAR KA-AP BORDER, FROM GOVERNMENT SCHOOL NEAR NARAYANSWAMYKOTE CROSS TILL MARAGANAKUNTE MAIN BUS STOP	CHIKKABALLAPUR	REGULAR	90	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
1029	ON NH 766C FROM BYNDOOR INTERSECTION ROAD TO ARESHIROOR	UDUPI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1030	ON NH-766, WITHIN 4 KMS FROM OUTBACK ADVENTURES VARUNA LAKE TOWARDS MYSORE.	mysore	REGULAR	130	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
1031	ON SH, FROM SHREE GOWRISHANKARA KALYANA MANTAPA, HALAGURU TILL GOVERNMENT HIGH SCHOOL, LINGAPATNA	MANDYA	REGULAR	90	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1032	ON SH, WITHIN 3 KMS ON EITHER SIDE OF S.D.B.T.HIGHER SECONDARY SCHOOL,NARASIMHAGIRI,KUDLIGI	VIJAYANAGARA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1033	ON SH 127, FROM KARNATAKA TELANGANA BORDER TO INTERSECTION WITH NH 167 (RAICHUR-KURNOOL ROAD)	RAICHUR	REGULAR	110	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1034	WITHIN 2 KMS FROM YELISHIRUR BUS STOP TOWARDS GADAG ON SH	GADAG	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1035	ON NH66, BETWEEN HALEYANGADI TO MULKI BAPPANADU TEMPLE DWARA	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1036	FROM POST OFFICE KANMADI TO MAHARASHTRA-KARNATAKA BORDER ON NH 166E	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1037	ON LHS OF NH 648 TOWARDS DEVANHALLI, VIHAAN PUBLIC SCHOOL TO DFO OFFICE DEVANHALLI	BANGALORE RURAL	REGULAR	130	ST	CFS	24.8	35	35	1225	0	0	DOL	0	3
1038	ON SH, WITHIN BALEKOPPA VILLAGE LIMITS, SHIKARIPURA TALUK	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1039	ON SH-79, WITHIN ELLEMALA VILLAGE LIMIT.	CHAMARAJNAGAR	REGULAR	84	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1040	FROM GOVT HIGH SCHOOL NEERALAGI TO AMBEDKAR CIRCLE CROSS BELUR ON SH129	KOPPAL	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1041	ON 16TH MAIN ROAD JAYANAGAR FROM BHARATH VIDYA SAMSTHE CBSE SCHOOL TILL AKSHAYA WEALTH MANAGEMENT PVT LTD	BANGALORE URBAN	REGULAR	200	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
1042	FROM KRISHNARAJENDRA WADEYAR CIRCLE, CHENNARAYAPTNA TILL TIMES PU COLLEGE (OPP NAYARA PETROL BUNK).	HASSAN	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1043	WITHIN 2KM FROM IB ATHANI TOWARDS AINAPUR ON SH 72	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1044	ON NH 169 (PROPOSED) WITHIN 2 KMS FROM SWAMI VIVEKANANDA COLLEGE, YEDAPADAVU TOWARDS MANGALORE	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1045	WITHIN VIDYANAGAR LIMITS IN HUBBALLI ON ANY MAIN ROAD	DHARWAD	REGULAR	82	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1046	WITHIN JAMKHANDI TOWN LIMITS ON SH	BAGALKOTE	REGULAR	80	SC	CFS-Hiq Lite	30.4	25	30	750	0	0	DOL	0	3
1047	ON NH, WITHIN 3 KMS FROM UJIRE - DHARMASTALA ARCH TOWARDS CHARMADY	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
1048	WITHIN 1 KM FROM AMARGOL CROSS (OPP. CANCER HOSPITAL), NAVANAGAR, HUBBALLI TOWARDS ROYAL RITZ RESORT	DHARWAD	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1049	ON KERUR ROAD (SH) FROM INTERSECTION WITH NH52 TO MANI NAGAR CROSS	BAGALKOTE	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1050	ON SH-21, WITHIN 5 KMS FROM SRI SAI SAMUDAYA BHAVAN, PERIYAPATNA TOWARDS RAMANATHAPURA	mysore	REGULAR	103	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1051	ON KALABURAGI RING ROAD	KALABURAGI	REGULAR	200	Open	CODO	55.2	30	30	900	32	0	BIDDING	30	5
1052	VARSHARUTHU ROAD , HANUMANTHNAGNAR	BANGALORE URBAN	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
1053	BOMMASANDARA LINK ROAD FROM MUKUND DAIRY PRODUCTS (P) LTD ENTRY TILL KRYPTON INDIA SOLUTIONS PVT LTD GATE	BANGALORE URBAN	REGULAR	200	OBC	CODO	73.2	18	18	330	32	0	BIDDING	30	4
1054	ON LHS OF NH 44 TOWRDS BLR BETWEEN BPCL COCO POKAMAKALAPALLI TILL NAYARA RO GV FUEL PARK VARLAKONDA	CHIKKABALLAPUR	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1055	FROM MANHALLI VILLAGE TO YAKATPUR ON SH, BIDAR TALUK	BIDAR	REGULAR	90	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1056	ON SH, WITHIN ARAGA VILLAGE LIMIT, TIRTHAHALLI TALUK	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1057	ON MAJOR ROAD IN BESAGARA HALLI VILLAGE, MADDUR TQ.	MANDYA	REGULAR	84	Open CC-1	DODO	NA	25	30	750	24	105	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1058	ON SH, FROM SRI RAMA KALYANA MANTAPA, RAMANATHAPURA TOWARDS ARAKALAGUDU FOR 5 KMS.	HASSAN	REGULAR	85	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1059	ON SOMINAKOPPA TO GEJJENALLI, WITHIN SOMINAKOPPA VILLAGE LIMIT ,SHIVAMOGGA TALUK	SHIVAMOGGA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1060	RAHUTHNAHALLI MAIN ROAD BETWEEN NH48 AND NELMANGALA RTO DRIVING TRACK (NOT ON NH)	BANGALORE URBAN	REGULAR	130	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
1061	ON SH, WITHIN 4 KMS, FROM BEJJAVALLI CIRCLE AT NH INTERSECTION TOWARDS AYANUR.	SHIVAMOGGA	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1062	ON SH, BETWEEN PRIMARY HEALTH CENTER , THOGARSI TO DEVIKOPPA BUS STOP	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1063	ON SH-03, WITHIN 2 KMS FROM KORATEGERE BY PASS JUNCTION(MUDLAPANNE) TOWARDS URIDAGERE ON LHS.	TUMKUR	REGULAR	90	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1064	ON NH, BETWEEN PADUBIDRI JUNCTION (INTERSECTION WITH KARKALA ROAD) AND COMMUNITY HALL,KAUP	UDUPI	REGULAR	200	OBC	CODO	24.8	35	35	1225	32	0	BIDDING	30	4
1065	ON SH,WITHIN 4 KMS FROM KALLADKA JUNCTION TOWARDS VITTAI	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1066	ON NH, WITHIN CHORIDI VILLAGE LIMIT, SHIVAMOGGA TALUK NOT ABUTTING FLYOVER BRIDGE.	SHIVAMOGGA	REGULAR	120	Open CC-2	DODO	NA	35	35	1225	24	120	DOL	15	5
1067	ON SH-84, WITHIN 8 KMS FROM SRI SHAKTHI GANAPATHI SRISHETHRA, NITTUR TOWARDS CHELUR.	TUMKURU	REGULAR	81	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
1068	WITHIN MALKHED TOWN LIMITS ON SH 126	KALABURAGI	REGULAR	100	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
1069	ON SH, WITHIN KOMARANAHALLI VILLAGE LIMIT (HARAPANAHALLI TALUK)	VIJAYANAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1070	ON SH 90 VIRAJ PET- THALAKAVERI ROAD FROM ARAPATTU TO SHRI KUKKLUR MUTHAPPA SWAMY TEMPLE	KODAGU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1071	WITHIN 2 KM FROM GOVT PRIMARY HEALTH CENTER, HATTI TOWARDS RODALABANDA CROSS	RAICHUR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1072	FROM BHAVANI BAR AND RESTAURANT HALLIKHED K TO SRI SAI HOTEL LODGING AND BOARDING KAMALAPUR ON NH50	BIDAR	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1073	FROM MANAGULI BYPASS CROSS TO VIJAYAPURA TOLL BOOTH ON NH50	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1074	ON NH 69 FROM BIRUR TO PUNDANAHALLI	CHIKKAMAGALURU	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1075	ON SH ,FROM KOMBALI TO KAGANUR (HADAGALI TALUK)	VIJAYANAGARA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1076	ON NH66, BETWEEN BHATKAL BUS STAND AND BENGRE BUS STAND TOWARDS KARWAR	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1077	FROM E S SAVEMART (BYRAVESHWARA COMPLEX), KRISHNARAJANAGARA TILL SRI KALABHAIRESHWARA SWAMY TEMPLE, CHEERANAHALLY.	mysore	REGULAR	100	SC	CFS	30.4	25	30	750	0	0	DOL	0	3
1078	ON NH66,WITHIN ANKOLA RLY STATION ROAD TO BALEGULI CROSS	UTTARA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1079	FROM MAHATMA GANDHI CIRCLE SINDAGI TO KORHALLI BUS STOP ON SH 124	VIJAYAPUR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1080	ON LHS OF NH-75 WITHIN 1KMS FROM MVJ HOSPITAL HOSKOTE TOWARDS BANGALORE	BANGALORE RURAL	REGULAR	130	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
1081	ON SH ,WITHIN 4 KMS ON EITHER SIDE OF KARNATAKA PUBLIC SCHOOL, BANDRI, SONDURU TALUK	BELLARY	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1082	WITHIN KUSTAGI TOWN LIMITS ON NH/SH	KOPPAL	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1083	WITHIN 5 KMS FROM DK GOWDA HIGH SCHOOL, CHANDUPURA TOWARDS KM DODDI(ON KM DODDI RD).	MANDYA	REGULAR	82	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1084	WITHIN YALAVADAL VILLAGE LIMITS ON SH46	DHARWAD	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1085	WITHIN 4 KMS FROM SJM COLLEGE,CHIKJAJUR TOWARDS HOLALKERE ON SH 47	CHITRADURGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1086	ON NH66 BETWEEN NAVUNDA BUS STAND AND KAMBHADAKONE BUS STAND TOWARDS KARWAR	UDUPI	REGULAR	150	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1087	WITHIN 1 KM OF BPCL COCO RO,KULUVANAHALLI (ON LHS OF NH48 BANGALORE -TUMKUR HIGHWAY)	BANGALORE RURAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1088	BETWEEN NATEKAL BUS STOP AND KALLUKATTA BUS STAND ON NATEKAL - MANJANADY ROAD	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1089	ON OLD NH-275, MYSORE-BANGALORE HIGHWAY FROM JK DESIGNERS TILES WORLD TO MANDYA EXCELLENCE PU COLLEGE.	MANDYA	REGULAR	130	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1090	ON LHS OF NH 44 TOWARDS BANGALORE BETWEEN SALUMARADHA THIMAKKA PARK AND SAKLECHA AGRO OIL FOODS PVT	CHIKKABALLAPUR	REGULAR	130	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1091	WITHIN 2 KM FROM DURGADEVI TEMPLE HOSUR SHIRABUR TOWARDS VENKATESHWARA TEMPLE HOSUR ON SH55	VIJAYAPUR	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1092	ON NH-373, FROM FIRE STATION NEAR APMC, KRISHNARAJANAGAR TOWARDS DODDE KOPPALU TILL ADHISHAKTHI THOPAMMA DEVASTHANA.	mysore	REGULAR	131	Open	DODO	NA	35	35	1225	24	120	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1093	ON 80 FT ROAD FROM EJPURA SONY WORLD SIGNAL ON IRR TO TO COREEL TECHNOLOGIES (INDIA) OFFICE ON SARJAPURA MRATHAHALLI JUNCTION	BANGALORE URBAN	REGULAR	150	OBC PH	DODO	NA	18	18	330	32	90	DOL	15	4
1094	ON SH, WITHIN 5 KMS FROM MASTER CONTROL FACILITY, ISRO ENTRANCE GOVINDAPURA TOWARDS HASSAN	HASSAN	REGULAR	105	SC PH	CFS	24.8	25	30	750	0	0	DOL	0	3
1095	FROM SRI SRI SRI BALAGANGADHARANATHA SWAMIJI CIRCLE (VISVAMANAVA RD) TILL INTERSECTION WITH BOGADI ROAD NEAR KUKKARAHALLI LAKE PARK.	mysore	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
1096	WITHIN 2KM FROM BEVINKATTI CROSS/KATRAL CROSS ON NH367	KOPPAL	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1097	ON SARJAPURA CHIKKATIRUPATHI ROAD FROM RRL NATURE WOODS APARTMENT TO NATURE NXT COMMUNITY ENTRY	BANGALORE URBAN	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1098	ON NH-150A, FROM DR BR AMBEDKAR CIRCLE (NANJANGUDU) TOWARDS T NARSIPURA TILL SHREE ANKANATHESHWARA RESIDENCY HOTEL (OYO).	mysore	REGULAR	150	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
1099	ON SH 9 BETWEEN DMART AND MANIPAL HOSPITAL DODBALLAPURA	BANGALORE RURAL	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1100	FROM SURATHKAL RAILWAY BRIDGE TO VISHWANATH TEMPLE KATIPALLA, VIA CHOKKABETTU ON MAIN ROAD	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
1101	ON SH-38, WITHIN 10 KMS FROM GRAMA PANCHAYAT OFFICE, LAKKANAHALLI TOWARDS ODEYARPALYA.	CHAMARAJNAGAR	REGULAR	88	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1102	ON MANGAMMANPALYA MAIN ROAD WITHIN 0.5 KM FROM SALARPURIA SERENITY	BANGALORE URBAN	REGULAR	120	Open	DODO	NA	18	18	330	24	90	DOL	15	5
1103	ON LHS OF NH 169, WITHIN 2 KMS, FROM VAMANJOOR JUNCTION TOWARDS ANANTHAPADMANABHA KUDUPU TEMPLE	DAKSHINA KANNADA	REGULAR	200	SC	CFS	55.2	30	30	900	0	0	DOL	0	3
1104	ON SH 156, FROM CHIGARALLI CROSS (INTERSECTION WITH NH150A) TO IJERI	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1105	ON SH, WITHIN 2 KMS FROM SONANGERI TOWARDS SUBRAMANYA	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1106	WITHIN 2KMS OF NH 948 FROM CHENNAMMA MADAIAH CONVENTION HALL NEAR HAROHALLI	RAMNAGARA	REGULAR	130	Open CC-1	DODO	NA	35	35	1225	24	120	DOL	15	5
1107	ON SH, WITHIN 3 KMS FROM KSRTC BUS STAND, SALIGRAMA TOWARDS BHERYA.	mysore	REGULAR	96	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1108	WITHIN NANDOOR B VILLAGE LIMITS ON NH150	KALABURAGI	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1109	FISHING HARBOUR MALPE-2	UDUPI	REGULAR	250	Open	DODO	NA	13	13	169	32	40	DOL	15	5
1110	ON SH- 24 AJJAMPURA TO K.HOSUR VIA BOMMENAHALLI CONNECTING TO ARASIKERE -SHIVAMOGGA ROAD	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1111	WITHIN HOLIHOSUR VILLAGE LIMITS ON SH31	BELAGAVI	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1112	WITHIN NARONA VILLAGE LIMITS ON SH/NH	KALABURAGI	REGULAR	100	ST	CFS	30.4	25	30	750	0	0	DOL	0	3
1113	ON NH 169, BETWEEN KANTHAVARA CROSS AND SANOOR BRIDGE NOT ABUTTING FLY OVER BRIDGE	UDUPI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1114	WITHIN YERGUNTA VILLAGE LIMITS ON SH	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1115	ON NH 948A- KANAKPURA RAMANGARA ROAD , WITHIN 1 KM FROM ARYA INTERNATIONAL SCHOOL	RAMANAGARA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1116	ON EITHER SIDE OF SH 95 FROM THE BANYAN TREE BUS STAND (NEAR GOLDEN JUBLEE PARK JUNCTION) BEML NAGAR TO KSRTC BUS STAND ENTRY BANGARPET TOWN	KOLAR	REGULAR	100	OBC CC-1	DODO	NA	25	30	750	24	105	DOL	15	4
1117	WITHIN AURAD TOWN LIMITS ON SH	BIDAR	REGULAR	100	ST CC-1	CFS	30.4	25	30	750	0	0	DOL	0	3
1118	ON SH, FROM JSS HIGH SCHOOL, TERAKANAMBI TOWARDS CHAMARAJNAGAR TILL POLICE STATION, UDIGALA.	CHAMARAJNAGAR	REGULAR	95	Open PH	DODO	NA	25	30	750	24	105	DOL	15	5
1119	ON DODDABYLAKERE SHIVAKOTE ROAD NR HESARGHATTA, FROM SRI ANJENEYA TEMPLE MAVALLIPURA TILL CANARA BANK SHIVAKOTE BRANCH	BANGALORE URBAN	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1120	ON NH 50, FROM SRI GULIGI NAGARAJA GOVT. ITI TO SRI AYYAPPA PETROLEUM(IOCL) , KUDLIGI NOT ABUTTING FLYOVER BRIDGE.	VIJAYANAGARA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1121	ON NH 73, FROM MUDIGERE HAND POST TO MUTHIGEPURA	CHIKKAMAGALURU	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1122	FROM HOSAKERI CROSS TO KULAGERI CROSS ON SH-14	BAGALKOTE	REGULAR	109	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1123	ON SH,WITHIN 2 KMS FROM KUPPELUR POWER GRID TOWARDS TUMMINAKATTE, RANEENNUR TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1124	ON NH-948, WITHIN 9 KMS FROM DR BABA SAHEB AMBEDKAR CIRCLE, MALAVALLI TOWARDS HADLI VILLAGE ON RHS.	MANDYA	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1125	ON NH-48, WITHIN 5 KMS FROM ADYAR ANAND BHAVAN, UJJANAKUNTE TOWARDS HIRIYUR.	TUMKURU	REGULAR	155	Open	DODO	NA	35	35	1225	32	120	DOL	15	5
1126	ON SH,WITHIN 2 KMS FROM CHINTRAPALLI VILLAGE TOWARDS HAGARIBOMMANAHALLI	VIJAYANAGARA	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1127	ON NH-73, WITHIN 4 KMS FROM BENDEKERE POST OFFICE TOWARDS BANAVARA.	HASSAN	REGULAR	130	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1128	ON RHS ,FROM PRESIDENT HOTEL HUBLI TO BRTS BUS STAND GANDHINAGAR, DHARWAD	DHARWAD	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1129	ON SH, WITHIN 4 KMS FROM HEMAAVATHI SUGAR FACTORY ENTRANCE, SRINIVASAPURA TOWARDS CHANNARAYAPATNA	HASSAN	REGULAR	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1130	WITHIN 2 KM FROM HALISAGAR BUS STOP TOWARDS SIRWAL ON SH-149	YADGIR	REGULAR	80	ST	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
1131	ON LHS OF SH 82 WITHIN 3 KMS FROM SURYA CONVENTION HALL NANDAGUDI TOWARDS H CROSS	BANGALORE RURAL	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1132	WITHIN 2KMS FROM YELEBICHALI CROSS TOWARDS GILLESUGUR ON SH 61	RAICHUR	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1133	WITHIN HAROHALLI INDUSTRIAL AREA 3RD PHASE BANNIKUPPE, ON MAIN ROAD OPPOSITE TOYODA GOSEI SOUTH INDIA PRIVATE LIMITED PLANT	RAMNAGARA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1134	ON NH-275, WITHIN 5 KMS, FROM HIGHER PRIMARY SCHOOL, ATHIGUPPE TOWARDS PIRIYAPATNA.	mysore	REGULAR	123	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1135	ON NH-948, WITHIN 5 KMS FROM SHRI DIVYALINGESHWARA SWAMY TEMPLE, HARADANAHALLI TOWARDS CHAMARAJANAGAR.	CHAMARAJNAGAR	REGULAR	200	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1136	FISHING HARBOUR MALPE-1	UDUPI	REGULAR	250	Open	DODO	NA	13	13	169	32	40	DOL	15	5
1137	ON SH,WITHIN 3 KMS ON EITHER SIDE OF POLICE STATION,SAGARAPETE	DAVANAGERE	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1138	FROM KM CARIAPPA CIRCLE TOWARDS HINKAL TILL INTERSECTION WITH NH-275K (RING ROAD).	mysore	REGULAR	120	OBC	DODO	NA	18	18	330	24	90	DOL	15	4
1139	ON SH, WITHIN 05 KMS FROM GRAMA PANCHAYAT OFFICE JAMBUR TOWARDS HULLENAHALLI.	HASSAN	REGULAR	90	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1140	WITHIN 3KM FROM SAVALAGI ROAD AND BHIMANALLI ROAD INTERSECTION TOWARDS TOLL PLAZA PATTAN ON SH10	KALABURAGI	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1141	DR RAJKUMAR ROAD FROM THE RAMESHWARAM CAFE RAJAJINAGAR TILL SUGUNA HOSPITAL	BANGALORE URBAN	REGULAR	200	Open	CODO	73.2	18	18	330	32	0	BIDDING	30	5
1142	ON SH-80, WITHIN 4 KMS FROM FOREST OFFICE, NALLUR TOWARDS CHAMARAJNAGAR	CHAMARAJNAGAR	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1143	ON SH, WITHIN CHINNICKATTE VILLAGE LIMIT, DAVANAGERE TALUK	DAVANAGERE	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1144	ON BAGALUR MALUR ROAD TOWARDS MALUR FROM CHLORIDE METALS LTD. NEAR SEETHANAYANKANHALLI TILL SKANDAAGRAJA PETRO STATION IOCL RO	KOLAR	REGULAR	130	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1145	ON SH , FROM JSS INSTITUTE OF EDUCATION,HUVINAHADAGALI TO PRIMARY HEALTH CENTER,HOLAGUNDHI	VIJAYANAGARA	REGULAR	120	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1146	ON NH-73, WITHIN 4 KMS FROM UNION BANK OF INDIA, HEBBALU TOWARDS BELUR.	HASSAN	REGULAR	135	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1147	ON NH 67, WITHIN 3 KMS FROM SHRI MAATHA DEGREE COLLEGE, HOSAPETE TOWARDS MUNIRABAD NOT ABUTTING FLYOVER BRIDGE.	VIJAYANAGARA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1148	FROM MANGINHAL BUS STOP TO GUNDHALLI TANDA CROSS ON SH	YADGIR	REGULAR	80	SC	CFS-Hiq Lite	24.8	25	30	750	0	0	DOL	0	3
1149	FROM KARNATAKA & TELANGANA BORDER ANTHWAR TO SILARKOT BUS STOP ON SH	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1150	ON NH75 FROM FARANGIPETE TO SAHYADRI COLLEGE OF ENGINEERING	DAKSHINA KANNADA	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1151	ON KUSHAL NAGAR - SOMWARPETE ROAD 3 KM FROM KUDIGE CIRCLE TOWARDS SOMWAR PETE	KODAGU	REGULAR	200	Open	CODO	30.4	25	30	750	32	0	BIDDING	30	5
1152	mysore city, ON MAHADEVAPURA MAIN RD FROM MAHARSHI VAALMIKHI CIRCLE TILL NEXUS CENTRE CITY MALL.	mysore	REGULAR	120	SC	CFS	55.2	18	18	330	0	0	DOL	0	3
1153	ON SH, WITHIN 2 KMS FROM CHETTALLI CIRCLE	KODAGU	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1154	ON LHS OF BUDIGERE BYPASS ROAD, BETWEEN AYAPPA SWAMY TEMPLE NEAR BUDIGERE BYPASS CROSS AND SHREE VISHNU GRAND HOTEL	BANGALORE RURAL	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1155	INDIRA NAGAR 100 FT ROAD FROM DOOPANAHALLI SKYWALK NEAR DOMLUR FLYOVER TILL NTPC OFFICE NEAR PAI ELECTONICS SHOWROOM	BANGALORE URBAN	REGULAR	150	Open CC-1	DODO	NA	18	18	330	32	90	DOL	15	5
1156	ON SH113,WITHIN 2 KMS FROM MARDALA JUNCTION ON EITHER SIDE	DAKSHINA KANNADA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1157	HAL OLD AIRPORT ROAD BETWEEN MUNESWARA SWAMY TEMPLE TO SH 35 CROSS RAMAGONDONAHALLI	BANGALORE URBAN	REGULAR	130	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
1158	FROM SANGOLLI RAYANNA CIRCLE HUBBARWADI TO SANGOLLI RAYANNA CIRCLE BUDIHALL ON SH 73 (RAIBAG-KABBUR ROAD)	BELAGAVI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5
1159	ON NH-73,WITHIN 3 KMS FROM KUNDARAHALLI GATE	TUMKURU	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1160	WITHIN 1 KM FROM KSRTC BUS STAND (ON TM ROAD) HULIYURDURGA, KUNIGAL TQ.	TUMKURU	REGULAR	105	OBC	DODO	NA	25	30	750	24	105	DOL	15	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1161	ON SH-33, FROM INTEGRATED BIO CENTRE, RANGASAMUDRA TILL GOVT FIRST GRADE COLLEGE, BANNUR.	mysore	REGULAR	115	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1162	ON SERVICE ROAD OF THE OUTER RING ROAD FROM NAYADANAHALLI JUNCTION TO SUMANAHALLI JUNCTION (ON EITHER SIDE)	BANGALORE URBAN	REGULAR	130	Open	DODO	NA	18	18	330	24	90	DOL	15	5
1163	ON RHS OF NH 48 FROM RAMYA RESIDENCY TO MUMMIGATTI BUS STOP	DHARWAD	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1164	ON SH, FROM GOVERNMENT HIGHER PRIMARY SCHOOL ,KELADI TO SRI KRUPA VIDYA SAMSTHE (R) (PUBLIC NURSERY) ,SAGARA	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1165	ON CHIKBALAPURA ENTRY ROAD TOWARDS CHIKBALAPURA BETWEEN CHADLAPURA ROAD BUSSTOP (RTO OFFICE) AND TRIDENT JCB SHOWROOM (NOT ON NH)	CHIKKABALLAPUR	REGULAR	200	Open	CODO	30.4	25	30	750	32	0	BIDDING	30	5
1166	ON SH, WITHIN 4 KMS GOVERNMENT SCHOOL, ANANDADEVANAHALLI (HAGARIBOMMANAHALLI TALUK) TOWARDS HOSPETE	VIJAYANAGARA	REGULAR	100	SC CC-1	CFS	24.8	25	30	750	0	0	DOL	0	3
1167	WITHIN 3KMS FROM GOVT SENIOR PRIMARY SCHOOL, THAVARGAI, HIREKERUR TALUK TOWARDS KOD ON MAIN ROAD	HAVERI	REGULAR	100	Open-CC2	DODO	NA	25	30	750	24	105	DOL	15	5
1168	WITHIN CHICKPET LIMITS ON NH/SH IN BIDAR CITY	BIDAR	REGULAR	80	OBC CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1169	ON NH, FROM HPCL- PAYASWINI SERVICE STATION UP TO GOONADKA TOWARDS MADIKERI	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1170	ON SH, WITHIN 3 KMS ON EITHER SIDE OF KRANTHIVEERA SANGOLLI RAYANA CIRCLE, HONNALI (NOT ON HONNALI RANEENNUR ROAD)	DAVANAGERE	REGULAR	120	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1171	WITHIN DEVARA HIPPARGI TOWN LIMITS ON SH/NH	VIJAYAPUR	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1172	WITHIN CHENDIYA VILLEGE LIMIT ON NH	UTTARA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1173	SHIMOGA TOWN LIMITS, FROM POLICE CHOWKI TO AMEER AHMED CIRCLE, NOT ON SH AND NH.	SHIVAMOGGA	REGULAR	200	Open	CODO	30.4	18	18	330	32	0	BIDDING	30	5
1174	ON SH, WITHIN PANDOMATTI VILLAGE LIMIT, CHANNAGIRI TALUK	DAVANAGERE	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1175	ON SH 104 OF THANISANDRA MAIN ROAD, FROM PPS MOTORS VOLKSWAGEN SERVICE CENTER BANGALORE NEAR ELEMENTS MALL TILL CNS FUEL BPCL RO	BANGALORE URBAN	REGULAR	150	SC	CFS	73.2	18	18	330	0	0	DOL	0	3
1176	WITHIN MANGALORE CITY CORPORATION, LADY HILL CIRCLE TO SULTHAN BATHERI ROAD	DAKSHINA KANNADA	REGULAR	150	Open	DODO	NA	18	18	330	32	90	DOL	15	5
1177	ON SH, WITHIN 1 KMS FROM GRAM PANCHAYAT, KABBAHALLI, GUNDLUPET TQ.	CHAMARAJNAGAR	REGULAR	82	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1178	ON SH, WITHIN 3 KMS ON EITHER SIDE OF ST' MARY'S HIGH SCHOOL , BURADIKATTI, HIREKERUR TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1179	ON NH-66 FROM WAKKALAHALLI TO KARWAR	UTTARA KANNADA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1180	ON NH 67, WITHIN 3 KMS ON EITHER SIDE OF KAKUBAL CROSS (HOSPETE TALUK) NOT ABUTTING FLYOVER BRIDGE.	VIJAYANAGARA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1181	ON SILVER OAKS MAIN ROAD TILL BALAGERE ROAD JUNCTION	BANGALORE URBAN	REGULAR	150	Open CC-1	DODO	NA	18	18	330	32	90	DOL	15	5
1182	WITHIN 2KM FROM BHEEMARAO AMBEDKAR CIRCLE, WADGAON (BIDAR CITY)	BIDAR	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1183	FROM VISTAR VIVAH CONVENTION HALL ON BEGUR KOPPA ROAD TILL VABASANDRA BUS STOP NEAR URBANIZE VILLA BLESSIMO VILLA PROJECT	BANGALORE URBAN	REGULAR	130	ST	CFS	73.2	18	18	330	0	0	DOL	0	3
1184	WITHIN MANGALORE CITY CORPORATION, FROM MANGALADEVI TEMPLE TO A B SHETTY CIRCLE	DAKSHINA KANNADA	REGULAR	200	Open	CODO	55.2	18	18	330	32	0	BIDDING	30	5
1185	ON NH 75 TOWARDS NELMANAGLA WITHIN 3 KMS FROM DARGAH HAZRATH DR MIRZA NAZEER AHMAD SHAH QUADRI NEAR SOLUR, NARASANDRA	RAMNAGARA	REGULAR	130	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1186	WITHIN HUMNABAD TOWN LIMITS ON SH/NH	BIDAR	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1187	ON NH 75 FROM UPPINANGADI TO GOLITHOTTU	DAKSHINA KANNADA	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1188	ON NH 66 FROM KUMTA TO DEVAGUNDI	UTTARA KANNADA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1189	ON SH-85, WITHIN 2 KMS FROM GRAMA PANCHAYAT OFFICE AKKIHEBBALU, KRISHNARAJAPET TQ.	MANDYA	REGULAR	84	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1190	WITHIN UPPINBETAGERI VILLAGE LIMITS ON SH	DHARWAD	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1191	ON ANY MAIN ROAD IN KUMARSWAMY LAYOUT	BANGALORE URBAN	REGULAR	170	Open	DODO	NA	18	18	330	32	90	DOL	15	5
1192	ON SH, WITHIN 3KMS FROM BESCOM OFFICE, HARAPANAHALLI TOWARDS YARADETTINAHALLI	VIJAYANAGARA	REGULAR	100	SC PH	CFS	24.8	25	30	750	0	0	DOL	0	3
1193	WITHIN 0.5 KM FROM SURAYA SERVICE STATION HPCL ON BK HALLI ROAD NEAR AIRPORT	BANGALORE RURAL	REGULAR	100	OBC PH	DODO	NA	18	18	330	24	90	DOL	15	4
1194	FROM RANAPUR CROSS TO AINAPUR ON SH75	KALABURAGI	REGULAR	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	5

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1195	ON SH 153. WITHIN 2 KMS ON EITHER SIDE OF RAMALINGESHWARASWAMY PETROLEUM (IOCL), RAMAGIRI HOLALKERE TALUK	CHITRADURGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1196	FROM ZAHIRUDIN MEKKE CIRCLE NEAR MINI VIDHAN SOUDA BUILDING TILL APEX FILLING POINT (NAYARA RO) NEAR RTO OFFICE	KOLAR	REGULAR	200	OBC	CODO	30.4	25	30	750	32	0	BIDDING	30	4
1197	ON NH, WITHIN 2 KMS ON EITHER SIDE OF FIRE STATION, MOLAKALMURU	CHITRADURGA	REGULAR	120	SC	CFS	24.8	35	35	1225	0	0	DOL	0	3
1198	WITHIN 0.5 KMS OF JUDGE QUARTER ON THE ABUTTING ROAD (NEXT TO GOVT BCM PRE MATRIC GIRLS HOSTEL) DEVANHALLI TOWN	BANGALORE RURAL	REGULAR	120	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1199	WITHIN NAGATHI BELAGALU VILLAGE(ON BHADRAVATHI TO HOLEHONNUR ROAD)	SHIVAMOGGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1200	ON SH, FROM GOVT. HIGH SCHOOL, DONNEHALLI TO HONEY BEE SCHOOL, UDDAGATTA, JAGALURU TALUK	DAVANAGERE	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1201	ON SH, WITHIN 3 KMS ON EITHER SIDE OF KSRTC BUS STAND,MARIYAMMANAHALLI (HOSPETE TALUK)	VIJAYANAGARA	REGULAR	100	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1202	FROM NH-275 INTERCECTION AT AMCHINADKA TO BELLARE	DAKSHINA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1203	FISHING HARBOUR GANGOLLI (NOT ON NH & SH)	UDUPI	REGULAR	150	Open	DODO	NA	13	13	169	32	40	DOL	15	5
1204	FROM GABSAWALAGI BUS STOP TO HANCHINAL BUSTAND ON NH 50	VIJAYAPUR	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1205	WITHIN TURANUR VILLAGE LIMITS ON SH	BELAGAVI	REGULAR	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	15	4
1206	ON SH, WITHIN MATTI VILLAGE LIMITS DAVANAGERE TALUK	DAVANAGERE	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1207	ON 11TH MAIN RD, JAYANAGAR FROM SRI RAGHAVENDRA SWAMY MATHA TILL JAYANAGAR 4TH BLOCK BUS STOP	BANGALORE URBAN	REGULAR	150	Open CC-1	DODO	NA	18	18	330	32	90	DOL	15	5
1208	ON SH, WITHIN 3 KMS ON EITHER SIDE OF PADAVAGODU BUS STOP (ON SAGARA - SORABA ROAD)	SHIVAMOGGA	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1209	ON NH275 WITHIN 6KM FROM GENERAL K S TIMMAYYA CIRCLE MADIKERI TOWARDS MYSORE.	KODAGU	REGULAR	200	Open	CODO	24.8	35	35	1225	32	0	BIDDING	30	5
1210	ON SH, WITHIN 3 KMS FROM FIRE STATION, KR PETE TOWARDS BHERYA.	MANDYA	REGULAR	124	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1211	FROM SHAHABAD BUS STOP TO BHANKOOR BUS STOP ON SH	KALABURAGI	REGULAR	90	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1212	WITHIN KALAGI TOWN LIMITS ON SH/NH	KALABURAGI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1213	ON SH 65, WITHIN 3 KMS ON EITHER SIDE OF GOVT PRIMARY SCHOOL ,MARLAHALLY ,MOLAKALMURU TALUK	CHITRADURGA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1214	ON UDUPI -AGUMBE HIGHWAY FROM JOGIBETTU TO HEBRI BUSTAND	UDUPI	REGULAR	120	Open	DODO	NA	35	35	1225	24	120	DOL	15	5
1215	ON NH 766E FROM SIRSI - KUMTA HIGHWAY CROSS AT NH 66 UPTO HARITA	UTTARA KANNADA	REGULAR	120	SC CC-1	CFS	24.8	35	35	1225	0	0	DOL	0	3
1216	ON VIDYARANYAPURA MAIN ROAD FROM VIDYARANYAPURA B.E.L. 1ST BLOCK BSU STOP TILL NTI GROUND	BANGALORE URBAN	REGULAR	150	OBC CC-1	DODO	NA	18	18	330	32	90	DOL	15	4
1217	FROM HALIYAL SHIVAJI CIRCLE ON SH93 TO MIRJAN- RAMNAGAR ROAD INTERSECTION	UTTARA KANNADA	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1218	ON NH-373, WITHIN 7 KMS FROM NEHRU CIRCLE IN BELUR TOWARDS HASSAN.	HASSAN	REGULAR	150	Open PH	DODO	NA	35	35	1225	32	120	DOL	15	5
1219	ON SH 90, FROM DODDAPULIKOTU TO BHAGAMANDALA .	KODAGU	REGULAR	100	SC	CFS	24.8	25	30	750	0	0	DOL	0	3
1220	ON SH, WITHIN 2 KMS ON EITHER SIDE OF CANARA BANK - CHIKKERUR, HIREKERUR TALUK	HAVERI	REGULAR	100	OBC	DODO	NA	25	30	750	24	105	DOL	15	4
1221	ON SH- 27 ALDUR TO ARENUR	CHIKKAMAGALURU	REGULAR	100	Open	DODO	NA	25	30	750	24	105	DOL	15	5
1222	FROM RAICHUR MANTRAALAYAM CHECK POST TO GUNJAHALLI TOLL ON NH 167	RAICHUR	REGULAR	120	OBC	DODO	NA	35	35	1225	24	120	DOL	15	4
1223	FROM KANAKDAS CIRCLE KARATAGI TO MANJUNATH SILKY RICE MILL KARATAGI ON SH (RAICHUR-KOPPAL ROAD)	KOPPAL	REGULAR	95	ST	CFS	24.8	25	30	750	0	0	DOL	0	3
1224	ON MDR, FROM GRAMA PANCHAYITI GENEKHAL, KURUGODU TALUK TO KYADIGEHAL CROSS	BELLARY	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1225	WITHIN SURKOD VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	GADAG	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1226	FROM AKALWADI BUSTOP TO BISALKOPPA BUSTOP ON MDR (NOT ON SH/NH/CITY LIMITS)	VIJAYAPUR	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1227	FROM BALASETTIHAL BUSTOP TO GEDDALMERI BUSTOP (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	60	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1228	KATIPALLA SAMSHUDDIN CIRCLE TO CHELAIRU PADAVU BUSTAND NOT ON NH/SH	DAKSHINA KANNADA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1229	WITHIN 3 KMS ON EITHER SIDE OF PRIMARY VETERINARY CLINIC, OBALAPURA (OBALAPURA-CHALLAKERE) ON MDR	CHITRADURGA	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1230	WITHIN KADOLI VILLAGE LIMITS ON MDR (HONAGA-DEVAGIRI-KADOLI ROAD) (NOT ON NH/SH/CITY LIMITS)	BELAGAVI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1231	ON MDR (DEVARAHATTI TO KADLIBALU ROAD)FROM KONDAJJI POST OFFICE TO DEVARAHATTI	DAVANAGERE	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1232	ON MDR,WITHIN 2 KMS ON EITHER SIDE OF PRIMARY HEALTH CENTRE, SONALE, HOSANAGARA TALUK	SHIVAMOGGA	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1233	FROM SREE GURU VEERAGANTAI MADIVALESHWARA TEMPLE, KALKERI TO INTERSECTION WITH SH 124 VIA KEB KALAKERI ON MDR (NOT ON SH/NH/CITY LIMITS)	VIJAYAPUR	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1234	ON MDR ROAD , FROM PUTTUR SULLIA HIGHWAY INTERSECTION KAUDICHR TO SULLIA PADAVU	DAKSHINA KANNADA	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1235	ON MDR(BOMMATHI ROAD),WITHIN BOMMATHI VILLAGE LIMIT, SAGARA TALUK	SHIVAMOGGA	RURAL	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1236	WITHIN 2KM FROM NAVALAGI BUS STAND, NAVALAGI TOWARDS BANAHATTI (NOT ON SH/NH/CITY LIMITS)	BAGALKOTE	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1237	ON MDR, FROM ANAJI VILLAGE TO NAGAVANDA VILLAGE , RATTIHALLI TALUK	HAVERI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1238	FROM SRI ECCHARESHWAR TEMPLE NERABENCHI TO SANGAMEHWARA TEMPLE KESAPUR ON MDR (NOT ON SH/NH/CITY LIMITS)	VIJAYAPUR	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1239	ON KERVASHE ROAD FROM SHIRLAL TO MURATHANGADY NOT ON SH/NH	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1240	ON MDR, WITHIN 3 KMS ON EITHER SIDE OF GOVT HIGH SCHOOL, MAKANUR	HAVERI	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1241	FROM DINNE BUSTOP TO KALLUR CROSS BUSTOP (NOT ON SH/NH/CITY LIMITS)	RAICHUR	RURAL	65	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1242	ON MDR, WITHIN 3 KMS FROM KADARAMANDALAGI CROSS TOWARDS KADARAMANDALAGI	HAVERI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1243	FROM GOVT SCHOOL KANEKAL TO NEELAHALLI CROSS (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	50	SC CC-1	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1244	WITHIN H SHIVAPUR / SHIVAPUR VILLAGE LIMIT IN MUDALGI TALUK ON MDR/MAIN ROAD (NOT ON NH/SH/CITY LIMIT)	BELAGAVI	RURAL	80	OBC CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1245	WITHIN WAGINGERA VILLAGE LIMITS ,SHORAPUR TALUKA , ON MDR (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	50	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1246	WITHIN BALAGANUR VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	VIJAYAPUR	RURAL	80	Open PH	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1247	ON MDR, FROM GOVERNMENT HOSPITAL, TIMALAPURA TO MDR PU COLLEGE, KANDAGALU (KOTTURU TALUK)	VIJAYANAGARA	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1248	ON MDR (SANTEBENNUR ROAD),WITHIN 2 KMS FROM VETERINARY HOSPITAL, KORATIKERE (CHANNAGIRI TALUK) TOWARDS SANTEBENNUR	DAVANAGERE	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1249	ON MDR, WITHIN 3 KMS FROM CHIKKOBANAHALLI BUS STOP TOWARDS TUMKURLAHALLI (MOLAKALMURU TALUK)	CHITRADURGA	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1250	WITHIN 3KMS FROM FUTAGOAN BADNI BUSTOP TOWARDS BATTUR VILLAGE (NOT ON SH/NH/CITY LIMITS)	GADAG	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1251	FROM DONGARGI BUSTOP TO BALUR BUSTOP (NOT ON SH/NH/CITY LIMITS)	BIDAR	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1252	ON MDR BETWEEN KUDKOLI AND VAMADAPADAVU VIA MAVINAKATTE	DAKSHINA KANNADA	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1253	WITHIN 2 KM FROM LAXMIDEVI TEMPLE, SAPTASAGAR TOWARDS NADI INGALAGAO (NOT ON NH/SH/CITY LIMITS)	BELAGAVI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1254	WITHIN 1KM FROM KATKOL BUS STAND TOWARDS CHANDARAGI ON MDR (NOT ON SH/NH/CITY LIMITS)	BELAGAVI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1255	FROM ALIAMBER BUSTOP TO JANWADA BUSTOP ON MDR (NOT ON SH/NH/CITY LIMITS)	BIDAR	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1256	ON MDR, FROM KANAKUPPE VILLAGE TO NH 150A INTERSECTION.	CHITRADURGA	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1257	ON ANTHEKATTE -KOLALAGIRI ROAD,WITHIN 2KMS ON EITHER SIDE OF KG ROAD BUS STOP	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1258	ON MDR, FROM HIREKERUR POWER GRID TO GOVERNMENT HIGH SCHOOL DUDIHALLI	HAVERI	RURAL	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1259	ON MDR FROM ALETTY UPTO KERALA BORDER	DAKSHINA KANNADA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1260	FROM HULKOPPA BUSTOP TO SHIVAJI CIRCLE KALASANKOPPA VIA GRAM PANCHAYATH OFFICE ON MDR (NOT ON SH/NH/CITY LIMITS)	DHARWAD	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1261	WITHIN 2KM FROM SHIVALINGESHWAR TEMPLE KULAHALLI TOWARDS KULAHALLI CROSS NAYARA PETROL PUMP ON MDR (HIPPARGI-YELLATTI ROAD) (NOT ON SH/NH/CITY LIMITS)	BAGALKOTE	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1262	WITHIN JAMBALADINNI VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	RAICHUR	RURAL	55	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1263	WITHIN 4KMS FROM INGALGI BUS STOP TOWARDS INDI ON MDR (NOT ON SH/NH/CITY LIMITS)	VIJAYAPUR	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1264	WITHIN IDAPANUR VILLAGE LIMITS, ON MDR (NOT ON SH/NH/CITY LIMITS)	RAICHUR	RURAL	50	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1265	ON MDR, FROM GOVERNMENT HOSPITAL BUS STAND TO GOVERNMENT HIGHER PRIMARY SCHOOL- KUPPE	SHIVAMOGGA	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1266	ON MDR (SHIVANEKATTE ROAD), FROM MORARJI DESAI RESIDENTIAL SCHOOL NAGENAHALLI TO NAYARA PETROL BUNK (MISTI ENTERPRISES) HOSADURGA TALUK	CHITRADURGA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1267	ON MDR,WITHIN 2 KMS ON EITHER SIDE OF GRAMA PANCHAYATH OFFICE SIRIGIRI(TEKKALAKOTTE ROAD)	BELLARY	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1268	FROM TADDEWADI BUSTOP TO LONI BK BUSTOP (NOT ON SH/NH/CITY LIMITS)	VIJAYAPUR	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1269	ON MDR, FROM ISAMUDRA HOSAHATTI VILLAGE TO SRI MORAJI DESAI RESIDENTIAL SCHOOL,KODIRANGAVVANAHALLI VILLAGE	CHITRADURGA	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1270	ON MDR, WITHIN HURALIKUPPI VILLAGE LIMTS, SAVANUR TALUK	HAVERI	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1271	WITHIN KOLACHI LIMITS, RAMDURGA TALUK ,ON MDR (NOT ON SH/NH/CITY LIMITS)	BELAGAVI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1272	ON MDR, FROM GRAMA PANCHAYATH OFFICE TO KENDRIYA VIDYALAYA, KARJAGI, HAVERI TALUK	HAVERI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1273	FROM KHANHALLI BUSTOP TO INTERSECTION WITH NH 150 ON THANAGUNDI BYPASS ROAD (NOT ON NH/SH/CITY LIMITS)	YADGIR	RURAL	55	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1274	WITHIN IN 3 KMS FROM CANARA BANK,MALLADIHALLI, HOLALKERE TALUK TOWARDS SHIVAPURA ON MDR	CHITRADURGA	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1275	FROM REKULGI BUSTOP TO RANJOLKHENI BUSTOP (NOT ON SH/NH/CITY LIMITS)	BIDAR	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1276	ON MDR WITHIN 3 KMS FROM COMMUNITY HEALTH CENTER, RUPANAGUDI BELLARY TOWARDS CHELLAGURKI	BELLARY	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1277	FROM PUTTUR SULLIA HIGHWAY INTERSECTION KAVU TO ISHWARAMANGALA	DAKSHINA KANNADA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1278	WITHIN KOPPER VILLAGE LIMITS ,DEVADURGA TALUK ,ON MDR (NOT ON SH/NH/CITY LIMITS)	RAICHUR	RURAL	50	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1279	FROM AMBEDKAR CIRCLE SHINDOGI TO SHRI KUMARESHWAR ALUR MATH SHINDOGI, SAVADATTI TQ (NOT ON SH/NH/CITY LIMITS)	BELAGAVI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1280	WITHIN SORHALLI VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	BIDAR	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1281	FROM SHIVANAND SWAMY TEMPLE KAVALGERI TO BASAVESHWAR TEMPLE CHANDANAMATTI ON MAIN ROAD (NOT ON SH/NH/CITY LIMITS)	DHARWAD	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1282	WITHIN SAGAR VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	60	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1283	ON MUDIPU - BAKRABAIL MDR FROM ST. JOSEPH VAZ CHURCH, MUDIPU UPTO KERALA BORDER	DAKSHINA KANNADA	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1284	ON MDR BARACHITTEKERI TO KODANI	UTTARA KANNADA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1285	FROM KEMBAVI BUSTOP TO NAGANOOR BUSTOP (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	50	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1286	ON THEKKATTE TO KEDOOR ROAD BETWEEN MALYAADI AND KEDOOR	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1287	WITHIN GANGANBEED VILLAGE LIMIT ON MDR (NOT ON SH/NH/CITY LIMITS)	BIDAR	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1288	FROM NH -73 INTERSECTION MANIHALLA TO ALLIPADE	DAKSHINA KANNADA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1289	ON MDR BETWEEN AJEKAR AND DONDERANGADI POST OFFICE VIA KADTHALA	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1290	ON MDR FROM KANNALI TO YEDUR	KODAGU	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1291	ON MDR, FROM GRAMA PANCHAYITHI OFFICE, KALINGERI TO PRIMARY HEALTH CENTER, CHORANURU, SONDURU TALUK	BELLARY	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1292	ON MDR , WITHIN 3 KMS FROM GOVERNMENT HIGH SCHOOL, SOGI (HADAGALI TALUK) TOWARDS UTTANGI	VIJAYANAGARA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1293	WITHIN 1 KM FROM RANI CHENNAamma CIRCLE KHADAKLAT TOWARDS MANUCHIWADI (NOT ON SH/NH/CITY LIMITS)	BELAGAVI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1294	ON SHISHILA - ARASINAMAKKI ROAD, FROM UPPARADKA TO HATYADKA	DAKSHINA KANNADA	RURAL	80	Open CC-2	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1295	ON MDR, WITHIN 3 KMS ON EITHER SIDE OF GHP'S SURAPPANAHATTI, HIRIYUR TALUK	CHITRADURGA	RURAL	80	OBC CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1296	WITHIN ARAKERA B VILLAGE LIMITS , YADAGIRI TQ ON MDR (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	50	SC CC-1	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1297	ON MDR, WITHIN KADARANAYAKANALLI VILLAGE LIMIT ON VASAN TO KADARANAYAKANALLI ROAD.	DAVANAGERE	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1298	ON MDR,WITHIN 2 KMS ON EITHER SIDE OF PRIMARY HEALTH CENTER, PALLAGATTE VILLAGE	DAVANAGERE	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1299	ON MDR, WITHIN 2 KMS ON EITHER SIDE OF BHARAT PETROLEUM PETROL PUMP , K.P. AGENCIES HAVALENAHALLI, CHITRADURGA TALUK	CHITRADURGA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1300	WITHIN SULTANPUR VILLAGE LIMIT ON MDR (NOT ON SH/NH/CITY LIMITS)	BELAGAVI	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1301	ON MDR, WITHIN 2 KMS FROM GOVT HIGH-SCHOOL TUMMINAKATTE,RANE BENNUR TALUK TOWARDS RATTIHALLI	HAVERI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1302	WITHIN CHIKKANARTI VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	DHARWAD	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1303	WITHIN 2 KMS ON EITHER SIDE OF GOVERNMENT HIGHER PRIMARY SCHOOL, M.THUMBARAGUDI, SONDURU TALUK ON MDR	BELLARY	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1304	ON MDR BETWEEN KASHIPATNA GRAMA PANCHAYATH OFFICE AND PERADY CO-OPERATIVE AGRICULTURAL BANK ON PERADY ROAD	DAKSHINA KANNADA	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1305	ON MDR, FROM GRAM PANCHAYAT OFFICE, BEASIGIDERI TO MINI SCIENCE CENTER,HAGARIBOMMANAHALLI	VIJAYANAGARA	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1306	ON KEMMANNU ROAD, FROM SANTHEKATTE JUNCTION BUS STOP TO HAMPANAKATTE MODDU	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1307	FROM HEBBAL K BUSTOP TO PETA AMMAPUR BUSTOP (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	60	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1308	ON MDR, WITHIN 3KMS FROM VETERINARY CLINIC, JANAKAL, HOSADURGA TALUK TOWARDS KUMMINAGATTA	CHITRADURGA	RURAL	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1309	WITHIN 3 KMS FROM WADLOOR CROSS (NH 167 INTERSECTION) TOWARDS WADLOOR, ON MDR (NOT ON SH/NH/CITY LIMITS)	RAICHUR	RURAL	55	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1310	ON MDR, FROM GOVERNMENT PRIMARY SCHOOL, PUNABAGHATTA TO GOVT LOWER PRIMARY SCHOOL, KADEKAL TANDA (HARANAPANHALLI TALUK)	VIJAYANAGARA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1311	FROM DHOTARABANDI BUSTOP TO TADAKAL BUSTOP (NOT ON SH/NH/CITY LIMITS)	RAICHUR	RURAL	60	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1312	ON MDR (NANDIGUDI KN HALLI RD),WITHIN 2 KMS ON EITHER SIDE OF GRAMA PANCHAYATH , KADARANAYAKANAHALLI, HARIHARA TALUK	DAVANAGERE	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1313	WITHIN BENDBOMBLI VILLAGE LIMITS ,WADAGERA TALUK ,ON MDR (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	60	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1314	ON MDR, FROM KARNATAKA VIKAS GRAMEENA BANK TADAKANAHALLI TO GOVT. HIGHER PRIMARY SCHOOL, HIREKABBAR	HAVERI	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1315	WITHIN NARENDRA VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	DHARWAD	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1316	WITHIN CHIKKAHANDIGOL VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	GADAG	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1317	FROM INTERSECTION WITH SH 32 TO SHRI REVANSIDDESHWARA TEMPLE ENTRANCE GATE REVAGGI (NOT ON SH/NH/CITY LIMITS)	KALABURAGI	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1318	WITHIN HIREGUNJAL VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	DHARWAD	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1319	DAVANGERE TO KADAJI ON MAIN ROAD(NOT ON NH/SH/CITY LIMITS)	DAVANAGERE	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1320	ON MDR BETWEEN NANDIKOOR TO MUDARANGADI JUNCTION NOT ON SH	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1321	WITHIN MAGDAMPUR VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	KALABURAGI	RURAL	80	OBC PH	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1322	WITHIN TAWASHI VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	BELAGAVI	RURAL	80	SC PH	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1323	ON MDR KOTESHWAR-HALADY ROAD, WITHIN 4 KMS FROM NH INTERSECTION AT KOTESHWARA TOWARDS HALADY	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1324	ON MANJANADI TO THOUDUGOLI ROAD,WITHIN NARINGANA VILLAGE LIMIT	DAKSHINA KANNADA	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1325	WITHIN LAKKUNDI VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	GADAG	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1326	ON MDR WITHIN 2 KM FROM HEJAMADI MDR TOLL GATE TOWARDS HEJAMADI	UDUPI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1327	ON MDR, FROM GRAM PANCHAYAT OFFICE MATTIHALLI TO MATTIHALLI CROSS, HARPANAHALLI TALUK	VIJAYANAGARA	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1328	ON MDR, WITHIN 3 KMS FROM GOVERNMENT HIGHER PRIMARY SCHOOL EACHAGHATTA, HOLALKERE TALUK TOWARDS H D PURA	CHITRADURGA	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1329	ON MDR (KUDLIGI TO BOMMAGHATTA ROAD), WITHIN 3 KMS ON EITHER SIDE OF JNANAMANTAPA SCHOOL AND COLLEGE, GUNDINAHOLE (KUDLIGI)	VIJAYANAGARA	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1330	ON MDR FROM BALLIDAKODI TO MOORJE	DAKSHINA KANNADA	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1331	ON MDR, FROM S.J.V SCHOOL, BYADGI TO SRI KANTHESH HIGH SCHOOL, KARDARMANDALAGI	HAVERI	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1332	ON MDR, FROM GOVT.SCHOOL, KUNTAPALANA HALLI TO GOVT PRIMARY SCHOOL, THURCHAGATTA	DAVANAGERE	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1333	WITHIN 2KM FROM CORE GREEN SUGAR FACTORY MAIN GATE TOWARDS TUMKUR BUSTOP IN WADAGERA TALUK (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	60	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1334	ON GEJJEGIRI- ISHWARAMANGALA ROAD, FROM NH-275 INTERSECTION TO KOUDICHAIR VIA BADAGANNOOR	DAKSHINA KANNADA	RURAL	80	Open CC-1	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1335	ON MDR(KANDAGALLU VILLAGE ROAD),WITHIN KANDAGALLU VILLAGE TO SH 76 INTERSECTION	DAVANAGERE	RURAL	80	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1336	ON MDR, FROM SRISAILA FILLING STATION (BPCL) TO S.M.V.M SCHOOL , HADLIGI BELLARY TALUK	BELLARY	RURAL	80	SC	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1337	ON MDR, WITHIN 3 KMS ON EITHER SIDE OF DCB BANK - KOLAGALLU, BELLARY TALUK	BELLARY	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1338	WITHIN DEVANPALLI VILLAGE LIMITS , ON MDR (NOT ON SH/NH/CITY LIMITS)	RAICHUR	RURAL	65	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4

Sl No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m - *	Minimum Dimension (in M.)/Area of the site (in Sq. M.) **			Finance to be arranged by the applicant in Rs Lacs		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	4	5	6	7	7a	8a	8b	8c	9a	9b	10	11	12
			Regular / Rural	MS+HSD in KLS	SC/SC CC-1/SC PH/ST/ST CC-1/ST PH/OBC/OBC CC-1/OBC PH/OPEN/OPEN CC-1/OPEN CC-2/OPEN PH	Type of Site	Rent/month in Rs/Sq Meter	Minimum Frontage (in Mts)	Minimum Depth (in Mts)	Minimum Area (in Sq.Mts)	Estimated working capital requirement for RO operation	Estimated fund required for RO infrastructure development	Draw of Lots (DOL) / Bidding	in Rs Lakhs	in Rs Lakhs
1339	WITHIN KODALGI VILLAGE LIMITS , SHORAPUR TALUKA, ON MDR (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	60	OBC	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	3
1340	WITHIN HUNSIKATTI VILLAGE LIMIT , FROM HUNSIKATTI BUS STOP TOWARDS JAGAPUR (NOT ON SH/NH/CITY LIMITS)	GADAG	RURAL	80	ST	CFS-Hiq Lite	18	25	30	750	0	0	DOL	0	2
1341	WITHIN KURAKUNDI VILLAGE LIMITS ,WADGERA TALUK ,ON MDR (NOT ON SH/NH/CITY LIMITS)	YADGIR	RURAL	50	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1342	WITHIN 2KMS FROM JALIHAL BUSTAND TOWARDS BASAPUR ON MDR (NOT ON NH/SH/CITY LIMITS)	RAICHUR	RURAL	50	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4
1343	WITHIN YAGAPURA VILLAGE LIMITS ON MDR (NOT ON SH/NH/CITY LIMITS)	KALABURAGI	RURAL	80	Open	DODO - Hiq Lite	NA	25	30	750	18	40	DOL	5	4

* Rentals shown under 7A are only for CFS & CODO type of sites and has been arrived at based on class of market. There will be 2% increase in rentals every year for the period of lease. The actual rent will depend on the class of market to which the offered site belongs and can be at variance from those indicated above. The indicated rentals are those prevailing in Calendar year 2025.

Volumes Indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of the potential

** The site should be either owned or on lease with the applicants for minimum 19 years and 11 months or the applicant should have firm offer for the land as on date of application. In case of owned / leased sites, the applicant should have possession of the land as on date of application.

Sites offered against "Rural" type of ROs should not be on National/ State Highways or within Municipal/ Town/ Corporation limits.

HiQ Lite model is a low investment model suitable for low volume locations. Refer brochure for more details about HiQ Lite Model. Subject to volumes, MRPL at its discretion can opt for HiQ Lite model.

The site offered should be having minimum dimensions as indicated above after leaving the designated Right of Way (ROW) as per local norms and there should not be any other land in between the site offered and ROW.

The site offered should meet all the statutory requirements as per relevant norms of bodies like CPCB, town planning, NHAI, PWD or any other authorised body.

The indicated site dimensions in column 8 a, 8b and 8c are the minimum and sites with larger areas will be accepted at the discretion of MRPL. However, MRPL is not obligated to accept any larger dimension.

The minimum area required can vary from site to site depending on the set off mandated by any of the governing bodies and the estimated sales potential. In case, subsequent to issuance of LOI, the site dimensions reduce due to setoff prescribed by any of the government bodies, MRPL may consider construction of the outlet in the available portion of the offered site (after prescribed set backs), subject to technical and commercial feasibility & compliance to statutory norms.

Main road, indicated under the 'Name of Location' refers to paved roads with minimum width of the paved area being 7 m or more. Sites offered on roads with width below this could be rejected.

Finance to be arranged by applicants (under column 9A and 9B) is based on MRPL assessment at prevailing rates. The applicants are advised to make their own assessment of the same before applying.

Collateral free bank loans can be availed through Central Govt. credit scheme - CGTMSE (Credit Guarantee Fund Trust for Micro & Small Enterprises) for infrastructure development & working capital assistance, by interested LOI holders of all categories including OBC Category. For more details, terms & conditions of the same, applicants may visit website www.cgtmse.in.

The explanation for the columns is provided in the brochure which also contains the detailed requirements of selection for dealership along with other relevant details

The brochure can be downloaded from MRPL website at www.mdsp.co.in

The application along with the fees (as applicable) needs to be submitted online on the portal www.mdsp.co.in

Any corrigendum to this advertisement will be published only in website www.mdsp.co.in

APPLICANTS IN THEIR OWN INTEREST SHOULD CAREFULLY GO THROUGH THE BROCHURE AND UNDERSTAND THE CONDITIONS FOR SELECTION BEFORE SUBMITTING THEIR APPLICATION

Applications should be submitted online on or before 23:59 hrs on 18.03.2026

Applicants are advised to submit the application well before deadlines to avoid technical issues, server failures or any other internet related issues. Request to extend deadlines to address such issues will not be entertained.

Please Note: MRPL has not authorized any individual or entity or agency to represent it or act on its behalf in response to this advertisement. Applicants are advised to exercise caution against any claims made by such persons or entities. Applicants are requested to directly get in touch with MRPL officials for any clarification. Contact details of MRPL officials are available in the portal www.mdsp.co.in.

Category wise non-refundable application fee payable

Type of RO	Category	Application fee in Rs	Type of RO	Category	Application fee in Rs
REGULAR	SC/ST	3000	RURAL	SC/ST	2500
	OBC	5000		OBC	4000
	Open	10000		Open	8000

The tenure of dealership will initially be for a period of 10 years and will be renewable every 5 years thereafter.

MRPL reserves the right to cancel / withdraw / amend or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in vernacular dailies vis a vis English Newspaper, the direction / information indicated in English will prevail.